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1.0

2.1

ABSTRACT

S —— — - — -

THE DRV1I1-J IS A GENERAL PURPOSE PARPALLEL INTERFACE FOR THE
LSI-11 BUS. IT HAS A BASIT CONFIGURATION OF 64 TRI-STATE IN/OUT
LINES DIVIDED INTO FOUR GROUPS OF 16 BIT WORDS.

THERE ARE TWD 4K DIAGNOSTICS FOR THE DRVi1-J OPTION,

THE DRV11=-y DIAGNOSTIC TEST PART 1 Or 2 CONTAINS A

SERIES OF TESTS WITHOUT DRVI1J INTERRLPTS DESIGNED TO TEST ALL
LOGIC FUNCTIONS AND DATA PATHS MADE ACCESSIBLE WITH THE LOOPBACK
CABLE INSERTED INTO YHE DRV11-J 1/0 CGNNECTORS.

THE DRV11-J DIAGNOSTIC PART 2 OF 2 IS A SERIES JF TESTS
WITH DRVI1J INTERRUPTS DESIGNED TO TEST ALL LOGIC AND DATA PATHS
?35§Eé$8§§SIBLE WITH THE LOOPBACK CABLE INSERTED INTO THE 1/0

THE DRV11=~J 1S CONTAINED ON A DOUBLE HSIGHT MODULE.
THE MODULE CONTAINS WO 50 PIN CONNECTORS FOR INTERFACTNG
TO FXTERNAL USER DEVICES.

FOR CIAGNOSTIC TESTING,THE DRV1i-J CABLF(BCOSW-02) MUS)
BE INSTALLED WITH 1/2 TWIST BEVYWEIN THE 50 PIN CONNCCTORS,

(RS EST SR SLIISTI LIS ELLASRT SRS RSl eRRg At R iRt R Rl

NOTE: THIS DIAGNOSTIC HAS BEEN MODJFITD i0 RUN IN KXT11 (SBC 1
IN THE APPROPRIATE ENVIRONMENT AS FOLLOWS:
LSI-11, 11/, AND 11/23 S8C 11/

CSH RANGE: 160010 TO 177760 174000 T9 177760
PROGRAMMABLE . . .
...VECTOR RANGE: 0000 TO 1774 000 TO 374

N A % 4 % ¥ B N % 4 4 %

REQUIREMENTS

EQUIPMENT

1. PDPI1/03,%1/23 COMPUTER CR LSI-1% PROCESSOR
WiTH A MINIMUM OF 4K MEMORY.

d. SCRIAL LINE INTERFACE AND CONSOLE TERMINAL
3. DRV1i=-u OPTiON WITH A BCOSW-02 CABLE
STORAGE

THE PROGRAM USFS THE LOWER 4K OF MFMORY.
LOADING PROCEDURE

. S R AR MW WP R TP TR AP VR W W

1 GFA
1721)

BASED SYSTEMS. THE PROGRAM WILL AUTOMATICALLY ADJUST ITSELF TG RUN
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4.0

5.0

% ?ARY FORMATTED PAPERTAPES OR ,LIDP M.

PIA
LES WITH .BIC CR .BIN EXTENSIONS ONLY).

} SEQ 0004

STARTING PROCEDURE

4 8 e N g e e b L S Sy S KDy e W

1. MAKE SURE THE DRV1‘=j CABLE I3 [NSERTED WITH 1/Z A TWIST
ON THE 1/0 CONNECTORS QF THE DRV1Y=J OPTION.
THIS WILL CONNECT PCRY A TO PURY ¢ AND CONNECT
PORT B TO PORT D.

2. MAKE SURE THE DEVICE BUS ADDRESS:ZS AGREE WITH THF DEFAULT
VALUES DCFINED IN SECTION 7.1. IF NOT,CHANGE
LOCATION(S) AS DCSIRED VIA THE ‘ADDRESS/® ODT CUMMAND.

3. THE PROGRAM SHUULD ALWAYS BE STARTED AT 200, STARTING
AT 200(2006 OR .R CVDRDB UNDER XXDP+),THE PROGRAM
INITIALIZES ITSELF,PRINTS ITS ID(FIRST TIME ONLY) AND
THEN PRINTS THAT THE DRV11-J CABLE IS REQUIRED(FIRSY [IMEt
ONLY) AND THEN PRINTS:  SWR=XXXXXX  NEW=

WHERE XXXXXX REPRESENTS THE CURRENT VALUE OF THE SOFTWARE
SWITCH REGISTER. 1F NC CHANGES ARE REQUIRED IN THE SWITCH
REGISTER THEN JUST HIT CARRIAGE RETURN. . _

If CHANGES ARE REQUIRED,THEN A NEW VALUE MAY Bt TYPED
FOLLOWED BY A CARRIAGE RETURN,

REFER TO SECIION 5.0 FOR SWITCH REGLISTER OPTIONS,

SOF TWARE SWITCH REGISTER

g i fagt gk Ml s R G ) Y ) Ry (g Y e A e e S S W

OPTIONS

THF PROGRAM SWITCH DEFAULT MODE IS  SWR = 000000
[F USING A VIDED TERMINAL ,BIT 15 = 1(HAL1 ON ERROR),
MAY BE HELPFUL IN KEEPING THE ERROR ON THE SCREEN.

SWITCH OCTAL FUNCTION

SW15=1 100000 HALT ON ERROK

SW14=1 040000 LOOP ON TESY

SW13=1 020000 INHIBIT ERROR TYPEQUTS

SW1c=i 010000 INHIBIT IiLEGAL VECTOR
RETURN ROUTINES

SWit=1 004000 IYHIBIT 1TERATIONS

SWio:-7 001000 LOOF ON ERROR

SWOB=I 0004XX LOOP ON TEST IN SWR <7~0>

* SW12 FXPLANATION

SW12 = 1 WILL STORE THE REGULAR TRAP (PC+2,HALT)

IN LUCATIONS 074-1774 FOR THE VECTOR TESTING, Oi
[LLEGAL VECTOM ERRORS,THIS WILL AIN Tic USER 0
DETERMINE TALE (OCATION OF Tiic ILLEGAL VECTOR.

THE LOOPING CAPAEIC1!IES THAT ARE NORMALLY PROVIDED
BY JLLEGAL VECTOR SERVICE ROUTINES WHEN SWi2=0 WILL
NO LONGER BE AVAILABLE WHEN SwW1Z2 = 1.




IF USING SW12=1 TO TRACK DOWN THE ILLEGAL VECTOR,THE

USER SHOULD RESTART AT ADDRESS 200 WITH SWi2=0 TO

OBTAIN LOOPING CAPABILITIES AFTER ERROR OCCURS. _
VECTOR AREA 0-200 WILL ALWAYS HAVE ILLEGAL VECTOR ROUTINES
WHEN VECTOR TESTING (0-200) IN ORDER TO PRESERVE PROGRAM.

SEQ 0005




5.4 CONTROL

* WARNING:

PLEASE USE "'CTRL AND &'' KEYS AND WAIT FOR THE

“CTRL G'' TG BE ECHCED BEFORE ATTEMPTING TO HALT THE
LPU OR TU STOP TESTING OR THE PROGRAM MAY WOT BE

5 RESTARTABLE,

PROGRAM RELOCATION FOR LOCATIONS 0-20C TAKES PLALE
DURING THE YECTOR TESTING OF 0-200. THE NORMAL
CONTENTS OF (0-200 MAY NOT GET RESTORED IF THE (PU

1S HALTED AND RE{.QAD OF THE PROGRAM MAY BE NECESSARY.

1. THE SOFTWARE SWITCH REGISTER 'SWREG' (LOC. 176) CAN BE
CHANGED BY USING THE ODT FACILITIES.

2. THE SOFTWARL S¥WIich RvGISTER CAN BE (HANGED UNDER PROGRAM
CONTROL BY TYYPING THE 'CONTROL € ¢' KEYS. THIS
KEYBOARD OPERATION WILL PRINT OUT THE CURRENT CONTENTS
AND ACCEPT NEW OCTAL SWITCH REGISTER DATA TERMINATED
WITH A CARRIAGE RETURN.

5. ONCE THE ODT MUDE HAS BEEN ENTERED BECAUSE OF AN )
ERROR CONDITION WITH BIT15 SET (HALT ON ERRUR), STEP #2
ABOVE 1S OF NO VALUE., SC RESORT TO STEP #1 TO ALTER THE
SOFTWARE SWITCH REGISTER IF DESIRED BEFORE TYPING
*P' (CONTINUE),

F6.i) FRROR REPORTING

- LG ey e .

™
e
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ERROR COMMENY

ALL FRRORS ARF ACCOMPANIED wITH AN ENGL ISH [ ANGUAGE DESCRIPTIVE

COMMENT AS TO THE TYPE Of FAILURE. FURTHER QUALIZICATION Of

THE ERROK (AN BE UB AINED IF NEEDED FRUM THE CUMMENT AT THE
ERRUR PC NR FROM THE TEST ITSELF.

[ 4

h.2 ERROR DATA

v.2.1 ERROR TITLE TYPE A
1. REG RCAD/WRITE ER
2. IRR RFG FR
3. ACR REG ER
&. IMR REG FR
%. ISR REG ER

o e e e
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6.2.2

h.d.h

e T TR Y R 21T T A

6. CHIP STAT ER
7. MULTIPLE INTERRUPTS RECEIVED
8. INTERRUPT TEST ERROR

ERRPC ~ TSTNUM BUSADR VAM ADDR EXPCT  RCVD
XXAXXX  XXXXXX  XXXXXX  XXXXXX  XXXXXX  XAXXXX  XXXXXX

ERRPC LISTING ADDRLSS WHERE THE ERROR WAS DETECTED

TSTNUM TEST NUMBER WHERE THE ERROR OCCURRED

RBUSADR DRV11J BUS REG ADDRESS OF CONCERNED OPERATION

VAM VALJE STORED INTO VECTOR ADDRESS MEMORY
INDICATING BYTE COUNT AND LEVEL.

ADDR VECTOR ADDRESS

EXPCT DATA THAT WAS EXPFCTED

RCVD DATA THAT WAS RECEIVED

ERROR TITLE TYPE B
1. ILLEGAL INTERRUPT RECEIVED

ERRP(  TSTNUM BUSADR VAM ADDR
XXXXXH XXXKXX  XXXXXXK  XXXXXX  XXXXXX

ERRP( ADDRESS WAERE THE ERROR WAS DETECTED
TSTNUM TEST NUMBER WHERE THE ERROUR OCCURRED
BUSADR DRV11J BUS ADDRESS
VAM VALUE OF VECTOR ADDRESS MEMCRY

AT TTME OF IJLLEGAL INTERRUPT.
ADDR VECTOR ADDRESS

ERRUR TITLE TYRE C
1. ILLEGAL VECTOR MEM ADDR LR

FRRPC TSTNUM TESTPC BUSAPR VAM ADDR
XXXXXX XKXXXXX  VXXXXX  XXXXXX  XXXXXX  XXXXXX
ERRPC ADDRESS WHERE ERROR WAS DETECTED
TSTNUM TEST NUMBER WHERE THL CRROR OCCURED
TESTPC ADDRESS OF TESt THAT WAS RUNNING
WHEN DRV11d VECTORED 10 THE WRONG ADDRESS.
BUSADR BUS ADDRESS (F CUMCERNLD OPERATION
VAM VALUE OF VECTOR ADDRESS MEMORY
BYTE COUNT AND LEVEL.
ADDR CORRECT VECTOR ADDRESS

ERROR TYPE D

THIS ERROR IS ONLY FOUND WHEN RUNNING THE VECTOR ADDRESS
UNITQUENESS TESTS. THE VECTOR MEMORY [S PRESET T(O PERF(ORM
64 INTERRUPTS. INTERRUPT SERVICE ROUTINES ARE STORED thOM
VECTORS 3)0 70 474, THE ROUTINES WILL STORE THE VALUE tiF
THE VECTOR AUDRESS WHERE THEY CAME FRDM IN A BUFFER

TO COMPARE AFTER ALL INTERRUPIS TAKE PLACE. THE BUFFLR
SHOULD THEN HAVE ADDRESS VALUES IN CONSECUTIVE _

ORDER STARTING WITH VECTOR VALUE 300 AND ENDING WITH
VECTOR VALUE 674,
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7.0

7.1

7.2

~d
L |

7.4

7.5

8.0

1. VECT ADDR _MEM ER
ERRPC TSTNUM BUSADR EXPCT  RCVD
XXXXXX XXXXXX  XXXXXX  XXXXXX  XXXXXX

ERRPC ADDRESS WHERE ERROR WAS DETECTED

TSTNUM TEST NUMBER WHERE ERROR OCCURRED

BUSADR STARTUP BUS ADDRESS BEFORE VECLTOR UNIQUENESS
EXPCT THIS IS THE EXPECTED VECTOR ADDRESS

RCVD VECTOP ADDRESS VALUE STORED IN BUFFER

MISTELLANEOQOUS

DRV11~J BUS ADDRESS MODIFICATION

MODIFY LOCATION '$BASE'(ADDR:22%44) IF BASE BU:» ADDRESS 1S
NOT 164160,

XXDP/APT NOTES

THIS DIAGNOSTIC DOES SUPPORT ACT AND APT ENVIRONMENTS.
POWER FAIL

A POWER FAILURE WILL CAUSE A RESTART MESSAGE ON POWER UP AT
WHICH TIME THE PROGRAM 1S RESTARTED (ONLY ON SYSTEMS WITH
NON=VOLATILE MEMORY AND WITH APPROPRIATE HARDWARE).

MULTIPLE DRV11J INTERFACE TESTING

THIS PROGRAM DOES NOT ''AUTO-SIZE'' THE NUMBER OF DRV11J°S CONNECTED.
THIS DIAGNOSTIC WILL TEST SEQUERTIALLY UP TO 4 DRV11J INTERFACES

WITH CONTIGUOUS BUS ADPRESSES. THIS 1S ACCOMPLISHED

BY YHE USER SETTING UP LOCATION *SDEVM'' (ADDR:2246) WITH A
BIT MAP INDICATING WHAT INTERFACES ARE 1 BE TtSTED.

1.E. BITO= 1 SAYS TEST 1S DRV11J,

BiT1= 1 SAYS TEST 1ST DRV11J

BITZ2= 1 SAYS TEST 2ND DRV11J

BIT2= 1 SAYS TEST 3RD DRV11J
1ST UNIT = STARTING CSRA 164160 $DEVM = 1
ZND UNIT = STARTING CSRA 164140 S$DEVM = 3
3RD UNIT = STARTING CSRA 164120 S$DEVM = 7
4TH UNIT = STARTING CSRA 164100 S$DEVM = 17
RESTRICTIONS

ALWAYS TYPE "'CTRL G'' AND WAIT FOR ECHO CHARA{TERS
BEFORE HALTING THE CPU OTHERWISE PORTIONS NF THE
PROGRAM MAY NOT GET RESTORED. FC® MORE INHL . ATION
REFER TO SECTION 5.2.

EXECUTION TIME

EXECUTION TIMF WILL BE LES" THAN 30 SECONDS
PER DRV11J UNIT CONNECTED. AN "END PASS'"
MESSAGE INDICATES ALL TESTS HAVE COMPLETED ON
ALL SELECTED UNITS.

SEQ 0008




9.u

9.1

9.2

9.3

9.4

PROGRAM TEST DESCRIPTIONS
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GENERAL

THIS DIAGNOSTIC CONTAINS A SERIES OF INDEPENDENT TESTS DESIGNED
TO TCST LOGIC FUNCTIONS AND DATA PATHS OF THE DRV11J OPTION.
TESTING IS ACCOMPLISHED WITH THE AID OF THE

DRV11J LOOP BACK CABLE PRULVIDED FOR DIAGNOSTIC TESTING,

A COMPLETE L'ST OF TESTS IS AVAILARLE IN THE TABLE OF CONTENTS
AT THE BEGINNING OF THE LISTING. THE COMMENT FIELD WITHIN

EACH TEST CAN BE BENEFICIAL IN TEST UNDERSTANDING.

REFERENCES ARE MADE IN THE LISTING TC THE TuO INTERRUPT
CONTROL CHIPS USED ON THE DRV114 AS GROUPY AND GROUPZ.

GROUP1 CHIP CSRA = CONTROL FCR GRQUP 1
CSRB = DATA FOR CROUP1

GROUPZ CHIP CSRC = CONTROL FOR GROUPZ
CSRD = DATA FOR GROUPZ

TEST 1 - TEST CHIP INTERRUPT,GROUPY,GROUPZ

THIS TEST WILL CHECK THE ABILITY OF EACH INTERRUPT
CONTROL CHIP TO INTERRUPT TO COMMON VECTUR 300.
THIS TEST WILL ALSO CLEAR YHE HIGHEST PRIORITY

{gg gi{g WITH TEST VARIATIONS COF IRR AND

TEST 2 - TEST ACR/ISR INTERRUPT,GROUP 1,GROUP ¢

THIS TEST WILL TEST THE ABILITY OF BOTH GROUPS

TO INTERRUPT TO COMMON VECTOR 300 AND THE ABILITY

OF THE ACR(AUTOCLEAR REGISTER TO CLEAR THE ISR

AFTER BEING SET AND MASKED BY COMBINATIONS OF IRR BITS
AND IMR BITS.

TEST 3 - TEST VECTOR ADDR MEM,itV 0-7,BY0-3,(204-1774) ,GRPS 1,2

THIS TEST WILL CHECK BOTH GROUPS,ONE AT A . IME,TO VECTOR
FROM ADDRESS 204 TO ADDRESS 1774 FOR LEVELS 0-7 AND

FOR BY'Z COUNTS 1-4.THE BYTE COUNT NUMPER WILI. INDICATE
THE NUMBER OF INTERRUPTS AT A GIVEN ADDRESS.

THE IRR,IMR AND ACR REGISTERS WILL ALL BE EXCRCISED

ANG CHECKED 10 INSURE PROPEx VECTORING.

TCST 4 - TEST VECTOR ADDR MEM,LEV 0-7,BY0-3,(0-200),GRPS 1,2

THIS TEST WILL CHECK BOTH GROUPS ONE AT A TIME, TO VECTOR
FROM ADDRESS 0-200 :OR LEVELS 0-7 AND FOR BYTE COUMTS 1-4.,
TESTS ARE DONE TO INSURE THAT INTERRUPTS ONLY TAKE PLACE
WHEN EVERYTHING IS READY. THE CHIP BEING ARMED,INTERRUPT
ENABLE 1S SET AND THE PROPER IMR AND [RR BITS ARE SET.
AFTER THE INTERRUP1S CHECK TO INSURE THAT THF INTERRUPTS
GENERATED MATCH THE BYTE LOUN) ANL THAT THE FROPER

ISR BITS WERE SET AND THE PROPER IRR BITS WERE CLEARED,

SEQ 0009
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9.5

9.6

10.0

K

TEST .5 = TEST VECTOR ADDR UNICUENESS IN FIXED MODE FOR GROUPS 1,2

THIS TEST WILL CHECK THE FIXED PRIORITY OF THE TWO
INTERRUPT CONTROL CHIPS AS WELL AS THE ADDRESSING
CAPABILITY OF THE VECTOR ADDRESS MEMORY.

THE AUTOCLEAR REGISTER(ACR) IS USED TO CLEAR QUT THE

ISR BITS AFTER 4 INTERRUPTS PER LEVEL HAS TAKEN PLACE.
CLEARING THE ISR REGISTCR WILL THEN ALLOW THE NEXT LEVEL
OF PRIORITY TO INITIATE & INTERRUPTS.

THE VECTOR MEMORY IS PRESET 10 PERFORM 64 UNIQUE INTERRUPTS.
INTERRUPT SERYVICE RCQUTINES ARE STORED FROM VECTORS
300-674. EACH INTERRUPT SERVICE ROUTINE UPON INTERRUPT
ENTRY Wil.L STORE THE ADDRESS OF ITS VECTOR

IN A BUFIFR FOR A COMPARE AFTER 64 INTERRUPTS TAKE PLACE.
THE BUFFL SHOULD THEN HAVE ADDRESS VALUET IN CONSECUTIVE
ORDER STAITING WITH VECTOR VALUE 300 AND ENDING WITH
VECTOR VALUF 674,

TEST 6 - TEST VECTOR ADDRESS UNIQUENESS,ROTATING PRIORITY
FOR BOTH GROUPS 1,2

THIS TEST WILL CHECK THE ROTATING PRIORITY OF EACH

OF THE TWO INTERRUPT CONTROL CHIPS AS WELL AS THE ADDRESSING
CAPARILITY OF THE VECTOR ADDRESS MEMORY.

THE VECTOR ADDRESS MEMORY IS PRESET FOR €4 UNIQUE INTEKRRUFTS,
INTERRUPT SERVICE ROUTINES ARE STORED FROM VECTORS 300-674.
ALL IRR 28ITS ARE SET AND ALi. IMR BITS ARE CLEARED.

AFTER THE FIRST TOUR INTERRUPTS FROM IRRO TAKES PLACE,

THE ISRO BIT WILL SET AND IRR0 BIT WILL CLEAR,

TO PROVE NTATION OF PRIORITY,THE ISRO BIT IS CLEARED

AND THE IRK0O BIT IS SET AGAIN IN ORDER TO PROVE THAT

IRRT WILL NO% B& CONSIDERED THE HIGHEST PRIORITY AND

IRRO THE LCWEST PRIORITY, THIS FLOW IS REPEATED FOR

ALL LEVELS OF GRCUP 1(0-7). THEN_GROUP 2 IS TESTED

IN THE SAME MANNER FOR LEVELS 0-7. EACH INTERRUPT

SERVICE ROUTINE UFON ACCESS FROM AN INTERRUPT WIlLL STORE

THE ADDRESS OF THE VECTOR WHERC THE ROUTINE RESIDES IN

A BUFFER. AFTER ALL 64 INTERRUPTS TAKE PLACE(% AT A TIME

FOR EACH LEVEL)THE BUFFER WILL BE CHECKED FOR CONSECUTIVE
VECTOR VALUES OF 300-€74. THIS WILL INSURE THAT PROFER
ggg;gETégDDRESSING AND RCTATION OF PRINRITIES WAS

LISTING

- -y -

1
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CVDRDB DRV11J DIAG TST PRT¢ MACY11 306(1063) 10~-AuUG-81 1.:00 PAGE 1 ,
CVDRDB.P11 10-AUG-81 10:52 SEQ 0011

;:GPA  ,HEADER */CYDRDA DRV11J DIAG TST PRTZ /,1979,*/BILL HEAVEY/
.TITLE CVDRDB DRV11J DIAG TST PRI2

;*COPYRIGHT ‘() 1979

;*DIGITAL ENUIPMENT CORP.

:*MAYNARD, MASS. 01754

s

*PROGRAM 3Y 3ILL HEAVEY

*THIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMAC
*PAFKAGE (MAINDEC- 11-DZQAC~C5), JAN, 1981,

000001 TN‘T

160000 $3WR=160000 ; +HALT ON ERROR, LOOP ON TEST, INHIBIT ERROR TYPOUT
* EDITED TO PERMIT DRV'S TO RUN ON FALCON (KXT11), ; GPA
‘ G. PASQUANTONIO, JULY '81 ..GPA

P e W e W i i X aine R B W W W o Y

J O VU WO (I S W W W T W, WA S PR S P R PR P R P IR A §
‘\1\4\J\J\J\J\J\;Oo-qcths\bq\/\/\Hk}ki\/\l\/‘I\I&/nJ_J

165400 $SUR=165400
000001 $TN=1
- SB1 ‘TL OPERATIONAL SWITCH SETTINGS

SWITCH USE
15 HALT ON ERROR
14 LCOP ON TEST
13 INHIBIT ERROR TYPEOUTS
1 INHIBIT ITERATIONS
LGOP CN ERRNR
LOOP ON TEST IN SWR<7:0>
.SBTTL BASIC DEFINITIONS

;*INITIAL ADDRESS OF THE STACK PODINTER ¥ 1100 %%

e . % W %N We Wy
I‘l‘-*#l&"r*

-
o B o]

19

(1)

(1)

(1) 001100 STACK= 1100

(1) _EQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
i}; "EQUIV 1OT.SCOPE “'BASIC DEFINITION OF SCOPE CALL
(1) *MIaCELLANEOUS DEF IN1TIONS

(1) 000011 HT= 11 :CODE FOR HORIZONTAL TAB

(1) 000012 LF= 12 :CODE FOR _INE FEED

(1) 000015 CR= i5 *CODE FOR CARRIAGE RETURN

(1) 000200 CRLF= 200 *:CODE FOR CARRIAGE RETURN-LINE FEED
(1) 177776 PS= 177776 : *PRNCESSOR STATUS WORD

(1) LEQUIV PS,PSW

(1) 177774 STKLMT= 177774 ::STACK LIMIT REGISTER

(1) 127772 PIRQ= 177772 - *PROGRAM INTERRUPT REQUEST REGISTER
(1) 177570 DSWR= 177570 : "HAKDWARE SWITCH REGISTER

E}; 177570 DLISP= 177570 " HARDWARE DISPLAY REGI{3TER

(1) o :*GENERA!. PURPOSE REGISTER DtFIRITIONS

(1) 000000 RO= X0 ; :GENERAL REGISTER

(1) 000001 R1= 11 : 'GENERAL REGISTER

(1) 000002 R?= 12 “GUNERAL REGISTER

(1) 000003 R3= 13 < 'GENERAL REGISTER

(1) 00000% R%= 1% * :GENERAL REGISTER

(n 000005 RS= %5 * 'GENERAL REGIZTER

(1) 000006 R6= 6 L GENERAL REGISIER

(1) 000007 R7= ¥ * SGENERAL REGISTER

T U g T e




CVDRDB DRV11J DIAG TST PKRTZ _
CVDRDB.P11 10=-AUG~81 10:52

(1) 000006
1) 000007
(1)
(i)
(1) 000000
(N 000040
(1) 000100
(1) 000140
(1) 000200
(1) 000240
(1) 000300
1) 000340
(1)
(1)
(1) 100000
(1) 040000
(1) 020000
b 010000
(1) 004000
(1) 002000
(1) 01000
() 000400
(1) 000200
(1) 000100
(1) 000040
(1) 000020
(1) 000010
(1) 000004
(1} 000002
(1} 000001
(1)
(1)
(1)

b (1)
(1)
(1)
(1
(1)
P
(1)
(1)
(1)
(1) 100000
(1) 040000
(1) 020000
(1) 010000
(1) 004000
(1) 002000
(1) 001000
(1) 000400
(1) 060200
(1) 000100
(1) 000040
(1) 000020
(1) 000010
1) N00004

L.

M
MACY11 30G(106>) 10-AUG-81 11:00 PAGE 1+
BASIC DEFINITIONS

SP= %6 ; :STACK POINTER
pPC= L/ ; ;PROGRAM COUNTER

; *PRIURI
PRO=
PR1=
PR2=
PR3=
PR4=
PRS=
PR&=
PR7=

;%' 'SWITCH
SWis= 1
SWié= 4
SW13= 2
Swie= 1
SWit= 4§
SWwig= ¢
SWo9= 1
SWOR= 4
l
1
4
¢
1
4
é
1

AN =3 =3 IO —
O8O O0O <
| o]
-—
—
e
mmmmmm
T W T
mmMrrmpmmem
merrrerrerre
TN AP0 = O

;;PRIORITY LEVE

0
0
0
0
0 s +PRIODRITY LEV
0
REGISTER'' SWITCH DEFINITIONS
08 0

SWO7 =
SW06=
SW0S=
SW04=
SW03=
SW02=
SW01=
SW00=
LEQUIV  SWO9,S5W9
LEQUIV  SW0B,SW8
LEQUIV  SWO7,3W7
JEQUIY  SWO0A,SW6E
LEQUIV SWO0S5,SwS
LEQUIV  SW04,SWé
JEQUIV SWC3,suU3
LEQUIV SW02,SW?

EQUIV  SWO1,SW1
JEQUIV  SW00,SWO
. *DATA BIT DEFINITIONS (BITO0 TO BIT15)
BIT15= 100000
BIT14= 40000
81713= 20000
31112= 100(0
1TT1= 4000
FIT10= 2000
21709= 1000
BITO8= 400
RIT07= 200
A1106= 100
LIT05= 40
BIT04= 20
BIT03= 10
BITOZ2= 4

SE@ 0012




CVDRDB DRV11J DIAG TST PRTZ

CVDRDB.P11
(1)

— el d
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10-AUG~8"

000002
000001

000004
000010
090014
C00014

10:52

N 1
MACY11 30G(1063) ."-AUG-81 11:00 PAGE 1-2

BAS:C DEF INTTJONS

BITO1= 2

BITOO0= 1

JEQUIV BITNG,_ 1
LEQUIY BIT08,2
.EQUIV BIT07.B
.EQUIV BIT06,8
.EQUIV BITOS,B
.EQUIV BIT04,B
.EQUIV B1T03,8
.EQUIV BIT0Z,B
.EQUIV BITO01,BIT1
.EQUIV BIT00,BITO

000014
000020
000074
000030
0U0034
300060
000064
000" 40
2 164160
¥ 000001
2 10000
i 000400
>, 901000
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;*BASIC "'CPU'' TRAP VECTNR ADDRESSES

ERRVE(= & ;:TIME OUT AND OTHER ERRORS

RESVEC= 10 ; sRESERVED AND ILLEGAL INSTRUC)IONS
TBITVEC=14 ST BIT

TRTVEL= 14 ;s TRACE Ty h

BPTVEC= 14 ; tBREAKPOINT TRAP (BPT)

INTVEC= 20 ;s INPUT/QUTPUT TRAP (I0T) *xSCOPE**
PWRVEC= 24 1 POWER FAIL

EMTVEC= X0 ::EMULATOR TRAP (EMT) »xERRORx*+
TRAPVEC=34 ;1 'TRAP"" TRAP

1KVEC= 60 ::TTY KEYBOARD VECTOR

TPVEC= 64 ;:TTY PRINTER VECTOR

PIRQVEC=240
ABASE= 155160

; :PROGRAM INTERRUPT REQUEST VECTOR
+BASE ADDRESS

] A Y T B R I

uCoV20
000030
Qo004 0
YeIasn
QU0OED
00070

GOnian

260840
200244

ADEVM= 1 :DEFAULT TO ONE DRV11J
RDY= BiT15

DIR=  BIT8

1E= BITS

;CHIP COMMAND SUMMARY

CIRMR= 20 ;CLEAR IRR AND IMR
CSIRMR= 30 :CLEAR SINGLE IRR AND IMR BIT
CIMR= 40 ;CLEAR IMR

CSIMR= 50 SFLEAR SINGLE IMk BIT
SIMR= 60 3ET ALL IMR BITS
SSIMR= 70 ;SFT SINGLE IMR BITS
CIRR= 100 ;"LEAR IRR

CSIRR= 110 '(LEAR SINGLE IRR BITS
SIRk= 120 SET ALL IRR BITS
SSIRR= 130 ;5T SINGLE IRR BITS
CHPISR= 140 ;CLEAR HIGHEST PRIURITY ISR BIT
CISR= 160 TCLEAR ISR

(SISR= 170 *CLEAR SINGLE ISk BIT
LMD04= 200 :LOAD MODE BITS MO-M4
LMLS7= 240 LOAD MODE BITS Mo=M7
;CHIP MODE BI7 PRESELECTION

MISR= 240

MIMR= 244

T

SEQ 0013




CVDRDB.P11 10~AUG-81 10:52

000174 000000
000176 000000

000200 000137 002476
00170

0
000100 0Q0C104 000200 000002

o W B on W WP N P N i Y

50 000250
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54 000300
55 000260
b6 000340
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BASIC DEFINITIONS

MIRR= 250

MACR= 254

;CHIP WRITE PRESELECTION

PACR= 300 ;PRESELECT AUTO CLEAR REG. FOR WRITING
PIMR= 260 *PRESELECT IMR REG. FOR WRITING

PVMA= 340 :PRESELECT VELTOR MEMORY ADDRESS

.SBTTL TRAP CATCHER

=0
;*ALL UNUSED LOCATIONS FROM 4 = 774 CONTAIN A *'.+2,HALT"
**SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
*LUCATIUN194C0NTAJNS 0 TO CATCH IMPROPERLY LOADED VECTORS

DISPREG: .WORD 0 ;;SOFTWARE DISPLAY REGISTER
SWREG:  .WCRD 0 ;s SOFTWARE SWITCH REGISTER
SBTTL STARTING ADDRESS(ES)

JMP QMSTART ;;JUMP TO STARTING ADDRESS OF PROGRAM

.=100
.WORD  104,200,2 :IF 'B EVENT' ON Q BUS IS CONNECTED
; IGNDRE IT'S INTERRUPT = JUST DO A RTI

— L e ¢ daaE e e Do e e o

SEQ 0014
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000052
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000106
000046
010760
000052
000000
000166
002000

002000
000024
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0u2000
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000000
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000036
000036
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ACT17 HOOKS SEQ 0015

.SBTTL ACT11 HOOKS

SRRKARAKRAARA A AR A ARkt hkkhkAhthkhhkhhhhhh bk hhhkkkhrkhkn

HDDKS REOUIRED BY ACTIM
$SVP(=

A ; SAVE PC
$§§3AD :21)SET LOC.46 TO ADDRESS OF BENDAD IN .SEOP
TWORD 0 ::2)SET LOC.52 TO ZERO
.=§858C ;2 RESTORE PC

;LONGEST TEST TIME

;18T PASS RUN TIME

sADDITIONAL RUN TIME
.SBTTL APT PARAMETER BLOCK

;****t***tt**k*t*t*tt*************************i***********t*‘***

*SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
;***********k*** AR AR R AR AR R R A AR A AR AR AR AR A AR AR Ak kA Ak h

.$X=.  ::SAVE CURRENT LOCATION

.=24"  1iSET POWER FAIL TO POINT TO START OF PROGRAM

200 *'FOR APT START UP

=44 +:POINT TO APT INDIRECT ADDRESS PNTR.

$APTHDR ::POINT TO APT HEADER BLOCK

.=.$X  ++RESET LCCATION COUNTER

*********tﬁ*****ﬁt****tt*****t*tt**t****tt*tttttttttti*tttt*ttt

:SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
+ INTERFACE SPEC.

LX)

SAPTHD !

$HIBTS: .WORD (O ;:TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

$MBADR: .WORD  SMAIL  ;;ADDRESS OF APT MAILBOX (BITS 0-15}

$TSTM: _WORD 12. ,.RUN TIM OF LONGEST TEST

$PASTM: _WORD 30 :RUN TIME [N SECS. OF 1ST PASS UN 1 UNIT (QUICK VERIFrY)
$UNITM: .WORD :ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT

+WORD SETEND SMA!L/E ;s LENGTH MAILBOX-ETABLE(WORDS?
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COMMON TAGS
.SBTTL COMMON TAGS

b 2
11:00 PAGE 1-5

SRR R R AR AR AR AR TR LR R RR KA AR AR RARRRARAA AR AR KA KRR AN K

$#THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
s *USED IN THE PROGRAM.

.=2100

$CMTAG:

STSTNM: ,
$ERFLG:
S$ICNT: .
$LPADR: .
$LPERR: .
$ERTTL: .
$ITEMB: ,
SENMAX: .
$ERRPC: .
$GDADR: .
$BDADR: .
$GDDAT: .
$8DDAT: .

$AUTOB: ,
SINTAG: .
SWR .
DISPLAY:

$NULL:
$SFILLS:
$FILLC: .
STPFLG:
$TIMES: O
$ESCAPE:0
$QUES:
$CRLF:
SLF:

WORD
BYTE
BYTE
WORD
WORD
WORD
WORD
BYTE
BYTE
WORD
WORD
WORD
WORD
WORD
HORD
WORD
BYTE
BYTE
WORD
WORD

. WORD
$TKS: 177560
$TKB: 177562
$TPS: 177564
$TPB: 177566

ODTOOOOOOOOLOOOOOOO0O

/?/
<15>
<12>

::START OF

: ;CONTAINS
; tCONTAINS
;s CONTAINS
2 sCONTAINS
;s CONTAINS
2 s CONTAINS
2 CONTAINS
s s CONTAINS
2 s CONTAINS
2 2CONTAINS
:+CONTAINS
;2 CONTAINS
;:CONTAINS

COMMON TAGS

iHE TEST NUMBER

ERROR FLAG

SUBTEST ITERATION COUNT
SCOPE LOOP ADDRESS
SCOPE RETURN FOR ERRURS
TOTAL. ERRORS DETECTED
ITEM CONTROL BYTE

MAX. ERRORS PER TEST

PC OF LAST ERROR INSTRUCTION
ADDRESS OF 'GOOD' DATA
ADDRESS OF 'BAD' DATA
'GO0D ' DATA

'"BAD' DATA

; ;RESERVED~-NOT TG BE UGED

; JAUTOMATIC MODE INDICATOR
2 INTERRUPT MODE INDICATOR

:;ADDRESS OF SWITCH REGISTER

; sADDRESS OF DISPLAY REGISTER

JsTTY KBD STATUS

JTTY KBD BUFFER

;:TTY PRINTER STATUS REG. ADDRESS

J:TTY PRINTER BUFFER REG. ADDRESS
::CONTAINS NULL CHARACTER FOR FILLS

; ;CONTAINS # OF FILLER CHARACTERS REQUIRED
;¢ MNSERT FILL CHARS. AFTER A 'LINE FEED
::"TERMINAL AVAILABLE'' FLAG (B1T<07>=0=YES)
;JMAX, NUMBER OF ITERATIONS

:;ESCAPE ON ERROR ADDRLSS

:sQUESTION MARK

: ;CARRIAGE RETURN

.sLINE FEED

P T L L T L R L e L s e i o
«SA7TL  APT MAJLBOX-ETABLE

P AR AR R R AR AR AN AR A AR R ANRARN AR AR AR ARRARARANR AN,

ol‘.: II:N
SMAIL :
$MSGTY :
SFATAL
$TESTN:
SPASS:
$DEVCT:
SUNIT:
$MSGAD :
$MSGLG: .

.WORD
.WIRD
.WORD
-WORD
.WORD
.WORD
. WORD

WORD

AMSGTY
AFATAL
ATESTN
APASS

ADEVCT
AUNIT

AMSGAD
AMSGLG

;s APT MAILBOJX
::MESSAGE TYPc CCDE
::FATAL ERROR NUMBER
;2 TEST NUMBER

2 :PASS COUNT
J:DEVICE COUNT

2170 UNIT NUMBER

; sMESSAGE ADDRESS

;s MESSAGE LENGTH

SEQ 0016
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002220
002221

002222

002224
002225
002225
002230
002231
002232
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002235
002236
002240
002242
002244
002246
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APT MAILBOX-ETABLE

SETABLE:

SENV:

$USWR:

$CPUQP:

s He ™

e uens e v N n
. ¥ % ¥ ¥ X %
L |
-<
ow
— el

MEXIT

o ——c e o

t0~AUG-81 N
JBYTE  AENY
: .BYTE  AENVM
: .WORD  ASWREG
.WORD  AUSWR
.WIRD  ACPUDP
: BYTE  AMAMS)
: .BYTE  AMTYP1
: .WORD  AMADR1
: .BYTE  AMAMS?2
: o, TE  AMTYP?
: .WORD  AMADR?
: .BYTE  AMAMS3
: .BYTE  AMTYP3
: .WORD  AMADR3
.BYTE  AMAMS)
: OYTE  AMTYP4
: .MORD  AMADR4
: .WORD  AVECT1
: .WORD  AVECT?
.WORD  ABASE
.WORD  ADEVM
.WORD  ACDW1

E 2
:00 PAGE 1-6

SEQ 0017

;inrT ENVIRONMENT TABLE
;1EIVIRONMENT BY It
: tENVIRONMENT MODL BITS
2 APT SWITCH REGISTER
1 sUSER SWITCHES
::CPU TYPE,OPTIONS
BITS 15=-11=CPU TYPE
11/04=01,11/05=02,11/20=03.11/40=04,11/45=05
11/70=06,PDQ=07,0=10
REAL TIME CLOCK
FLOATING MOINT PROCESSOR
MEMORY M/ JAGEMENT
GH ADDRESS.M.S. BYTE
M. 1YPE ,BLKA?
TYPE BYTE (HIGH BYTE)
900 NSEC CORE=001
300 NSEC BIPOLAR=002
500 NSEC M0S=003
;sHIGH ADDRESS.BLK#1 s
MEM.LAST ADDR.=3 BYTES,THIS WORD AnD LOW OF "'TYPE'' ABOVE
::HIGH ADDRESS,.M.S. BYTE
:'MEM.TYPE.,.BLK#Z2
::MEM.LAST ADDRESS.BLKA?
:sHIGH ADDRESS.M.S.BYTE
1 :MEM.TYPE,BLKA3
; sMEM,.LAST ADDRESS,.BLKA3
::H1GH ADDRESS,M.S.BYTE
::MEM,TYPE ,BLK#4
;sMEM,LAST ADDRESS,BLENG
::INTERRUPT VECTORA1,BUS PRIORITY#
:;INTERPUPT VECTORNZ2BUS PRIORITY#?
::BASE ADDRESS OF EQUIPMENT UNDER TEST
:;DEVICE MAP
; ;CONTROLLER DESCRIPTION WORDA1

1

0=
9=
8=
H

v DIDCD

17
IT
IT
JH
M
EM
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CVDRDB.P11 10-AUG-BY 10:52 ERROR POINTER TABLE SEQ 0018

0 .SBTTL ERROR POJ “ER TABLE
(1) ;%THIS TABLE CON] ..NS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
(1) TTHE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN

(1) *«LOCATION SITEMS. THIS NUMGER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
(1) “*NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).

3k *NOTE2: EACH ITEM IN THE TABLE CONTAINS 4 POINTERS EXPLAINED AS FOLLOWS:
(1) i EM ;;POINTS TO THE ERROR MESSAGE

(1) P DH ::POINTS TO THE DATA HEADER

(1) x DT :1POINTS TO THE DATA

(5 P DF ::POINTS YO THE DATA FORMAT

(1)

(1) 002252 $ERRTB:

70 ;ERFLOR 1

71002252 016101 EM] ;REG_TIMEOUT ER

72 002254 016416 DH1 ERRPC_ TSTNUM BUSADR EXPCT_ RCVD

73 002256 016666 DT1 :SERRPC TSTNUM $BDADR S$GDDAT SBDDAT

74 002260 000000 0

4

76 ;ERROR 2

77 002262 016120 EM2 ;REG READ/WRITE ER

78 002264 016463 DH2 (ERRPC_ TSTNUM BUSADR VAM  ADDR  EXPCT_ RCVD
79 002266 016702 DT2 :SERRPC TSTNUM S$BDADR VECVAL VECLOL S$GDDAT $BDDAT
80 002270 000000 0

82 :ERROR 3

83 002272 016142 EM3 ; 'RR REG ER

8, 002274 016463 DH2 “ERRPC TSTNUM BUSADR VAM  ADDR  EXPCT_ RCVD
85 002276 016702 DT2 :SERRPC TSTNUM S$BDADR VECVAL VECLOC $GDDAT $BDDAT
8¢ 002300 100000 0

88 SERROR 4

89 002302 016155 EM4 ;ACR REG ER

90 002304 016463 DH2 "ERRPC_ TSTNUM BUSADR VAM  ADDR  EXPCT_ RCVD
91 002206 016702 DT2 :$ERRPC TSTNUM S$BDADR “ECVAL VECLOC SGDDAT $BDDAT
92 002310 000000 0

94 ;ERROR S

95 002312 016170 EMS :IMR_REG_ERROR

96 002314 016463 DH2 *ERRPC_ TSTNUM BUSADR VAM  ADDR  EXPCT_ RCVD
97 002316 016702 DTS :$ERRPC TSTNUM S$BDADR VECVAL VECLOC $GDDAT S$BDDAT
98 0023¢0 000000 0
100 ;ERROR 6 )
101 002322 016203 EM6 ;1SR REG_ERROR

102 002324 016463 DH2 *ERRPC_ TSTNUM BUSADR VAM  ADDR  EXPCT  PCVD
103 002326 016702 DT2 :SERRPC YSTNUM $BDADR VECVAL VECLOC $GDDAT  SBDDAT
104 ué330 000000 0
106 ;ERROR 7

107 002332 016375 EMI4  ;VECTOR ADDR MEM ER

108 002334 016416 DH1 ZERRPC_ TSTNUM BUZAD® EXPCT  RCVD

109 002336 016666 DT1 ;SERRPC TSTNUM $BDADR SSDDAT  $BDDAT

110 002340 000000 0

 —a et ——— it
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002342
002344
002346
002350

002352
002354
002356
002360

002362
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002366
002370

002377
002374
002376
002400

00240¢
002404
002406
002410

002432
002434
002436
002440
002442
002444
002446
002450
002452

DIAG TST PRTZ

10~AUG-81 10:52

000000
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016736
000000
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040000
000001
000000
000000
000000
000000
000000
000000
000000
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ERROR POINTER TABLE

:ERROR

;ERROR

+ERROR

;ERROR

sERROR

10
EM10
DHZ
DT2
0

11
EM1 1
DH3
DT3

;CHIP STAT ER
JERRPC TSTNUM BUSADR VAM ADDR EXPCT
;SERRPC TSTNUM S$BDADR VECVAL VECLOC S$GDDAT

:1LLEGAL INTERRUPT RECEIVED

:ERRPC

TSTNUM BUSADR VAM ADDR

;$3ERRPC TSTNUM S$BDADR VECVAL VECLOC

: INTERRUPT TEST ERROR
;ERRPL  TSTNUM BUSADR VAM ADDR EXPCT
;SERRPC TSTNUM S$BDADR VECVAL VECLOC $GDDAT

;MULTIPLE INTERRUPTS RECEIVED
+MULTIPLE INTERRUPTS RECEIVED

JERRPC

TSTNUM BUSADR VAM ADDR EXPCT

;SERRPC TSTNUM $BDADR VECVAL VECLOC $GDDAT

;ILLEGAL VECTOR ADDR MEM ERROR

s ERRP(

TSTNUM TESTP( BUSADR VAM ADDR

;$ERRPC TSTNUM SGDADR S$BDADR VECVAL VECLOC

; BUS REGISTER ADDRESS POINTERS

DRCSA:
DRDBA:
DRCSA:
DRDRA:
DRCSC:
DRDBC :
DRCSD:
DRDBD:

s COMMON
TSTNUM:

DMAP :

INTFLG:

XXDP:

IMRLOC:
ISRLOC:
IRRLOC:
ACRLOC:
VECLOC:

ABASE
ABASE +¢
ABASE +4
ABASE +6
ABASE +10
ABASE +12
ABASF+14
ABASE+16

PROGRAM LOCATION(S)

0

]

.WORD
.WORD
.WORD
WORD
.WORD
.WORD
.WORD

COOOCOO0

; CONTAINS TEST NUMBER ON ERROR

SEQ 0019

RCVD
$EBDDAT

RCVD
$BDDAT

RCVD
$BDDAT
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CVDRDB.P11  10-AUG=81 10:52 ERROR POINTER TABLE SEQ 0020
167 002454 000000 VECPAT: WORD O
168 002456 030000 VECVAL: .WORD 0
169 002460 000000 SWRSAV: WORD 0
170 002462 000000 GRPINT: .WORD 0
171 002464 000000 BDSAV: .WORD 0
172 002466 000000 LVLCNT: WORD O
173 002470 000000 BYCNT: .WORD 0
174 002472 000000 SYNUM: .WORD 0
175 002474 000000 LVLSAV: .WORD 0

S — A— o ——— e T = b e b W e e
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002476

002476
002502
002504
00250
002512

002516
002524
002532
002540
002546
002554
002562
002570
002576
002602
002606
002614
002622

002630
002634
002642
002650
002656
002664

002666
002670
002674
002676
002704
002712

002716
002722
002730
002732
002740
002740
002744
002750
002754
002760
00276<
002770
002776
003004
003012
003014
003022

012706
005026

012737
012757

013746
012737
012737
012737
022777
001012

000403
012716
000002
012737
012737
012637

005037
132737
001403
012737

005037

002100
002140
002100

014462
000340
014134
000340
015732
000340
015526
000340
002160
002162
000001
002614
002622

002676

000176
000174
000004

002176
000200

002212

002172
002170
002174
017360

000040
000040
000040
002244

174160

MACY11 30G(1063)
PROGRAM START

000020
000022
0000390

102211
002140

START:
LSBTTL

10-AUG-81

I 2
11:00 PAGE 1-10

.SBTTL PROGRAM START

INITIALIZE THE COMMON TAGS
;:CLEAR THE Cﬂﬁﬁgg TAGS (SCMTAG) AREA

MOV 6G,R6 ::FIRST LOCATION TO BE CLEARED
CLR (R6)+ ;s CLEAR MEMORY LOCATION
CMP #SWR,R6 ;;DONE?
BNE =6 ;:LO0P BACK IF NO
MoV #2100,5P ::SETUP THE STACK POINTER
..INITIALIZE A FEW VECTORS
#SSCOPE ,a#IOTVEC ;,I0T VECTOR FOR SCOPE ROUTINE
MDV #340, arioTvece2 ;sLEVEL 7
MoV NSERROR,SNERTVEC :;EMT VECTOR FOR ERROR ROUTINE
MOV #3460 ,INEMTVEC+2 ;;LEVEL 7
MOV #STRAP,a#TRAPVEL ;:TRAP VECTOR FOR TRAP CALLS
MOV #340,9¥TRAPVEC+2;LEVEL 7
MOV NSPWRDN ,a#PWRVEC ; ;POWER FAILURE VECTOR
MOV #340,aNPWRVEC+2 ;- LEVEL 7
CLR $TIMES ;rINITIALIZE NUMBER OF [TERATIONS
CLR SESCAPE :3CLEAR THE ESCAPE ON ERROR ADDRESS
MOVB #1,8ERMAX ;2ALLOW ONE ERROR PER TEST
MOV . ,SLPADR ::INIYIALIZE THE LOCOP ADDRESS FOR SCOPF
MOV LSLPERR ;SETUP THE ERROR LOOP ADDRESS

;.SI1ZE FOR A HARDUARE SWITCH REGISTER
;EQUAL TO A '-1""

64%:
65%:
66%:

67%:

10008 :

MOV
MOV
MoV
MOV
(MP
BNE

BR

MOV
RTI
MOV
MOV
MOV

CLR
BIT8
BEQ
MOV

IF NOT FOUND OR IT IS
SETUP FOR A SOFTWARE SWITCH REGISTER.
@ERRVEC = (SP) ;;SAVE ERROR VECTOR

#64% ,3#ERRVEC  ;;SET UP ERROR VECTOR

#DSWR, SWR ;s SETUP FOR A HARDWARE SWICH REGISTER
#DDISP,DISPLAY ;;AND A HARDWARE DISPLAY REGISTER
#-1,a5WR ;s TRY 7O REFERENCE HARDWARE SWR

66% ::BRANCH IF NO TIMEQUT TRAP OCCURRED
;AND THE HMARDWARE SWR IS NOT = =1

65% JBRANCH IF ND TIMEQUT

H55%, (SP) ..SET {JP FOR TRAP RETURN

#SWREG, SWR :sPOINT TO SOFTWARE SWR
#DISPREG,DISPLAY

(SP)+ ,Q#ERRVEC ;:;RESTORE ERROR VECTOR

$PASS :sCLEAR PASS CQUNT

#APTSIZE,SENVM ;,;TEST USER SIZE UNDER ARPT

67% s YES,USE NON-APT SWITCH

NSSWREG, SWR ::NO,USE APT SWITCH REGISTER

$FATAL ;CLEAR ERROR NUMBER

SMSGTYP .LLEAR MESSAGE TYPE

STESTN ;CLEAR TEST NUMBER

FALCON ; CHECK FOR FALCON (KXT11) ;1 GPA
1000% , BR IF HOT KXT11 SYSTFH ::G6PA
#40.3#%2 : FALCON, LOWER I0OT7,. ::GPA
#e0Q, 832 ;...EHT : :GPA
#40,9436 .AND TRAP TO LEVEL 6. 2 +GPA
$BASE ,#ABASE : IS $BASE VIRGIN 77 ..GPA
10008 ; BR IF NOT. :GPA
2174160, $BASE . YES, USE ENGINEERING DEFAULT ..GPA

::GPA

SEQ 0021
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003022
003026
003030
003036
003040
003046
003050
003056
003060

003066
003072
003074
Cu3100
003104
003106
003112
003114
003120

003124
003130
003132
002134
003140
003146
003154
003140
003164
003172
003174
003200
003204
003206
003212
003216
003220
003224
003230
003236
003244
003246
003250
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NN NSO NON

104401
104401

005737
001001
104406
005037
013737
062737
013701
010137
032737
001002
000137
012700
010120
062701
022700
001372
004537
012706
013737
123727
0014071
000005
106427

000042
J00042
177777
002210
000001

177777

011354
002134

002440

016012
016054

002134

002202
002246
177760
002244
002412
000001

010636
002412

0000v2
002432

011524
002100
002202
002210

000340

MACY11 306(1063)

000046
002440
000001
002134

00c«34
002434

002434

002200
000001

10-AUG-81

INITIALIZE THE COMMON TAGS

s CHECK QPERATING ENVIRONMENT
TST an62

BEUW 1$
CMP kL2, N66
BEQ 28
MOV #~1,XXDP
BR 2%
1% CMPB  SENV.M
BNE 3s
2s: MOVB  #1,$AUTOB
:PRINT TITLE IF
3$: 11 N-
BNE 5%
JSR RS, TOBUF
ST $AUTOB
BEQ 48
TST XXDP
BEQ 5%
4$: TYPE "TITLED
TYPE "TLCABL
:GET THE VALUE IN THE SOFTWARE §
Es: ST SAUTOB
BNE START1
GTSWR
START1: CLR SUNIT
MOV SDZVM,DMAP
BIC H177760 DMAP
MOV $8ASE , k1
MOV R1,DRCSA
BIT #1.DMAP
BNE NEXPAS
JMP NXDEV1
NEXPAS: MOV #DRCSA,RO
NEXPAT: MOV R1, (ROS+
ADD #2.R1
CMP #DRDBD+2,R0
BNE NEXPA1
JSR RS, TRPCAT
MOV #2100, sP
MOV SUNIT,S$DEVCT
UMPB  SENV. 41
BEQ NEXPA2
RESET
NEXPA2: MIPS  #PR7

J 2
11:00 PAGE 1-11

;ARE WE IN ACT/XXDP AUTO MODE?
sBRANCH IF NO

;IS IT ACT AUTO MODE?

sBRANCH IF YES

;SET XXDP CHAIN MODE INDICATOR

;ARE WE IN APT AUTO MODE?
:BRANCH IF NO
;SET AUTO MODE INDICATOR

NO} IN ACT OR APT _AUTO MODE

;FIRST TIME?

;SKIP TITLE IF NO

sSTORE 0-202 INTOD BUFFER AREA
;ARE WE IN AUTO MODE?

;BRANCH TO TITLE TYPEOUT IF NOT
;1S THE AUTO MODE UNDER XXDP?
;SKIP TITLE IF NOT

;PRINT OQUT THE TITLE

:PRINT DRV11J CABLE REQ'D

WITCH REGISTER

JARE WE IN AUTOMATIC MODE?
sBRANCH IF YES _
+ASK FOR SWR INPUT FROM CONSOLK
;CLEAR UNIT NUMBER

;UP TO 4 DRV114'S

;POSITION OF DRV11J'S

sGET BASE ADDRESS

;MAKE BUS REG.POINTER = BASE
;iESFJRST DRV11-J SELECTED
:NO,_ADVANCE BASE DRV11J ADDRESS
JES;DUEHRCGISTER ADDRESS POINTERS

sALL DONE?

:BR _IF NOT

JEXTEND TRAP CATCHER 204=1774
;ALWAYS RESET STACK

;LOAD APT COUNTER WITH UNIT #
;ARE WE IN APT MODE?

;BR IF YES,SKIP RESET
JINITIALIZE

SEQ 0022

-y
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CVDRDB.P11 10-AUG=81 10:52 TIALIZE THE COMMON TAGS SEQ 0023
40
%[.1 ***t******i*ttit*ttttti*ititt*tttt*tttﬁtt*tttttttt*************
(3} *TEST 1 TEST CHIP INTERRUPT ,GROUP 1,GROUP 2
(3 t****‘k*******w****f.‘i’***ﬁ************ﬁ*ﬁ't*k***k‘kii*****"**i‘***i*
(2) 003254 000004 TST?: SCOPE
¢42 003256 013,00 002412 MOV DRCSA,RO ;START WITH GROUP 1
243 003262 013701 002416 MOV PRCSA.RY
264 003266 013702 002412 MOV DRCSA,R2 JREGISTER IS COMMON FOR BOTH GROUPS
245 003272 012757 003344 002110 MOV #1118 ,$LPERR JSET UP LOOP RETURN
246 003300 012727 000002 002462 MoV #2,GRPCNT :COUNTER FOR BOTH GRCUPS
247 003306 004537 011014 120%: JSR R5,CLRCSR JCLEAR ALL (SRS
248 003312 01270% 012636 MOV #BGCHP3 R3 JEXPECTED GDDAT FOR ISR,IMR
249 003316 012737 000050 002442 MOV #CSIMR, IMRLOC :STORE CLEAR SINGLE IMR CODE
250 003324 00453/ 011074 JSR RS, CLRIRR ;CLEAR IRR REGS
251 003330 012737 011644 000300 MOV ¥INTSR1,300 sSTORE VECTOR ROUTINE
252 003336 012737 000740 000302 MOV 340,302 :STORE PSW
253 003344 005037 002436 111%:  CLR INTFLG ;UCLEAR INT. FLAG
254 003350 012706 002100 MoV #2100,SP JINIT STACK IN CASF UF ILLEGAL INT. LOOP
255 003354 112710 000340 MOVv8 #PYMA, (RO) JPRESELECT VECTOR AEM ADDR
256 003360 112711 000060 MOV8 #60, (R1) JWRITE VECTOR 300,6Y0,LV0
257 003364 010037 002122 MOV RO,$BDADR ; SAVE BUS ADDRES®H
258 003370 112710 000060 MOV8B #SIMR, (RO) ;SET ALL IMR BIT.
259 003374 113710 Q02442 MovB IMRLOC, (RO) sCLFAR MASK ON SINGLE BIT
260 003400 112710 000202 MOVB #202,(RD) ;LMDO4 - COMMON VECTOR
261 003404 106427 000000 MTPS #PRO
202 003410 1127712 000241 Movs #2641, (R2) JUSED IN TEST QF GKOUP 2
J63 ;ARM GROUP 1 TO PASS
264 ;ENABLE TO GROUP 2.
265 003414 112710 000241 MOovB #2461, (RO) JLMD57 ~ ARM THE CHIP
266 003420 005737 002436 TST INTFLG :CHECK FOR INTERRUPTS
267 003424 0071401 BEQ 18
268 G03426 104011 ERROR M sERROR., JLLEGAL INTERRUPT
J69 003430 C05037 002436 1%: CLR INTFLG JRESET INT. COUNTEK
270 003436 112710 200120 MOy HSIRR, (RO) sSET ALL IRR BITS
271 003440 106427 900340 MIPS #PR7
&0 003444 005737 002436 757 INTFLG ;CHELK FOR NO INTERRUPTS
273 003450 001407 BEQ 2%
S74 003452 104011 ERROR M1 s JLLEGAL INTERRUPTS
275 003454 005037 (02¢-9 2%: CLR INTFLG ;CLEAR INT. COUNTER
76 003460 106427 (0G0 MTPS #PRC
277 003464 152762 000002 000001 BIS8 #B1T1,1(R) JSET I/E.EXPECT INTERRUPT
<78 DO3L72 012737 000001 002124 MOV #1,3$GDDAY JEXPECT ONE INTERRUPT
279 103500 013737 002636 002126 MGV INTFLG,$BDDAT  ;SHOULD HAVE ONE INTERRUPT
280 J03506 023737 002124 002126 CMp SGDDAT ,$SBDDAT
281 003514 001401 BEQ 33
B UU3S16  10401¢ _ ERROR 12 s INTERRUPT TEST ERRCR
JBE 003820 106427 000340 3%: MTPS #PR7
J8« Q03,26 012737 101710 002124 MOV 4101710 ,8GODAT ;DY ,DIR,I/E, CHIP = 31X
JBS 23532 010237 002122 MOV R2 , $8DACR ; CSRA ADDRESS
c8s 003536 011237 002126 MOV (R2) , $BDDAT _
CR2 00842 042737 000307 002126 BIC #7,SBODAT ;CLEAL UNDEFINED BITS
AR 7N35c0 Q23737 002124 002126 (MP $GDDAT, $BDDAT
cB9 u23556 Q014G BEQ 43
90 Q03560 104002 i ERROR 2 ;CSRA REG TRROR
91003562 010137 0012 {3 MOV n1,88DADR READY TO wEAD ISR REG.
292 0D3%66 005037 0U212¢ CLR $BDDAT ;SET UP FOR BYTE READS




L 2
CVDRDB DRV11J DIAG TST PRTZ MACY:1 30G(1063) 10-AUG=81 11:00 PAGE 2-1 _
CvURSCB.P1Y 10-AUG~81 10:5¢ Th TEST CHIP INTERRUPT ,GROUP 1,GROUP 2 SEC 0024

293 003572 005037 002124 CLR $GDDAY :SET UP FOR BYTE EXPECTED
394 003574 111337 002124 KOVE  (R3),SGDDAT ‘EXPECTED DATA

395 (003602 112710 000240 MOVE  #MISR, (RO) ‘LOAD MODE TO READ ISR
296 003606 111137 002126 MOVB  (R1) .$BDDAT

397 003612 023737 002124 002126 CMP $GDDAT, $BDDAT

278 003620 00740 BEQ 5%

299 003622 104006 ERROR 6 ; ISR ERROR

300 003624 116337 000001 002124 5%: MOVB  1(R3),$GDDAT  :STORE EXPECTED

I01 003632 112710 000244 MOVEB  #MIMR. (RO) *LOAD MODE FOR IMR

202 003636 111127 002126 MOVB  (R1).SBDDAT

303 003642 023737 002124 002126 CMP $GDDAT, $8DDAT

304 003650 001401 BEQ 63

305 003652 104005 ERROR S ; IMR ERROR

306 003656 116337 000001 002124 6%: MOVB  1(R3),$GUDAT  :EXPECTED IRR

307 003662 112770 000250 MOVE  AMIRR.(RO) ‘LOAD MODE BITS FOR IRR
308 003666 111137 002126 MOVB  (R1).$BDDAT

309 003672 023737 072124 002126 £MP $GDDAT, $BDDAT

310 003700 001401 BEQ 7%

311 003702 1C4003 ERROR 3 :IRR ERROR

312 003704 005037 002124 782 'R $GDDAT

313 003710 112710 000254 MOVEB  AMACR, (RO)

314 003714 111137 002126 MOVB  (R1),$BDDAT

315 003720 023737 002124 002126 CMP $GDDAT, $BDDAT

316 003726 001401 BEQ 108

317 003730 104004 ERROR 4 | :ACR ERROR

318 003732 005037 002124 10$:  CLR $GDDA)

319 003736 112710 000140 MOVE  #CHPISR,(RO)  ;CLEAR HIGHEST PRIOR TSR
320 003742 112710 000240 MOVB  AMISR, (RO) :LOAD MODE TO READ ISR
321 003746 111137 102126 N MOVB  {(R1),$BDDAT _

332 003752 023737 002124 002126 CMP $GDDAT, SBDDA

323 003760 001401 BEQ 11$

32% 002762 104006 ) EPROR 6 ;1SR REG ERROR

335 0037664 012737 101710 002124 11$: MOV £10,710,¥G7DAT  :RDY,DIR.I/E. CHIP - 31X
326 003772 010237 002122 MOV R2,$BDADR “CSRA ADDRESS

327 003776 011237 002126 MOV (R2) ,SBLCDAT

328 004002 042737 000007 002126 BIC #7.$BDDAT ;CLEAR UNDEF INED BITS
329 004010 023737 002124 00212¢ CMP SGODAT, SBDDAT

330 004016 001401 BEQ 128

331 004020 104002 ERROR 2 ;CSRA REG ERROR

332 004022 012737 100710 002124 12%: MOV #100710,$GDDAT +RDY,DIR, CHIP ~ 31X
333 004030 042712 001000 BIC #8IT9, (R2) "CLE*R I7E

33, 004034 011237 002126 MOV (R2) . $BDDAT *READ CSRA

335 006040 042737 000007 002126 BIC #7,SBDDAT “CLEAR UNDEFINED BITS
338 004046 023737 002126 002126 CMP SGDDAT, $BDDAT

337 004054 001401 BEO 138

338 004056 104002 ERROR 2 :CSRA REG ERROUR

339 (04060 005723 138:  TST R3) + *GET NEXT ISR.IMR EXPECTED RESULVS
3,0 004062 020327 012656 CMP R3.AEDC' PR ‘CHECK FOR END

341 004066 001404 BEQ 14§

34,2 004070 005237 002442 INC IMRLOC - INCREMENT MASK BIT TQ ibiR
3,3 004074 000137 003344 JMP 111s “TEST NEXT ISR BiT

344 004100 005337 002462 14%:  DEC GRPCNT “TESTED BOTH GROUPS?
345 004104 Q01406 Bc O TSY? “:BR IF DONE

3,6 004106 013700 002422 MOV DRCSC,RO “SETUP FOR GROUP 2

347 004112 013701 002426 MOV DRCSD R “(SRC = CONTROL GROUP 2

348 *CSRD = DATA  GROUP 2
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CVDRDB.P11 10-AUG~81 10:52 TEST CHIP INTERRUPT ,GROUP 1,GROIIP 2 SEQ 0025
gég 004116 000137 003306 JMP 1208 ;D0 GROUP 2
351
352 SIRARAKRRAETAAKARARR AL A RARARRKAERRE KRR KRR RRA R R h R Yk
(3) J*TEST ¢ TEST ACR/ISR INTERRUPT ,GROUP 1,GROUP 2
(3) I L L LT e e e L L e L e L 2 T
(2) 004122 000004 TST2:  SCOPE
353 004124 013700 00z412 MOV DRCSA,RO
354 004130 01370717 002416 MOV DRCSB,R1
355 004134 013702 002412 MOV DRCSA,R2
356 004140 012737 004212 002110 MOV #111%,8LPERR sSET _UP LOOP RETURN
357 004146 012737 000002 {462 MOV #2,GRPCNT ;DO TWO GROUPS
358 004154 004537 011014 120%: JSR R5,CLRCSR. sCLcAR ALL CSRS
359 004160 012703 012636 MOV A#BGCHP3 RS +EXPECTED GDDAT FOR ISR
360 004164 012737 Q00050 002442 MOV HCSIMR, IMRLOC  ;STORE ZLEAR SINGLE IMR (CODE
361 004172 004537 011074 JSR RS, CLRIPR ;CLEAR IRR REGS
362 004176 012737 011644 000300 MoV #INTSRY,T00 ;STORE VECTOR ROUTINE
363 004204 012737 000340 000302 MOV #340,308 ;STORE PSW
X494 004212 005037 002436 111%: (LR INTFLG :CLEAR INT. FLAG
365 006216 012706 002100 MoVY #2100,SP :INIT STACK IN CASE OF ILLEGAL INT. LOOF
366 004222 042712 001000 BIC #8179,(RD) ;CLEAR INTERRUPT ENABLE
367 004226 112712 000242 MOVB #242,(R2) s CLEAR MASTER MASK GP1
368 004232 112710 000242 mMov8 #242, (R0 ;CLEAR MASTER MASK GP1,GP?2
369 004236 112710 000300 MovB #PACR, (RO} JPRESELECT ACR FOR WRITING
370 904242 1113 MOVB (R3),(R1) JNEXT BIT INTO ACR
371 QU444 112710 000340 MOVB #PVMA, (RO) sPRESELECT VECTOR MEM ADDR
372 004250 112711 000060 MovB #60,(R1) :WRITE VECTOR 300,BY0,LVO
373 004254 010037 002122 MOV RO,$BDADR ; STORE BUS ADDRESS
374 004260 112710 006060 MOVH #SIMR, (RO) ;SET ALL IMR BITS
375 004264 113710 002442 MOv8 IMRLOC, (RO) ;CLEAR MASK ON SINGLE BIT
376 004270 11271v 000202 mMovse #20c, (RO) ;LMDO4 - COMMON VECTOR
377 004274 106427 000000 MTPS #PR0
378 004300 152762 000002 000001 81358 #BIT1,1(R2) ;SET I/E,NO INTERRUPT
379 004306 005737 002436 TST INTFLG ;CHECK FOR INTERRUPTS
380 004312 001401 REQ 1%
381 004314 104017 FRROR 11 ;ERROR,ILLEGAL INTERRUPT
382 004316 005037 002436 1%: CLR INTFLG sRESET INT. COUNTER
383 004322 112710 000120 MOVB #SIRR, (RO} ;SET ALL IRR BITS
384 004326 106427 000340 MTPS #PR7 _
385 00433c 005737 002436 TST INTFLG sCHECK FOR NO IMTERRUPTS
386 004336 001401 BEQ ’$
387 004340 104011 ERFOR 11 ;ILLEGAL INTERRURTS
388 004342 005037 002436 2%: CLR INTFLG ;CLEAR INY. COUNTER
389 004346 106427 000000 MTPS #PRO
390 004352 112712 000241 Move #261.(R2) ;USED IN TEST OF GROUP 2
391 :ARM GROUP 1 CHIP TO PASS
392 JENABLE TO GROUP 2 CHIP.
393 004356 112710 000241 MOve #2641, (R0O) JARM THE (HIP
394 004362 112737 000001 002124 MOV #1,3GDDAT ;EXPECT ONE INTERRUPT
395 004370 013737 002436 002126 MOV INTFLG,$3DDAT  ;SHUULD HAVE ONE INTERRUPT
396 004376 023737 002124 002126 (MP SGDDAT, $BDDAT
397 0044046 001401 BEQ 33
398 004406 104012 ERROR 12 s INTERRUPT TEST ERROR
399 004410 106427 000340 3%: MTPS #PR7
400 004414 010137 002122 4$: MY R1,38DADR ;READY TO READ ISR REG.
401 004420 005037 002126 CLR $BDDLAT ,SET UP FOR BYTE READS
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P11 10~AUG-81 10:52
004424 005037 002124
004430 112710 000240
004434 111137 002126
004440 023737 002124
004446 00140
004450 104006
004452 116337 00000
004460 112710 000244
004464 111137 002176
004470 023737 002174
004470 00 401
004500 104,05 “ _
004502 11633/ wL(0001
0064510 112710 000250
004514 111137 002126
004520 023737 002124
004526 001401
004530 104003
004532 111337 002124
004536 112710 000254
004542 111137 002126
Q04546 023737 U02124
004554 001401
004556 104004
004560 Q05723
004562 020327 017456
004566 001404 ,
004570 005237 002442
004574 000137 0042172
004600 005337 0NN2462
004604 001406
004606 013700 002422
004612 013701 002426
004616 000137 004154
004622 000004
004624 G13700 002412
004630 01%701 062416
004634 O 70; 002412
004640 012737 000002
004646 0127Z7 000001
004654 004537 011014
004669 012737 000340
004666 012704 012636
004672 012737 000010
004700 01373? 00005
o706 012737 00013
004714 012737 000170
004722 004537 0115¢
004726 012737 004742

MACYT

002126

002124

002126

002124

002126

(02126

022110

306(1V63)
T2

CLR
MOVB
MOVB
{Mp
BEQ
ERAROR
5%: MOVB
MOV8
move
CMP
BEQ
ERROK
6%: MOVE
MOVB
MOVB
CMP
BEQ
ERROR
7%: MOVB
MOVB
MOvV8
CMP
BEQ
ERROR
10%: TST
CMP
BEQ
INC
JMP
11%: DFC
BEQ
M0V
MOV

JMP

$GDDAT
#MISR, (RO
(R1Y,$BDDAT
ggquT,saooAr

6
1(R3),$GDDAT
#MIMR ; (RO)
(R1),$BDDAT _
$GDDAT, $BDDAT

5
1(R3),$GDDAT
#MIRR , (RO)
(R1), $BDDAT
$GDDAT, SBDDAT
gs
(R3),$GDDAT
#MACR , (RO)
(R1),£BDDAT
$GDDAT, $BDDAT
108

4

{R3)+

R3 , H#EDCHP3
11$

IMRLOC
1118
GRPCNT
TST3

DRCSC RV
DRCSD,R1

120%

N 2
10-AUG-81 11:00 PAGE 2-3
TEST ACR/ISR INTERRUPT ,GROUP 1,GROUP 2

;SET UP LR BYTE EXPECTED
¢LOAD MODE TO READ ISR

JACR SHOULD CLEAR ISR

. ISR £RROR
:STORE EXPECTED
;LOAD MODE FOR IMR

; IMR ERRCR
;EXPECTED IRR
;LOAD MCDE BITS FOR IRR

;IRR _ERROR
JEXPECTED ACR

;ACR ERROR .
:GET NEXT ISR, IMR,IRR EXPECTED RESULTS
CHECK FOR END

:DCNE WITH GROUP TEST

: INCREMENT MASK BIT TO CL-:AR
:TEST NEXT ISR BIT

TESTED BOTH GROUPS?

::BR IF DONE

:SETUP FOR GROUP 2

:CSRC = CONTROL €RQUP 2
:(SRD = CATA  GROUP 2

:D0 GROUP 2

;;*************kttttttt*tt*t*t*ktﬁ*t**t********t**t*t*k**t***f***

TEST VECTOR ADDR MEM,LEV 0-7,8Y0-3,(204-1774),GRPS 1,2

;;t*ﬁt***ttt*tt**ttttt*ttt*t***********************ﬁ**********ﬁ**

JYTEST 3
TST3: SCPE
MOy
NO
MCY
MOV
1208: MOV
JSR
MOV
121%: MV
MOV
MOV
MoV
MOV
JSR
MOV

DRCSA,RO
DRCSH.R1
DRCSA, k2
#2.,GRPCN)
#1.BYNUM
45, CLRCSR
UMA, VECVAL
. AGCHP3, R4
" LVLENT
“,1MR, {MRLOC
: 5SIRR, IRRLOC
4CSISR. ISRLOC
RS TRPCAT
x112%, SLPERR

;D0 TWO GROUPS

YINIT FOR B8YTE COUNT 0
SCLEAR ALL CSRS )
*START VECTOR LEVEL 0.BY(E CJUNT 0
:EXPECTED ISR, IMR PATTERN
“COUNTER FOR 0~7 LEVELS
“STORE SINGLE IMR CODE
:STORE SINGLE IRR CODE
SCTORE CLEAR SINGLE ISR CODE
"RESTORE TRAP CATCHER

;STORE SCOPE LOOP

SE@ 0026




B 3
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CYDRD3 DRV11J DIAG TST PRI2 MALY11 306

CVDRDR.P11  10-AUG-B; 10:52 T3 TEST VECTOR ADDR MEM,LEV 0~7,BY0-3, (204=1774),GRPS 1,2 SEQ 0027
455 004734 012737 0UL2L4 002452 111%: Moy #204 ,VECLOC :START AT VECTOR 204
456 004742 106427 0003490 11261  MIPS  #340 ;
4§57 004746 012706 002100 MOV ¥2100,5P “INIT STACK IN CASE OF ILLEGAL INT. LOOP
W58 004752 042712 007000 BIC #BIT9. (R2) "CLEAR INTERRUPT ENABLE
459 004756 004537 011074 J3R RS, CLRIRR *CLEAR IRR REGS
460 004762 112712 000241 MOVB 4241, (R2) SUSED IN TEST OF GROUP 2
461 “ARM GROUP 1 CHIP TO PASS
462 *ENABLE TO GROUP2
463 004766 013703 002452 MOV VECLOC,R3 ‘GET VECTOR
464 004772 010337 002454 MOV R3,VECPAT
465 004776 006037 002454 ROR VECPAT :ROTATE VECTOR ADDR TWO RIGHT
466 005002 006037 02454 ROR VECPAT *TO WRITE VECTOR MEM ADDR.
467 005006 0127213 011700 MOV #INTBY4, (R3) "STORE VECTOR ROUTINE
468 005012 012763 000340 000002 MOV #340,2(R3) “STORE PSW
469 005020 005037 002436 CLR INTFLG *CLEAR INT. FLAG
/70 005024 013737 002472 002470 MOV BYNUM,BYCN ‘OYTE COUNTS OF 0-3
471 005032 13710 002456 MOVB  VECVAL, (RO) *PRESELECT VECTOR MEM ADDR
472 005036 113711 002454 113$: MOvB  VECPAT.(R1) :WRITE VECTOR
473 005042 005337 002470 DEC BYCNT *DONE WITH BYTE COUNT VALUE
474 005046 001373 ANE 113% *NO,LOAD VECTOR FOR WEXT BYTE COUNT
475 005050 010047 002122 MOV RO, $BDADR *SAVE BUS ADDRESS
476 005054 112710 000060 MOVE  ASIMR, (RO) *SET ALL IMR BITS
477 005060 113710 002442 MOVB  IMRLOC, (RO) TCLEAR MASK ON SINGIE BIT
478 005064 106427 00COU0 MTPS  APRO
409 005070 1127:0 000241 MOVB  #241.(RO) ;LMDS? = ARM THE CHIP
(20 005074 005737 002436 TST INTFLG ‘CHECK FOR INTERRUPTS
+81 005100 001403 BFQ 1
482 0J5102 104017 ERROR 1 ;ERROR, ILLEGAL INTERRUPT
483 (05104 005037 002436 1%: CLR INTFLG CRESET INT. COUNTER
48, 005110 113710 002446 MOVB  :RRLOC, (RO) *SEY SINGLE IRR BIT
485 005114 100427 000340 MIPS  #PR7
486 005120 005737 002436 ST INTFLG :LHECK FOR NO INTERRUPTS
487 005124 G01401 BEQ 3
488 005126 104011 ERROR 11 :ILLEGAL INTERRUPTS
489 005130 005037 002436 28: CLR INTFLG ‘CLEAR INT. COUNTER
490 005134 106427 000000 MIPS  APRO
491 005,40 152762 000002 000001 BISB  ABIT1,1(R?) :SET I/E,EXPECT INTERRUPT
492 005146 013737 002472 002124 MOV BYNUM SGDDAT  :EXPECT 1 TO & INTERRUPTS
493 | | ‘BASLD ON BYTE COUNT VALUt
494 005154 017737 002436 002126 MOV INTFLG,$BDDAT  :SHOULD MAVE 1 70 & INTERRUPTS
495 *BASED ON BYTE COUNT VALUE
496 005162 023737 002124 002126 CMP $GDDAT, SBDDAT
497 005170 001401 BEQ 3s
498 005172 104012 FRROR 12 :INTERRUPT TEST ERROR
499 00517¢ 106427 000340 3$:  MIPS  #PR7
500 005200 010137 002122 Ry MOV R1,$BDADR ;READY TO READ ISR REG.
501 005204 005037 002126 CLR $BODAT *SET UP FOR BYTE READS
502 005210 005037 002124 (LR $GDDAT :SET UP FOR BYTE EXPECTED
503 005214 111437 002124 MOVB  (R&).SGDDAT “EXPECTED DATA
504 005220 112710 000240 MOVB  AMISR, (RO) *LOAD MODE TO READ ISR
505 005204 111137 002126 MOVA (R1),$BDDAT
506 005230 023737 002124 002126 CMP $GDDAT, SBDDAT
507 005236 001401 BEQ 5§
508 005240 104006 ERROR 6 ;ISR ERROR
509 005242 116437 000C01 002124 58: MOVB  1/R4),$GDDAT  :STORE EXFECTED
510 005250 112710 00064 MOVB  AMIMR. (RO) :LOAD MODE FOR IMR
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CVDRDB.P11 10-AUG-81 10:52 13 TEST VECTOR ADDR MEM,LEV 0-7,BY0-3,(204-1774) ,GRPS 1,2 SEQ 0028
511 005254 111137 002126 MOVB {R1,,$BDDAT
512 005260 023737 002124 002126 CMP $GDDAT ,$BDDAT
513 005266 001401 BEQ 6%
514 005270 104005 ERROR 5 ; IMR ERROR
515 005272 005037 002124 6%5: (LR $GDDAT
516 005276 132710 000250 MOVB #MIRR, (RO) sLOAD MODE BITS FOR IRR
517 005302 111137 002126 MOvVB (R1) ,$8DDAT
518 005306 023737 002124 002126 CMP $GDDAT ,$BDDAT
519 005314 001401 BEQ ’$
520 005316 104003 ERROR 3 :IRR ERROR
5¢1 005320 005037 002124 78: CLR $GDDAT
£22 005326 112710 000254 Movs AMACR , (RO)
523 005330 111137 002126 MOov8 (R1),$BDDAT
524 005334 025737 002124 002126 {MP $GDDAT , SBDDAT
525 005342 001401 BEQ 108
526 005344 104004 FRROR 4 ;ACR ERROR
527 005346 005037 002124 10%: CLR $GDDAT
528 005352 113710 002474 MOVS ISRLOC, (RO) ;CLEAR SINGLE ISR BIT
529 005356 112710 000240 MOVB #MISR, (RO) ;LOAD MODE TO READ ISR
530 005362 111137 002126 MOVE  (R1),$BDDAT
531 005366 023737 002124 002126 CMP $GDDAT, $BDDAT
532 005374 001401 BEQ 11%
533 005376 104006 ERROR 6 ¢ ISR REG ERROR
534 005400 004537 011432 11%: JSR RS ,RESTRP :RESTORE VECTOR JUST TESTED
535 005404 005737 017374 TST KXTFLAG ; KXT11 22 ; : GPA
536 005410 001404 BEW 100% : BR IF NOT ;1 GPA
537 005412 022737 000400 002452 CMP #400,VECLOC ; YES, FINISHED 704-374 2? : :GPA
538 005420 000403 403 : SKIP NEXT TO FIND OUT : :GPA
539 0054,'¢ _ 1008 : 16PA
540 0054c2 022737 002000 002452 CMP #2000, veCLOC s FINISHED?
561 005430 0017402 GEG 128 *FINISHED VECTORS 20417747
42 005432 000137 004742 JMP 112% sTEST NEXT VECTOR ADDR
543 D05436 005724 12%: TST (R4)+ :INDEX EXPECTED ISR AND IMR PATTERN
S44 (05440 005237 002442 INC IMRLOC ;STORE CLEAR FOR NEXT MASK BIT
545 0056444 005237 0026446 INU 1RRLOC ;STORE SET FOR NEXT IRR BIT
546 005430 005237 002444 INC 1SRLOC ;sSTORE CLEAR FOR NEXT ISR BI7
547 005454 005237 0072456 INC VECVAL JSETUP TO TEST NEXT_VECTOR LEVEL
548 005460 005337 002466 DEC LVLCMT ;FINISHED LEVELS 0-7
549 0NS464 00164072 _ RFQ 153 ;YES,CHECK BYTE COUNT END
55C 005466 000137 004734 . JMpP 111% sNO,DO NEXT LEVEL
551 005472 005237 002472 13%: INC BYNUM : INDEX BYTE COUNT
552 005476 104407 , CKSWR ;LOOK FOR SWITCH CHANGE REQUEST
553 005500 027737 000400 002456 CMP #400, VECVAL SFINISHED ~ALL BYTE COUNTS 0-3
554 005508 001402 . BEQ 14% SFINISHED TWO GROUPS?
ggg 005510 000137 004666 JMP 1218 :Egv?E§TUB;TE COUNT FOR
557 005514 005337 002462 14%: DEC GRPCNT ;FINISHED TWO GROUPS?
558 005520 001406 BEQ TST4 ;.BR IF DONE
559 005522 013700 002422 MOV DRCSC, «0 ;CSRC = CONTROL GROUP 2
560 005526 013701 002426 MOV DRCSD ,R1 :CSRD = DATA GROUP 2
561 005532 000137 004646 JMP 120$ ;DO GROUP 2 FOR BYTE COUNTS 0-3
962 sAND LEVELS 0~7 FOR EACH BYTE CUUNT.
364
565 DIRRARRRARK AR R R A ER AR E R RN AN AR R RNANNA KR AR R R RAANN RN AN RR RS
(3 ;*TEST 4 TEST VECTOR ADDR MEM,LVLS 0-7,BY0-3,(U-200)GRPS 1,2
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CVDRDR.P11  10~AUG-81 10:52 TEST VECTOR ADDR MEM,LVLS 0-7,BY0-3,(0-200)GRPS 1,2 SEG 0029
(3) ; ;t********w*******!.*******************k*ﬁ***********************
(2) 005536 000004 TST4:  SCOPE
566 003540 013700 002412 MOV DRCSA, RO
567 005544 013701 002416 MOV DRCSB.R1
568 005550 013702 002412 MOV DRCSA,R2
569 005554 U12737 000002 002462 MOV #2 ,GRPCNT ;D0 TWO GROUPS
570 005562 012737 000007 002472 1208: MOV #1.BYNUM YINIT FOR FIRST BYTE COUNT
571 005570 004537 011014 JSR RS,CLRCSR  :CLEAR ALL CSKS
572 005574 012737 00034) 002456 MOV #PVMA VECVAL  +START VECTOR LEVEL O,BYTE COUNT 0
573 005602 012704 012636 1218: MOV #BGCHP3, R4 1SR, IMR PATTERN
574 005606 012737 000070 002466 MOV HB. LVLCNT :START LEVEL COUNT 0-7
575 005614 012737 000050 002442 MOV #CSIMR,IMRLOC  :STORE CLEAR SINGLE IMR BIT CODE
576 005622 032737 0C0130 002446 MoV #SSIRR.IRRLOC  :STORF SET SINGLE IRR BIT CODE
577 005630 012737 005642 002110 ) #1128 ,$LPERR  :LOOP RETURN
578 005636 005037 002452 1118:  CLR VECLOC *START AT VECTOR 0
579 005642 106427 000340 1128: MIPS  #340 : _

580 005646 012706 00¢100 MOV #2100,SP *INIT STACK IN CASE OF I1{i.CGAL INT, LOOP
587 005652 0427:2 007000 BIC #BIT9. (R2) $CLEAR INTERRUPT ENARI ¢

582 005656 004537 011074 JSR RS,CLRIRR :CLEAR IRR REGS

583 005662 112712 (0241 MOVB #4241, (R2) :USED IN TEST OF GROUF 7

581, :ARM GROUP 1 CHIP_TO Pis«

585 ENABLE TO GROUP 2.

586 005666 013703 002452 MOV VECLOC,R3 GET VECTOR

587 005672 004537 012024 JSR RS, CAT00 *STGRE TRAP CATCHFR "0R T -200
588 005676 0710337 002454 MOV R3,VECPAT .
580 005702 006037 002454 ROR VECPAT :ROTATE VE~ JOR AD:R i*ig 0IGHT
590 005706 006037 002454 ROR VECPAT :TO WRITE VECTOR ™t 43LA.
501 005712 012713 012124 MOV AINTSR3,(R3)  :STORE VECTOR ROULTIN:

592 005736 012763 0003450 000002 MOV #3402 (R3) :STORE PSW _

593 005724 005037 002435 CLR INTFLG :CLEAR INY. FLA:

594 005730 013737 002472 002470 MOV BYMUM,BYCNT (BYTE COUNT OF ( Y0 °

595 _ *FOR i TO & VECTGR. .

596 05736 113710 002456 MOVB  VECVAL, (RO) :PRESELECT VECTOR Me* ApRR
597 005742 113711 002454 1138:  MOVB  VECPAT, (R1) :WRITE VECTOR

598 105746 005337 002470 DEC BYCNT D0 1 TO 4 VECTOR: _
599 005752 001373 BNF 113$ *WRITE VECTORS BASD fidf BY (T CUUNT
600 005754 010037 00122 MUV R0, $BDADR *SAVE BUS ADDRESS

601 005760 112710 000060 MOVB  #SIMR,(RO) :SET ALL IMR BITS

602 005764 113710 002442 MOVB  IMRLOC, (RO) *CLEAR MASK ON SIMui' ©1Y

603 005770 106427 000000 MTPS  APRO o

604 005774 112710 000241 MOVB  #241, (RO) :LMDS7 - ARM TH: i’

605 006000 005737 002436 TST INTFLG ;CHECK FOR INTERRUP::

606 006004 001405 BEQ 13 )

607 006006 004537 011374 JSR RS, FRMBU} ;RESTORE 0-~20:

608 006012 104011 ERROR 11 ERROR, ILLESA!. INTHRRUPT

609 006014 004537 012024 JSR RS,CAY200 “RESTORE TRAP CATUHFR

610 006020 005037 002436 18: (LR INTFLG IRCSET INT. COUNTI™-

611 006024 113710 0CZ446 MOVB  IRRLOC, (RO} :SET SINGLE IRY 8.

612 006030 106427 000340 MTPS  AFR7

613 006034 005737 002436 TST INTFLG ;CHECK FOR NO INTERARTS

614 006040 001405 BEQ 23

615 006742 004537 011374 JSR R5, FRMBUF ;RESTORE 0-202

616 006046 104011 ERROR 11 PILLEGAL INTERRUFTS

617 006050 004537 012024 JSR RS.CAT200 TRESTORE TRAE Cafi'ip

618 006054 005037 002436 28: CLR INTFLG ICLEAR INT, COUNTER

619 006050 106427 000000 MTPS  #PRO

T e e L e T PP
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000001
002124

002126
002126
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002724

002126

002126
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38:
4%

5%:

6%:

7%:

10%:

11%:
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10-AUG=81 11:09 PAGE 2-7 N ,
TEST VECTOR ADDR MEM,LVLS 0-7,8Y0-2,(0-2003IGRPS 1.2

BISB
MoV

MoV

crp
BEQ
JSK
ERKOR
JSR
MTPS
MOV
CLR
CLR
Mov8
MovB
MOVB
CMP
BEQ
JSR
ERROR
JSR
MOVB
MOVB
MOVE
CMP
BEQ
JSR
ERROR
JSR
CLR
MOV8
MOVC
CMP
BEQ
JSR
ERROR
JOR
CLR
MOVB
Move
CMP
BEQ
JSK
ERROR
JSR
{LR
MOvB
Mov8
MCVB
TMP
BEY
JSR
CRROR
JER
JSR

#BI11,i (R2)
BYNUM, $CDDAT

INTFLG,$3DDAT
§gDDAT,$BDDAT
25 .FRMBUF

12

RS.CAT200
APR7
R1,$BDADR
$BDDAT

SCDLAT
(R4) , SGDDAT
#MISR, (RO
(R1).$8M% .
?gDDAT.iaobAT

R5.FRMBUF
6

RS, CAT200
1(R4) , $GDDAT
AMIMR . (RO)
(R1), $BDDAT
2gDDAT.$BDDAT

gS,FRMBUF

RS, CAT200
$GDDAT

¥MIRR, (RO)
(R1) . $BDDAT
%gDDAT.SBDDAT

§S,FRHBUF

RS,CAT200
$GDDAT

#MACR, (RO)
(R1) . $BDDAT
?GDDAT.SBDDAT

0s
ES.FRHBUF

RS, CAT200
$GDDAI

HCISR, (RO)
#MISR (RO)
(R17.$BDDAT
??gDAT.SBDDAT
Es,rnnaur

RS,(*.200
RS,KES200

:SET I/E,EXPECT SNTERIUPT

:EXPECT HUMBER OF TZTERRUPTS
'EQUAL TO BYTE CUINT,

s SHOULD HAYE SUMCFR (F iNTERRUPTS
YEQUAL TO BYTE fOUNY.

sRESTORE 0-20 )
*INTERRUPT TEST Zhsun

sRESTORE TRA CATCHER SUB

;READY T. KEAD ISR PEG.
ISET UP FOR BYT "EARS
:SET UP_FOR BYTi . PECTED
SEXPECTED DATA

:LOAD MODE TO READ ISP

:RESTORE 0-200

;ISR ERROR

*RESTORE TRAP CATCHCR
*STORE EAPECTED
:LOAD MODE FOR IMR

JRESTORI 0-202
; IMR _ERi{OR
;RESTORE CATCHER

cLOAD MODE BITS FUR IRR

¢RESTORE 9-207
; IRR _ERRUR
sRUSTORE TRAP CAVLHER

:RESTGRE 0-2C2
;ACR _ERFOR
;RESTORE TRAP { AVLHER

;CLEAR ISR
;LDAD YODE TO READ ISR

JRESTURE (20,

;ISR REG ERRIR .
SRESTORE TRAP ( VY(H'R
¢RESTORE VECYUR JUST TESTED

SEQ 0030
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MACY11 306(1063) 10-AUG-R7 11:00 PAGE 2 8.
T4 TEST VECTOR ADDR ME“.IV

002452

002456

002456

JSR
CMP
BEQ
JMP
12%: TST
INC
INC
INC
DEC
SEQ
JMF
13%: INC

CKSWR

CMP
BEQ
JMP

14$: DEC
BEC
MOV

MOV
JMF

15%: JSR

:;titt****t**********ii*ttt*****ttiiﬁ**wtt AA L

TEST VECTOR ADDR UNJQUEMESS [l

JRTEST 5

R5 . FRMBUF
#2064, VECLOC
128

112¢%
(Ré)+
IMRLOC
IRRLOC
VECVAL
LYLCNT
3%

GRIMCNT
15%
DRCSCT,RO

DRCSD,R1
1208

R5,FRMBUF

0-7.BYC-3.(0=-20UGRPS 1,2

;RESTURE (=200 V7 SYSMAC CONTROL
:FIN{SHED?

;TEST NEXY VELTOR ADDR
JYTMDEX EXPECTED PSSk ANl MR PATTERN
JSTORE CLEAR H=xY IMR [IT
JSTORE SET M7 IRR RIT

JSETUR YO TEST NEXT VEUTOR LEVEL
FJNIJH[D LLVELS & 77

YES,CHECK BYTFE CiMUNY END
;NU.nO NEXT LBV GYTE COUNT
SINDEX BYYE Conisr
JLOC. FOR SWTLH CHANGE
JFINIZHED ALL 7OUR v COUNTS
SYES,FINISHED GROP
JNOLDC NFEST BYTE YGUNY WITH
'EVELS O-7? _ )
F'MIaHED BOTH &Rl 1 AND GROUP 27
JYES,BOTH GROUPS TFSTOD
INC, oS8T GROUM 2 .
JCSRC = (ONTRUL ukMp 2
JCSRD = DPATA &R
;RETURN'th TESY ‘sﬂ'dﬂ
;FOR BYTE COLTx (-3 AND
JLEVELS (=7 FaR iatl @vie COUNT,
JRESTORE (=200, FXIT VEST

SEQ 0031

LN

EEFENE S A2 2 23S 2 4] 2N

Flied mopt FOR GRPS 1.2

JINNARKAARNAAARXARAAAR AR L AA AL AR ARtk ky Ax ik iud iydobhdhhhhkhd

TSTS:

JSR
JSR
JSR
JSR

MOV
JSR
MOV
JSR

MOV
MoV
MOV
MOV
rov
MOV
MOV8
MOV
MOV6
(LR
MTPS
MOV8

SCOPE

RS,CLRCSR
R5,CLRBF

R3 ., TRPCAT
R5,STRVEC

#377 ,VECVAL
R5,CLRIRR
#VBUF R4
RS, VECFIL

#SETVEC RS
DRCSA.R(
DRCSC.R1
CRCSB.R?
DRCSD.R3
RO, $BOADR
#PACR, {RO)
#377,(R2)
#CIMR, (RO)
INTFLG
#PRO
#SIRR, (RO)

:BYTE COUWT = 4
SLEVELS < 07
SCLEAR ALL #3145
:CLEAR VECY( Tt vy
:RESTORE TRAE (A £l

AKFA

STORE VECTOR ANis <00-674
SWITH INT. s&av LTS
TVECTOR MEM 5 'NAL V4D UE

;CLEAR IRR RE(.

sYECTOR ADDRESS [o)F .0

SFILL VECIOR FEsTRy 01 GROUPS 1,2
*JITH VECTURS 3G0-0

: RS POINTS in ciMui HANDLER  ;:GPA
;GROUR 1 35

;GROUP 2 CSR

;STORE BUS ADLR! 3

JPRESELECT GPI 10, - 0% WRITING
SSET ALL ACR 81, . 0"

;CLEAR ALL iMn 2019 571
;CLEAR INT. :i46

sSET ALL ]RR BiV:
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CVDRDB.P11 10~AUG-81 10:52 TEST VECTOR ADDR UNIQUENESS I FIXED MODL 137 GRFS 1,2 SEQ 0032
729 006654 112710 000241 MOVE  #241,(RO) ;LMD57 - ARM THE (HID
730 006660 1064c? 000340 MIPS w340 o
731 006664 00573 002436 IS INTFLG (CHECK FOR NO INTERAIL IS
732 006670 001401 BEQ 18 ]

733 006672 104011 ERROR 11 ;ILLEGAL [NTERRUFT

734 006674 005037 002436 1$: CLR INTFLG | | )
735 006700 112711 000300 MOVE  #PACR, (R1) ;PRESELECT GROURZ !0y WRITING
736 006704 112713 000377 MOVB  #377,(R3) :ALL ACR BITS SET Gt
737 006710 112711 000040 MOVB  #CIMR, (RD) ;CLEAR AL IMR BIYS ¢2
738 006714 106427 000000 MTPS  #PRO

739 006720 112711 000120 MOVB  #SIRR,(R1) :SET _ALL IRR BITS

740 006724 112711 000241 MOVB  #241,(R1) :LMD57 = ARM THE Chir
741 006730 106427 000340 MIPS  #PR7 * '
742 006734 Q05737 002436 TST INTFLG ;CHECK FOR NO INTERRLFTS
743 006740 001401 BEQ s

744 006742 104011 ERFOR 11 : ILLEGAL INTERRUPT

745 006744 005037 002436 2$: CLR INTFLG

746 006750 106427 C)0000 MTPS  #PRyu o
747 006754 152760 000002 000001 BISB ¥8IT1,1(RO) ;SET INT  ENABLE b2 ¢ INTERRUPT
748 006762 032737 000100 002124 MOV #64 .  $GDDAT JEXPEC: 64 INTCRRUP >
749 006770 013737 0u2436 002126 MOV INTF(G,$BDDAT  ;SHCULD HAVE 64 INTS. “usoT$
750 006776 106427 000340 MTPS  APR7

751 007002 02373/ 002124 002126 CMP SGDDAT, $BDDAY

752 007010 001401 BEQ 3s

753 007012 104012 ) ERROR 12 ; INTERRUPT TEST ERROP
754 007014 032737 101710 002124 3$: MOV #101710 $GDDAT  :RDY,DIR,I/E,CHIP - .. X
755 007022 010037 (02122 MOV RO, SONADR : CSRA

756 007026 011037 002126 MOV (RO) , SBODAT

757 007032 042737 000007 002126 BIC #7,SBDDAT ;CLEAR UNDEFINED BITS
758 007040 023737 002124 002126 CMP $GDDAT, SBDODAT

759 007046 001401 BEQ 4%

760 007050 104002 ERROR 2 :USFA REG EPHOR

761 007052 012737 000310 002124 4$%: MOV #310, $GDDAT STUGAE EXPECTED

762 007060 010137 002122 MOV R1,$8DADR : CSRC

163 007064 011137 002126 MOV (R1),$BDDAT :

744 007070 042737 000007 002126 BiC #7 ,38DDAT ;CLEAR UNDEF INLD 9177
765 007075 023737 002124 002126 CMP $GDDAT, $BDDAT

766 007104 001401 BEQ 58

767 007106 104002 ERROR 2 ;CSRC ERR'IR

768 007110 010237 002122 5% MOV RZ,$BDADR ; CSRB ADDRESS

769 007114 005037 002126 CLR $EDDAT

/70 007120 095037 002124 CLR $GDDAT

771 007126 112710 000240 MOVE  #MISR, (RO) ;READ ISR

.72 007130 111237 002126 MOVB  (R2),.$BDDAT

773 007134 023737 002124 0021¢6 [MP $GDDAT, $BDDAT

774 007142 001401 BEQ 63

775 007144 104006 F.ROR 6 ;ISR ERRDR,GFPI

776 NR7146 112710 (00244 6%: ACYB AMIMR, (RO) ;MODE BITS KUK LR

777 007152 111237 002326 MOVB  (R2),$BDDAT

778 007156 023737 002124 002126 Mo SGDDAT, $BDDAT

/79 007164 001401 S Q /%

780 007166 104005 ERROR 5 : IMR ERROR, i1

781 007170 112710 000250 78 MOVB  #MIRR, (RO) :MODE BITS FCR IRR

782 007174 111237 002126 MOVB  (R2),$BDDAT

783 067200 023737 002124 002126 CMP $GDDAT,$BDDAT

784 097206 001401 BEQ 108
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TEST VECTOR ADDR UNIQUENESS IN FIXED MODE Fuil GRPS 1,2
ERROR 3 :IRR ERROR
108: MOV #377.,8GDDAT JEXPECTED ALK
MOVR #MALR, (RO) !READ ACR
MOVE  (R2).$BDDAT
CMP $GDDAT,$BDDAT
BEQ 113
ERROR 4 :ACR ERRDR
11%: CLR $GDDAT
CLR $BDDAT
MOV R3,$BDADR ;CSRD ADDRESS.
MOVB #HISR,(R1) JREAD ISR ,uP7
MOVB (R37,$BDDAT
CMP SGDDAT,$BDDAT
BEQ 12%
ERROR 6 \ :ISR_ERRUR, GP1
128: MOVB “MIMR, (R1: JREAD IMR GFZ2
MOVB (R3) .$BDDAT
CMP $GDDAT,$BUDAT
BEQ 15%
ERROR 5 :IMR ERROR,GFQ
13%: MOVB AMIKR,(R1) :READ IRR
MOv8 (R3) ,$B8DDAT
CMP $GDDAT,$BDDAT
BEQ 14%
ERROR 3 , : IRR EFRROR,GP2
14%: MOVB #MACR,(R1) JREAD ACR
MoV #3577 .8GDDATY
MOvB (R3) .$BDDAY
CMpP SGDDAT,$8BDDAT
BEQ 158 |
ERROR 4 :ACR ERR(R,GP2
158: MOV #6%.,R2 |
MOV #VBUF R4 SYECTOR BUFFER .
MOV #300, $GDDAT :START UI[H_FIRST VICTOR 300
16%: MOV R4’SBDADR :VECTOR BUFFER ADDAESS
MOV (R4, ,$BDDAT
CMP $GDDAT ¥$HDDAT
SEQ 17% ; VECTORED PHUPERLY
ERROR 7 JVECTUR ADDR MERM ERRUR
178:  AUD 44, $GDDAT )
TST KXTFLAG D KXT1Y 72 ;1 GPA
BEQ 10008 ; BR TF NGT N ;s GPA
{MpP $GDDAT,#40D) < YFS. REACHID vV UTOR 400 27 2:GPA
BLY 10008 ; NOT YET, CONTiM) $GPA
MOV #300,33DDAT ; YES, RESE™ kXFUCTiL TO 300 1 s GPA
10C0%: . ::GPA
ADD #2 R4 SNEXT BUFFER ADDiS
DEC Re JCOMPLETED 64 DU FES UHECKS?
BNE 16$ "CHECK NEX) YECTOR WUf ER LOCATION
*THAT WAS STOUEL 1+ iME INTERRUPT
JSERVYICE RQUIINEY,
;;t*ttititittiikiittittiiiﬁwiititlﬁtt.‘u*iiu [ EE RIS RN T IS TSN RS R 21
S*TEST 6 TEST VECTUR ACDR UNIQUEIESS IN RiTA%‘nG MODE FOR GRPS 1,2

P B e s ek AAAE e aemt e e e

H 3
11:00 PAGE 2-10

;;**t*****t*t**i#ttt*****ﬁ*****t***tt***ttﬁt*t*t*#?k**tt*i*******

SEQ 0033
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000340
002436

002436
000201
000040
000000
000120
000241
000340
002436

000109
000010
002436

MACY11

002456

002474

09000
002124
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002474
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TST6:

1%:

2%

100%:

101%:
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11:00 PAGE 2-11

TEST VeCTOR ADDR UNIQUENESS IN ROTATING RUDE FuUR GRPS 1,2

SCOPE

JSR
JSR
JSR
JSR

MOV
JSR
MOV
JSR

MOV
MOV
MOV
MOV
MDY
MOV
MOV
MovB
MOVB
LR
MTPS
MOVB
MovB
MTPS
757
KEQ
tERRUK
CLR
MOVB
MNVB
MTPS
MOVR
MOVB
MTrS
TS1
BEQ
ERROR
CtR
MTPS
B1S8
MOV
MOV
MTPS
rmp
BEQ
ERROCR
MCvB
MOVB
DEC
BNt
MOVB
MUV
(LR

RS, CLRCSR
R5.CLRBF

R5,TRPCAT
R5,STRVEC

w377 ,VECVAL
RS5,CLRIRR
#VBUF R4
RS, VECFIL

#SETVEC,RS
DRCSA, RO
DRCSC R
DRCSB,R?
DRCSD .R3S
RO, $8DADR
#8. LViSAY
#2017, (RO)
#(IMR, (RD)
INTFLG
¥PRO
#SIRR, (RO)
#241, (RO)
#340

#8171,1(R0)
#4,3GDDAT
INTELG, $BDDAT
¥PR7
$GDDAT,$BUDAT
100%

12

#LHPISR, (RO)
#SIRR, (RO)
LVLSAV

2%

#CIRR, {RO)
#8.,LVLSAV
INTFLG

sBYTE COUNT = &
JLEVELS = 0-7
LEAR ALL (SR>
LEAR VECTOR EULFUE AREA
ESTORE TRAP (CANCHER
TORE VECTOR AREA .00-874
ITH INT, SCGRV RCUTINES
ECTOR MEM FIMAL VALUE
LEAR JRIt REGH
sYECTOR ADDRESS BlLi-™tE
SFILE VECTIR MCROEY FOR GROUPS 1,2
;WITH VECTORS 3i)0-4r¢
: RS POINTS 0 CUMMiJN HANDLER. ;;GPA
:GROUP 1 (SR
;GROLP 2 (SR

;C
:C
;R
)
W
.V
:C

;STORE BUS ADPRISH
*COUNTER FOR 7 LEVED S
ROTATING PKIORITY SROUP 1
;CLEAR ALL IMR RIVZ GPI
:CLEAR INT. FLAY

:SET ALL IR% BIT3
TLMD57 = AR THE (¥1P

JCHECK FOR NO INILLSUPYS
s ILLTGAL INTLRRUKY

;ROTATING PRIORTYY TR HROUP 2
;CLEAK ALL IXR BlTa €P2

sSET ALL IRR BI!S
(LMD57 - ARM THE (if®

CHECK FOR NO INTL-RUPTS
s ILLEGAL INTERRUPT

;SET INT. ENABLF,U%r7T INTERRUPTS
JEXPECT & INJERRUCT!
JSHOULD HAVE & IVEXRUPTS

JINTERRUPT TEST -RKOR
JCLEAR HIGHE>T PRivilTY ISK
JSET ALL IRR BINS

;DONE 8 LEVELL . CROUS

sDO NEXT (EVE' N SGIATION
;CLEAR IR ¢}t 2ealp 1

;D0 8 LEVELS,(HOUP &

+CLEAR INY rLig

SEQ 0034
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LVDRDB DRV11J DIAG TSI PRT2 MACY11 30G(1063) 10-AUG-81 11.70 PAGE 2-10 ) n
CVDRDB.PI1  10-AUG-81 10:5? T6 TEST VECTOR ADDR UNIQUENESS IN Rf1.: !HG MODE FOR GRPS 1,2 SEQ 0035
894 010014 106427 000000 MIPS  #PRO
895 010020 012737 000004 002124 MOV #4, SGDDAT . _ , _
896 010026 013737 (02436 00212 MOV INTFLG,SBDDAT  ;SHOULD HAVE FOUR INTENRUPYS
897 Q14034 106427 000340 MTPS  APR7
898 010040 023737 002124 002126 CMP $GDDAT, $BDDAT
899 010046 001401 BEQ 1028 | _
900 030050 104012 ERROR 12 ;INTERAUP  TESY ERRUQ
901 010052 112711 000140 1028: MOVB  #CHPISR,(R1)  :CLEAR HiG:EST PRIOTITY 1SR
%0z 010056 112711 000120 MOVB  #SIRR, (R1) (SET A L {RE BiTS
903 010062 005337 002474 DEC LVL SAV :DONE » 1:VELS?
c04 010066 001350 BNF 101$ ;DO NUMY LrVEL IN ROTA1ION,GP?2
905 010070 112711 000100 | MOVB  #CIRR,(RD) TCLEAL TRR 3ITS,GRUUP [
906 010074 012737 101750 002124 3%: MOV #101750,8GUDAT  :RDY,DIR,1/0,CHIP - 5%
%07 010102 010037 002122 MOV RO,$BDADR : CSRA
908 010106 011037 002126 MOV (r0) , $BDDAT ‘
909 010112 042737 000007 002126 BIC #7 ,4BDDAT ;CLEAR 'NDFFINED BITS
910 010120 023737 002124 002126 CMP $GODAT, SBDDAY
911 010126 001401 BEQ 4$ ' |
212 010130 104002 ERROR 2 ;CSRA {6 {RROR
913 010132 012737 000350 002124 4$: MOV #350,$GDDAT SSTORE u € F TED
914 010140 010137 002122 MOV R1,$BDADR : CSRC
915 010144 011137 002126 MOV (R1) ,$BDDAT :
916 010150 042737 000007 002126 BIZ #7 ,SBDDAT *CLEAR V'N9. T (NED BITS
917 010156 023737 002124 002126 CMP SGODAT, $BDDAT
918 010164 001401 BEQ 5%
919 010166 104002 ERROR 2 -CSRC FRROR
920 010170 010237 002122 5%: MOY R2,$BDADR :CSRB ADDRE S5
921 010174 005037 02126 CLR $8ODAT
922 010200 005037 002124 (LR $GDDAT
923 010204 112710 000240 MOVE  AMISR, (RO) :READ ISR
924 010210 111237 002126 MOVB  (R2),$BDDAT
925 010214 023737 002124 002126 CMP SGDDAT , $BDNAT
926 010222 001401 BEQ 63
927 010224 104006 ERROR 6 : 1SR _ERROR,GP1
928 010226 112710 000244 68: MOVE  #MIMR, (RO) :MUDE BITS FOR IMR
929 010232 111237 002126 MOVB  (R2),$BODAY
930 010236 023737 002124 002126 CMP $GDDAT, SBDDAT
931 010244 001401 BEQ 7¢
932 010246 104005 ERROR S ; IMR ERROR,GP1
933 010250 112710 000250 7$: MOVB  MMIRR, (RO) :MODE BITS FOR IRR
934 010254 111237 002126 MOV (R2),$BDDAT
935 010260 023737 002124 002126 CMF SGODAT, SBDDAT
936 010266 001401 BEQ 108
937 010270 104003 ERROR 3 : IRR_ERROR
938 010272 112710 000254 108:  MOVB  #MACR, (RD) :READ ACR
939 010276 111237 002126 MOVE  (RZ),$BDDAT
940 010302 023737 002124 002126 CMP $GODAT, SEDDAT
941 010310 001401 BEQ 118
942 010312 104004 ERROR 4 ;ACR ERROR
943 010314 010337 Q02122 11%: MGV R3,$8DADR ; CSRD ADDRESS
944 010320 112711 000240 MOVB  AMISR, (R1) :READ ISR ,GP2
945 010324 111337 002126 MOVB  (R3),$BDDAT
946 010330 023737 002124 002126 (AP $GDDAT, $BDDAT
947 010336 001401 8¢ 12%
948 010340 104006 EHROR 6 : ISR FRROR,GF1
949 010342 112711 000244 128:  MOVB  #MIMR, (R1) TREAD IMR GP2
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111337
023737
001401
104005

112711

e e =R ol i i VE LV Lot B

062704
005302
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000241
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V02124

191700
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002124

000004
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002124
000300
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MACY11 3?2(?063)

002126

002126

002126

002124

002126

002126

002124

002126

002124

G00400
002124

10~AUG-81
MOV  (R3),$BDDAT
CMP $CDDAT,ERIDAT
BREQ 13%
ERROR 5
13$:  MOVB  AMIRR, (R1)
MOVE  (R3),$BDDAT
CMP $GDDAT, $BDDAT
BEG 148
ERROR 3
14%:  MCVE  AMACR. (RD)
MOVB  (R3),$8DDAT
LMP $GDDAT, $BODAT
BEQ 2008
ERROR 4
2008: CLRR  (RD)
CLRB  (R1)
MOV 4101700, $GDDAT
MOV RO, $BDADR
MOV (RO) . SBDDAT
BIC #7. SBDDAT
CMP $5DDAT, $BDDAT
BEQ 2013
ERROR 2
2018: MOV #200, $GDDAT
MOV R1.$BDADR
MOV (RY), SHDDAT
BIC #7.$8DDAT
CMP $GDDAT. $HODAT
BEQ 15%
ESROR 2
5% MO ¥64 . R2
MOV WVBUF , 4
MOV #300,$GDDAT
103: MOV R%, SALADR
MOV (R4), $BDDAT
CMF $GDDAY, $BDDAT
BEG 17%
ERROR 7
17%: ADD #4 ,SGDDAT
57 KXTFLAG
Bra 10005
CMF $GDDAT,#400
ALO 10008
MOV #4300, $GDDAT
1000%:
ADD 42 ,Rb
DEC RO
BNE 163

:DON'T REPORT 'END OF PASS® UNTIL ALL SELE

NXDEV: MOV
NXDEV1: CLC

DRCSALRT

— e e

K 3
11:00 PAGE 2~13
TESYT VECIOR ADDR UNIQUENESS IN ROTATING MGDE FOR GRPS 1,2

; IMR ERROR,GP2
JREAD 1RR

s IRR ERROR, GPZ
sREAD ACR

;ACR ERROR,GP2

JINIT GROUP 1 MODE BITS
+INIT GROUP 2 MODE BITS
JEXPECTED CSRA

;CSRA

;CLEAR UNDEFINED RITS
:CSRA REG ERROR

s STORE EXPCCTED

s CSRC

‘CLEAR UNDEFINED BITS

: CSRT ERROR

sVECTOR CUFFER
;START WITH FIRSY VECTOR 300
;VECTOR BUFFER ADDRESS

sYCCTORED PROPERLY
;VECTOR ADDR MEM ERROR

>OKXT1Y 22 ;1GPA
5 BR IF NOT 2 :GPA
; YES, REACHED VECTOR 400 ?2? JiGPA
* NOT YET. CONTINUE ;. GPA
. YES, RESET EXPECTED TO 300 :;g;ﬁ

JNEXT BUFFER ADDRESS

JCUMPLETED 64 BUFFER CHECKS?
;CHRECK NEXT VECTOR BUFFER LOCATION
;THAT WAS STORED BY THE INTERRUPT
:SERVICE ROUTINES,

ELECTeD DRVI1J'S HAVE BEEN TESTED.
JINIT TO SEYUP DRVYI) ADDRESS
;CLEAR CARRY FOR DEVIUE MAP

SEQ 0036
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CVDRDB DRV11J DIAC TST PRT?2 MACY11 30G6(1063) 1 _
CVDRDR. P11 10-AUG~81 10:52 Té TEST VECTOR ADDR UNIGENESS IN ROTATING MODE FOR GRPS 1,2 SEQ 0037
1006 010640 006037 102434 ROR  DMAP ;LOOK_FOR NEXT DRV11J
1007 010644 001412 REQ  SEQP :BR IF ALL [ESTED
1008 070646 162701 000020 U8 #20,R1 INEXT DRVT1. STARTS -20 FROM PAST (SR
1009 010652 005237 (0220¢ INC SUNIT tUPDAT UNIT #
1010 010656 032737 000007 002434 BiT  #1,DMAP 1S UNIT SELECTED?
1011 C10664 001764 BEQ NXDEV1 :BR_IF NOT
1012 010666 000157 003200 Ji4P - NEXPAS FTEST NEXT DRVI1J
19%4 .SBTTL END OF PASS ROUTYINE
(1)
() T ANA NN NN AR AR R A AR AR AR R AR AR AR R AR Rk ke ko desek Ak kdekh k
(1) *'“CREHENT 1 * PA®S NUMBER ($PASS)
(1) sx1YPE "END F VXXX'' (WHERE XXXXX IS A DECIMAL NUMBER)
(1) ‘eIF THERES n . JR G0 TO IT
Q) :%IF THERE 1SN« ,JMPR TO STARTY
(1) 010672 SEOP:
(2 010672 000240 NOP
(1; 010674 UGS037 002102 CLR $TSTNM ;¢ ZERQ THE TEST NUMBER
(1) 010700 005057 002160 CLR $1IMES ::JERC THE NUMBER OF ITERATIONS
(1) 010704 005237 002176 INC LPASS ;s INCREMENT THE PASS NUMBER
(1) 010710 042737 100000 002176 BI( #100000,8PASS  ;;DON'T ALLOW A NEG. NUMBER
(1) 010716 005327 DEC (PC)+ ;:1.00P?
(1) 070720 00000 SEOPCT: .WORD 1
(1) 010722 003022 BGT $DOAGN i YES
(1) 010724 012737 MoV (PCI+,a(PCY+ s ¢RESTORE COUNTER
(i) 010726 000001 SENDCT: .WORD 1
(1) 010730 010720 . SEOPCT ,
(1) 010732 104401 010777 TYPE  SENDMG ;i TYPE "END PASS 4"
(2) 010736 013746 002176 MOV $PASS,=(5P) ;:SAVE $PASS FOR TYPEOUT
(2> 010742 104405 _ TYPDS ::G0 TYPE--0DECIMAL ASCI’ WITH SIGN
(1) 010744 104401 010774 TYPE +SENULL ;o TYPE A NULL CHARACTER
(1> 010750 013700 000042 $GET42: MOV a#4?2,R0 ;:GET MONITOR ADDRESS
£1) 010754 001405 BeQ $DOAGN ; ¢BRANCH 1F NO MONITOR
(1) 010756 000005 RESET :ICLEAR THE WORLD
(1) 010760 004710 SENDAD: JSR PC, (RD) +:G0 TO MONITOR
(1) 010762 000240 NOP :*SAVE ROOM
(i) 010764 000340 NOP LiTOR
(1) 010766 000240 NOP $PACTT
(1) 010770 - $DOAGN:
(1) 010770 000137 P AP+ ; ;RETURN
(1) 010772 003134 $RINAD: .WORD START1
(1) 010774 377 377 QU0 SENULL: .BYTE .0 ;NULL CHARACTER STRING
(1) 90777 015 0424712 042116 SENDMG: ,ASCIZ <15><12>/FND PASS #/




CVDRDB DRV11J DIAG TST PRTZ

CVDRDB.P11  10-AUG-81 10:52
1016
1017
1018
1019
1020
1021
1022 011014 010046
1023 011016 106427 000340
1024 011022 012737 000340
1025 011030 012737 000300
1026 ©11036 013700 002412
1087 011042 005037 002124
1028 011046 005037 002126
1029 011052 005010
1030 011054 105060 000005
1031 011060 005060 000010
1032 011064 105060 000015
1033 011070 012600
1034 011072 000205
1035
1038
1037
1038 011074 010046
1039 011076 013700 002412
1040 011102 105060 000011
1041 011106 112760 000001
1042 011114 005060 000002
1043 011120 105010
1044 011122 105060 000010
1045 071126 012600
1046 031130 000205
1047
1048
1049
1050 .
1051 011132 015700 002412
1052 011136 013701 002416
1053 011142 012702 0000C?
1054 011146 012737 00000
1055 011154 012737 0003790
1056 011162 012737 000010
1057 011170 113710 002456
1058 011174 012737 000004
1059 011202 113731 002454
1060 011206 005237 002454
1067 011212 005737 017374
1062 01116 001407
1063 011220 023727 002454
1064 011226 103403
1065 011230 012737 00005C
1066
1067
1068 011236 |
1069 C11236 003337 002470
1070 011242 001257 ,
1071 011244 005337 002460

m 3
MACY11 30G6(1063) 10-AUG-81 11:00 PAGE 2-15

u02456
002452

000001

002454
002456
002466

002470

QU0100
002454

PROGRAM SUBROUTINES
.SBTTL PROGRAM SUBROUTINES

a2t 2322332243822t Rttt dd sttt il Ll Ll

<CLEAR ALL CONTRO. ’STATUS REGISTERS

;;ﬂtt*tk*tt*t&?*****tttt********ﬁ********************************

CLRCSR: MOV RG,=(SP) :SAVE RO
MTPS  APR7 PSW = 340
MOV APYMA . VECYAL  -INIT VECTOR ADDR MEM = 340
MCV #300,VECLOC TINIT VECTCR ADDR TO 300
MOV DRCSA,RO “START OF CSR ADDRESS
CLR $GDDAT “CLEAR EXPECTED
CLR SBDDAT “CLEAR REC'D
CLR (RO) TCLEAR CSRA;CHIP RESET GROUP 1
CLRB  5(R0) *CLEAR HIGH BYTE CSR8
CLR 10(R0) *CLEAR CSRC;CHIP RESET GROUP 2
CLRB  15(RD) ‘CLEAR HIGH BYTE CSRD
MOV (SP)+,RO *RETURN RO
RTS RS
sCLEAR IRR REGISTERS,GROUP 1,GROUP 2 WITH CHIP RESET
CLRIRR: MOV RO,~(SP)
MOV DRCSA,RO :START OF CSK ADDRESS
CLRB  11(RO} *CSRC TO INPUT MODE
MOVB  ABIT0,1(RO} *CSRA TO OUTPUT MODE
CLR 2(R0) :CLEAR DBRA
CLRB (RO} ;CHIP RESET OF GROUL®T
CLRB  10(R0) *CHIP RESET OF GROUP 2
MOV (5P)+.R0 "RESTORE REGISTER
RTS RS CEXIT
:ROUTINE TO FILL VECTOR MEMORY FOR VECTOR UNIQUENESS TEST
$300-474 GROUP 1
1500-674 GROUP 2
VECFIL: MOV DRCSA,RO :START GROUP 1
MOV DRCSB.R1
MOV #2 R2 ;TWO GROUPS
MOV #60 VECPAT ;VECTOR START 300
1% MOV #370 . VECVAL *START VECTOR LEVEL 0.BY4
MOV #8. .LVLCNT TLEVELS 0-7
28: MOVB  VECVAL, (RO)
MOV #4 .BYCNT :DO FOUR BYTE COUNTS
3$: MOVB  VECDAT, (R1) "WRITE VECTOR
INC VEC -AT ‘SETUP FOR NEXT VECTOR
TST KXTFLAG STKXT11 77 ;1 GPA
BEQ 10008 > BR IF NOT LICPA
CMP VECPAT,#100 * YES, REACED VECTOR 400 ?? t1GPA
BLO 10008 * NOT YCT, CONTINUE * I GPA
MOV #60,VECPAT * YES, WRAP=AROUND TO 300 AGAIN ::GFA
“ WE'(L END UP WITH 300-374... ::GPA
" ...REPLICATED &4 TIMES. : 1 GPA
'J00%: ; 1GPA
DEC BYCNT :DONE FOUR BYTE COUNTS?
BNE 38 ‘DO NEXT VECTOR
Ry DEC LVLCNT ‘DONE ALL LEVELS IN GROUP?

SEQ 0038




N 3
11:00 PAGE 2-16

CVDRDL DRV11J DIAG TST PRT? MACY11 306(1063) 10-AUG-81

CVDRDB. 10-AUG~81 10:52 PROGRAM SUBROUTINES SEQ D039
1072 011250 001403 BEQ 5%
1073 011252 005237 002456 INC VECVAL :INC NEXT LEVEL
1074 011256 000744 BR 2% :DO NEXT LEVEL
1075 011260 005302 5% DEC R2 :DONE BOTH GROUPS?
1076 011262 001405 BEQ 6% ;DONE ,EXIT
1077 011264 013700 002422 MOV DRCSC,RO ;DO GROUP 2
1078 011270 013701 002426 MOV DRCSD ,R1
1079 011274 000727 B8R 1%
%829 011276 000205 6% : RTS RS (EXIT
1082 , :ROUTINE TO STORE VECTOR AREA 300-674 WITH INTERRUPT SERVICE
1083 011300 0127 - 000300 STRVEC: MOV #300.R0 :START AT VECYOR 300
1084 011304 012701 012236 MOV #INTO. R *FIRST SERVICE ROUTINE
1085 011310 012702 000100 MoV 464, ,R2 :STORE o4 SERVICE ROUTINES
1086 011314 010170 1$: MOV R1, (RO} +
1087 011316 012720 000340 MOV #3540, (RO) +
1088 -:GPA  ADD #6.R1 ;SETUP FOR NEXT VECTOR STORAGE
1089 011322 062701 (00004 ADD 44 ,R1 ; SETUF NEXT VETOR. : : GPA
1090 011326 005302 DIC R? :DONE WITH 64 VECTOR ROUTINES?
91 011330 001371 HNE 1%
%ng 011332 000205 RTS RS JEXIT
1094 _ :ROUTINE TO CLEAR VECTOR BUFFER
1095 011334 012700 017160 CLRBF: MOV AVBUF ,RG sVECTCR BUFFER START
1096 011340 012701 000100 MOV #64 . ,R1
1097 011344 005020 1%: CLR (RO)+
1098 011546 005301 DEC R1
1099 011350 001375 BNE 1
1}8? 011352 000205 RiS RS
1102 :ROUTINE TO STORE 0-202 INTO BUFFER AREA TO ALLOW
1103 _ TVFCTOR TESTS TO 0-200.
1104 €11354 005000 TOBUF: CLR RO
1105 011356 012701 016754 MOV #DBUF ,R1 ;BUFFER START
106 011,62 012021 1$: MOV (ROY+. (RT)+ ;STORE €~202 INTO BUFFER
1107 011364 022700 000204 CMP 4204 ,R0 :FINITHED?
1198 011370 001374 BNE 1% *ND
1}?3 011372 000205 RTS RS *RETURN
1i11 :SYORE BUFFER AREA INTO LOCATIONS 0-202
1112 “AFTER VECTOR TESTS
1113 011374 010045 FRMBUF ; MOV R(. ~(SP) ;SAVE RO
1114 011376 010146 MOV R1,-(SP)
1115 011400 005000 CLR RO
1116 011402 012701 01675 MOV #DBUF ,R1 :BUFFER STA' T
1117 011406 012120 1%: MOV (R1)+,(RO)+ *STORE BUFFER INTO LOCS 0-202
1118 011430 022700 200204 CMP #204 ,R0 TFINISHED?
1119 011414 001374 BNE s IND
1120 (11416 013777 002460 MOV SWRSAV,3SWR :STORY LOCATION 176,SOFT SWR
1121 011424 012601 MOV ‘SP)+,R1 SRESTORE R1
1122 011426 012600 MOV (SP)+.R0 :RESTORE RO
}%gz 011430 000205 RTS RS *RETURN
1125 3 ;RESTORE VECTUR JUST TESTED TQ ORIGINAL TR/P FOR 204=1774
1126 011652 022737 000001 002210 RESTRP: (MP #1,$ENV :CHECK FOR APT
1127 011440 00.421 BEQ 13 ;YES,BRANLH
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CVDRDL DRY |

CVDRDB.P11  10-AUG-81 10:52 PROGRAM SUBROUTINES SEQ 0039
1072 011250 007403 BEQ 5%
1073 011252 005237 002456 INC VECVAL :INC NEXT LEVEL
1074 011256 000744 BR 2% ;DO NEXT LEVEL
1075 011260 005302 5%: DEC R2 :DONE BOTH GROUPS?
1076 011262 001405 BEQ 6% ;DONE,EXIT
1077 011264 013700 002422 MOV DRCSC,RO ;DO GROUP 2
1078 011270 013701 002426 MOV DRCSD,R1
1079 011274 000727 BR 1%
1839 011276 000205 6%: RTS RS SEXIT
1082 ] ;ROUTINE TO STORE_VECTOR AREA 300-674 WITH INTERRUPT SERVICE
1083 011300 0127 © 000300 STRVEC: MOV #300 RO ;START AT VECTOR 300
1084 011304 0312701 012236 MOV #JNTO R (FIRST SERVICE ROUTINE
1085 011310 012702 000100 MOV #64, A2 :STORE 64 SERVICE ROUTINES
1086 011314 010120 18: MOV R, (ROY+
1087 011316 012720 000340 MOV #340, (RO)+
1088 ZiGPA  ADD #6.R1 ;SETUP FOR NEXT VECTOR STURAGE
1089 011322 062701 000004 AbD 44 ,R1 ; SETUF NEXT VETOR. : : GPA
1090 011326 005302 DEC R2 :DONE WITH 64 VECTOR ROUTINES?
91 011330 001371 HNE 1$
163§ 011332 000205 RTS RS JEXIY
1094 :ROUTINE TO CLEAR VECTOR BUFFER _
1095 011334 012700 017160 CLRBF: MOV #VBUF ,RG ;VECTCR BUFFER START
1096 011360 012701 000100 MOV #64 . R
1097 011344 005020 18: CLR (RO} +
1098 011346 005301 DEC R
1099 011350 001375 BNE 13
418? 011352 000205 RIS RS
1102 :ROUTINE TQ STORE 0~ 202 INTO BUFFER AREA TO ALLOW
1103 | SVFCTOR TESTS TO 0-200
1104 011354 005000 ToBUF: CLR RO
1105 011356 012701 016754 MOV #DBUF ,R1 ;BUFFER START
1106 01i.62 012021 1$: MOV (RO)+, (R1)+ ;STORF C~202 INTO BUFFER
1107 011364 022700 000204 CMP #.04,R0 $FINITHED?
1108 011370 001374 BNE 1§ ;NO
%}?3 011372 000205 RTS RS :RETURN
1011 :STORE BUFFER AREA INTO LOCATIONS 0-202
1112 :AFTER VECTOR TESTS
1113 011374 010045 FRMBUF : MOV , ~(SP) ;SAVE RO
1114 011376 010146 MOV R1 .= (SP)
1115 011400 005000 CLR RC
1116 0116402 012701 016754 MOV #DBUF ,R1 ;BUFFER STA'T
1117 011406 012120 1%: MOV (R1)+, (RO) + :STORE BUFFER INTO LOCS 0-202
1118 0131410 022700 000204 (MP a?04 RO . FINISHED?
1119 M1414 001374 BRE :NOD
1120 (11416 013777 002460 170514 MOV sunsAv aSwR :STORE LOCATION 176,SOFT SWR
1121 11424 012601 MOV “SP)+,R1 ;RESTORE R1
1122 01126 012600 MOV {SP)+.RO :RESTORE RO
3;52 011430 000205 RTS RS :RETURN
1125 ) -RESTORE VECTUR JUSf TESTED TO ORIGINAL TR/P FOR 204=1774
1126 011432 022737 000001 002210 RCSTRP: (MP  #1,3ENV :CHECK FOR APT
1127 011440 00421 BEQ 18 ;YES ,BRANLH
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CVDRDB.P11 10-AUG~81 10:52 PROGRAM SUBROUTINES SEQ@ 0040
1128 011442 032777 010000 170470 BIT #SW12,aSWR ;CHECK TYPE OF TRAP RETURN
1129 011450 001412 BEQ 108 YRESTORE ILLEGAL VECTOR ROUTINE
1130 011452 062737 000002 002452 ADD #2 . VECLOC ‘RESTORE TRAP
1131 011460 013723 002452 MOV VECLOC, (R3)+  :7D VECTOR
1132 011464 005013 CLR (R3) *RESTORE HALT
1133 011466 062737 000002 002452 ADD #2 ,VECLGC ;SETUP FOR NEXT
1134 011474 000412 BR 28 *RETURN
1135 017476 012723 011752 108: MOV #TRPALL,(R3)+  -RESTORE ILLEGAL TRAP ROUTINE
1136 011502 000402 B8R 11$ ‘RESTORE PSW
1}35 01506 012723 011734 18 MOV #TRPOUT, (R3) + :§§563R§P¢Pr SUB TRAP
1139 011510 012713 000340 118: MOV w540, (R3) *RESTORE PSW SAVE
1140 011514 06273 000004 002452 ADD #4 . VECLOC “UPDATE FOR NEXT VECTOR
}}3% 011522 000205 28: RT3 R5 *RETURN
1143 :ROUTINE TO SET UP TRAP CATCHER 204-1774 IN STANDALONE MODE OR
1144 “A COMMON VECTOR ROUTINE SETUP UNDER APT,
1145 vecroq ROUTINE 1S USED ONLY IN AN APT ENVIRONMENT AND WILL STORE
}}2$ A COMMON SUSROUTINE IN VECTOR AREA 204-1774,
1148 011524 010046 TRPCAT: MOV RO -(SP) :SAVE RO
1149 011526 010146 MOV R1,-(SP)
1150 011530 022737 000001 002210 CMP #1.$ENV :CHECK IR APT
1151 011536 001426 BEQ APTVEC TYES.SEY UP TRAPS FOR APT
1152 011540 012700 000204 MOV #204 RO :START CATCHER AT 204
1153 011544 032777 019000 170366 BIT #SW1e,aSWR “TEST IF SW12 I5 SET
1154 011552 001010 BNE 1% SYES,BR AND STORE REGULAR TRAP
1155 “CATCHER(.+2,HALT) IN LOCATIONS
1156 2 204=1774
1157 011554 Q1720 011752 11%: MOV ATRPALL (RO)+ NO PLACE ILLEGAL VECTOR RETURN
1158 011560 01272t 000340 MOV #3460, (RO + *ROUTINES IN LOCATIONS 2064-1774
1159 011564 022700 002000 CMP #2000 ,R0 *STGAED ALL VECTORS?
1160 011570 001371 BNE 118
1161 011572 000421 BR ENDTRP :RETURN AFTER VECTOR S!ORAGEL
1162 011574 010001 1%: MOV RO 11 “DRVT1J CAN VECTOR 0-1774
1163 011576 005721 TST (R1)+
1164 011600 010120 MOV R1, (RO)+
1165 01160 005020 _ (LR RO +
1166 011604 022701 001776 (MP #1??6 R1 ;CHFUK FOR VECTOR END
1167 011610 001371 BNE
1168 011612 000411 BR ENDTRP CRETURN [N STAND ALONL MODE
11649 011614 012701 000204 APTVE(C: MOV #2046 ,R1 *STARTING VECTOR ADDRESS
1170 011620 012721 011734 1%: MOV #TRPOUT. (R1)+  -TLL INTERRUPT ROUTINE
1171 011624 012721 000340 A0V #3460, (R{)+ *PSW NEXT
1172 011630 022701 002000 LMP :2000 R1 CLONE?
1173 011636 001371 BNE ‘DO NEXT VECTOR
1174 011636 012601 ENDTRP: MOV tsp>+ R1
1175 011640 012600 MOV (SP}+ RO
;};9 011642 000205 RTS RE SEXTT
11/8 _ SINTERRUPT SERVICE RNDUTINE USL TO VERIFY [NTERRUPY: M-1774
1179 011 005237 002436 INTSR1: INC INTFLG sCOUNT INTERRUPT
1180 011 012737 000001 002124 MOV 21.8GDDAT “STGRE EXPECTED
1181 911 013737 002476 00216 MOV INTFLG,$BODAT  :SAVE INI. COUNI
1182 011 023737 002124 002126 CMP $GODAT.SBDDAT  :SHOULD BE ONE INTERRUPT
1183 0N 001401 REQ 13
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13 JMULTIPLE INTERRUPTS RECEIVED

FROGRAM SUBROUTINES
ERROR
1%: RTI

;RETURN FROM INT.

; INTERRUPT SERVICE ROUTINE USED TO VERIFY INTERRUPTS "04-1774
FOR A B'TE COUNT OF 1 TO &4 VECTORS IN VECTOR ADDR MEMORY.

INTBY4: INC
MOV
MOV
CMP
BGE
ERROR
1%: RTI
; COMMON
TRPOUT: MOV
JSR
ERROR
HALT
HALT

s COMMON_ILLEGAL

:206=1774

TRPALL : MOV
ERROR
RTI

;RESTORE VECTOR

RES200: (MP
BtQ
MoV
MOV
BR

MOV

MOV
ADD
RTS

1%:

28

sROUTINE TO SET
+A COMMON ERROR

CAT200: MGV
MOV

(P
BFQ
CLR
MOV
MOV
mp

1%:

APT200:
1%:

ILLEGAL

INTFLG ;COUNT INTERRUPT

BYNUM,SGDDAT ;STORE EXPECTED

INTFLG,$BDDAT  ;SAVE INT. COUNT

?EDDAY.SBDDAT ; INTERRUPTS SHOULD NOT EXCEED BYTE COUNT
13 ;MULTIPLE INTERRUPTS RECEIVED

JMORE INTERRUPTS THAN BYTE COUNT
;RETURN FROM INT.

VECTOR RETURN ROUTINE FOR *PT MODE.
(SP) ,$GDADR :SAVE ADDRESS OF TEST
R5,FRMBUF ;RETURN ' 'TATIONS 0-20¢
14 ;ILLEGAL VECTOR ADDR MEM ERROR
s CANNGT CONTINULC
; CANNOT CONTINUE

VECTOR RETURN ROUYINE FOR VECTOR AREA

(SP) ,$GDADR ;SAVT PC OF TEST

14 s ILLEGAL VECTOR ADDR MI' ERROR
;RETURN

JUST TESTED TO ERROR SUBROUTINE FOR 0-202

#1, SENV S CHECX FOR APT
1$ YES.,BRANCH
#TRP200, (R3)+  .ERROR 1RAP SUB. FOR 0-200
4340, (RS) psW
2% "RETURN
HTRPOUY, (R3)+  -RESTORE APT SUB TRAP
“IF ON APT
#340, (R3) "RESTORE PSW SAVE
¥4 VECLOC “UPDATE FOR NEXT VECTOR
RS *RETURN

UP TRAP SUBROUTINE 0-200 IN STANDALONE MODE OR
VECTOR ROUTINE SETUP UNDER APT.

RO, -{SP) :SAVE RO

ASWR, SWR3AV *SAVE LOCATION 176,SOFT SWR
#1,SENV C(HECK FOR APT

APt 200 SYES,.SET UP TRAPS FOR APT
RO *START CATCHER SUB AT 0
ATRP200, (RO)+  :STORE VECTOR TRAP SUBROUTINE
#3460, (RO + PSu

fgoa.no TFINYSHED 0=202

END200 :RETURN IN STAND ALONE MODE
RO *START AT VECTOR 0

ATRPOUT  (RO)+  ;VECYOR ERROR ROUTINE

#3640, (RO + ‘PSW NEXT

#204,R0 :DONE?

SEQ 0041

o e e |

. e e 4 e —————— e
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CVDRDB.P11 ~ 10-#UG-81 10:52 PROGRAM SUBROUTINES SEU 0042
1240 012104 001371 BNE 18 ;DO NEXT VECTOR
1241 012106 012600 END200: MOV (SP)+,RO
1262 012110 012713 012124 MOV WINTSR3,(R3)  ;STORE VECTOR ROUTINE
1243 012114 012763 000340 000002 MOV #340,21R3) ;STORE PSW
1e4h 012122 000205 RTS RS JEXIT
1
1247 ; INTERRUPT SER¥ICE ROUTINE USED TO VERIFY INTERRUPTS 0-200 BYTE COUNT 0-3
1248 | :FOR BYTE COUNTS OF 1 TO 4 VECTORS IN VECTOR ADDRESS MEMORY.
1249 012126 005237 002436 INTSR3: INC INTFLG ;COUNT  INTERRUFT
1250 012130 013737 002472 002124 MOV BYNUM,$GDDAT  :STORE EXPEC]ED
1251 012136 013737 002436 002126 MOV INTFLG,SBDDAT  :SAVE_INT. COUNT o |
1252 012144 023757 002124 002126 CMP  $GDDAT SRDDAT  INTERRUPTS SHOULD NOT EXCEED BYTE COUNI
1253 072152 002005 BGE 1% f
1254 012154 004537 011374 JSR  RS,FRMBUF ;RESTORE 0-202 BEFORE ERROR
1255 012160 104013 ERROR 13 :MULTIPLE INTERRUPTS RECEIVED
1256 :MORE INTERRUPT- THAN BY{c COUNT
1257 012162 004537 012024 JSR RS,CAT200 :RESTORE VECTOR SUBROUTINES
158 012166 000002 18:  RTI :RETURN FROM INT.
1260 | :COMAON ILLEGAL VECTOR ERROR RETURN ROUTINE FOR 0-200
1261 012170 011637 002120 TRP200: MOV (SP).SGDADR  ;SAVE PC OF TEST
1262 012174 Q04537 011374 JSR_ R5,FRMBUF :RETURN LOC 0-200
1263 012200 104014 ERROR 14 :ILLEGAL VECTOR ADDR i M ERROR
1264 012202 004537 012024 JSR R5,CAT200 :RESTORE VECTOR SUBROUTINES FOR PROCEED
1365 012206 000002 RT] :RETURN
1267 :VECTOR SERVICE ROUTINE FOR VECTOR UNIQUENESS TEST
1268 : SETVEC: MOV (RS)+,(R4)+  :STORE VALUE IN BUFFER ;GPA
1269 012210 017624 000000 SETVEC: MOV~ a(SP),(R&)+ ' STORE VECTOR NUMBER IN BUFFER ;;GPA
1070 012214 005726 ST (SP) :RESTORE STACK FOR RT!
1271 012216 005237 002436 INC  INTFLG ;COUNT INTERRUPT
1272 012222 022737 000100 002436 (MP MGk, INTFLG
1273 012230 002001 BGE 18 :64 EXPECTED INTERRUPTS?
1074 012232 104013 ERROR 13 ‘ERROR ,MORS THAN 64 INTERRUPTS
1375 012234 000002 1$:  RTI :RETURNFOR NEXT INTERRUPT
1277 ; INTERRUPT SERVICE KOUTINES THAT ARE STORED FROM 300-674
1278 ;IN_THE VECTOR UNIQUENESS TEST.
1279 : RS POINTS TO "'SETVEC:'' DURING TESTS 5 AND 6, AND CALLS ; : GPP
1280 : CHANGED FROM 'JSR RS,SETVEC'' T0 "SR PC,(R5'' TO CONSERVE  :1GPA
1281 : SPACE AND REMAIN UNDER ‘Kw TOTAL PROGRAM SIZE. :: GPA
1282 012236 004715 INTO: ~ JSR  PC,(R5) ;STORE 300 INTO VBUF,TO BE :GPA
1233 012240 000300 300 :CHECKED AFTER_ALL INTERRUPTS.
1284 012242 004715 INT1:  JSR PC,(RS) ;VECTOR UNIGUENESS TEST, INT. SERV RTN ;:GPA
1285 012244 00030% 304
1286 012246 004715 INT2:  JSR  PC,(RS) ;VECTOR UNIQUENESS TEST, INT. SERV RIN ;;GPA
1287 012250 000310 310
1288 012252 004715 iNT3:  JSR PC,(R5) ;VECTOR UNIQUENESS TEST, INT. SERV RTN ;;GPA
1289 012254 000314 314
1290 012256 004715 INTé:  JSR PC,(R5) ;VECTOR UNIQUENESS TEST, INT. SERV RIN ;:GPA
1291 012260 000320 320
1292 01262 04715 INTS:  JSR  PC.(RS) :VECTOR UNIQUENESS TEST. INT. SERV RIN ;:GPA
1293 012264 000324 324
129 012266 004715 INT6:  JSR  PC,(RS) ;VECTOR UNIQUENESS TEST, INT. SERV RTN ;:GPA
1295 012270 000330 330




CVDRDB D
CVDRDB.P

—
wy
Q
o

N (N N g LN N N A NN
PURUN) b = b b ol b h = ek == ()

B B B P B B B O A NN NG A N N R RO PR NI RO NI RO PO R N = = b et 2
NN = O G NO AL WA= OO~ N NN = OO0 ~ITN AP = OO

L L S U Lt LA N g R L Ll o i T N o N O L Crd AN L AN L

_._a_.;_a_..-.n__;...a,__;_.n_;_a_;_n_...n_;_a_. b el b s = il b JUEE W S W S G T W DR P B KR DN 1
LN'-HLH%LN
(W VL, W P
—= O O00~

MJ D
:

LN G LN LA AL A A A O NI
NI = b =t 2 O O O QI NN

SOOIV OON Y

ke b ik md i i D aed e el e D b
e,
n

AINI AN AU NI AIRI A IR PIASNI PRI RO MO RO RO R NI RO
Nl N
Ladlminin O
(o S8 2N L aalis

O DOCODOMNIOOOIDTOOCOoOOOOOCOO00 -3
A mi LN
F
£~

~

el il b e b nd el ks e s v andh

~nS
£~
o
F -

lolalelelelalalelelelelalels

i i ol i o el Bk ek D e
rOTORS PO PO NI RO
PO S SV A oF P o S o o g
NN PORO R = = —b 2 O
SrROCONNUOONNNOON

0o
o~
i
o

IAG TST PRTZ
J=-AUG~81 10:52

MACY11 30G(1063)

iNT7:
INTS:
INTO:

INT10:
INT11:
INT12:
INT13:
INT4:
INT15:
INT16:
INT17:
INT18:
INT19:
INTZ20:
INTZ21:
INTZ22:
INT23:
INT24:
INT25:
INT26:
INV27:
INT?8:
INT29:
INT30:
INT31:
INT32:
INT33:
INT34:

10-AUG-81 11
FROGRAM SUBROUTINES

JSR
334
JSR
40
JSR
344
JSR
350
JSR
354
JSR
360
JSR
364
JSR
370
JSR

PC, (R5)
PC. (RS}
PC,(R5)
PC, (R5)
PC. (R5)
PC, (R5)
PC.(RS)
PC.(R5)
PC,(RS)
PC.(R5)
PC, (R5)
PC,(R5)
PC.{(R5)
PC, (R5)
PC, (R5)
PC.(R5)
PC.(R5)
PC.(R5)
PC.,(R5)
PC.,(R5)
PC, (R5)
PC. (R5)
PC, (R5)
PC, (RS}
PC,{(RS5)
PC,(RS)
PC.(R5)
PC,(R5)

;VECTOR
s VECTOR
sVECTOR
sVECTOR
sVECTOR
;VECTOR
sVECTOR
;VECTOR
sVECTOR
sVECTOR
;VECTOR
;VECTOR
sVECTOR
sVECTOR
sVECTOR
sVECTOR
sVECTOR
:VECTOR
sVECTOR
sVECTOR
;VECTOR
;VECTOR
;VECTOR
sVECTOR
; VECTOR
sVECTOR
;VECTOR
sVECTOR

E_4
:00 PAGE 2-20

UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUEMESS
UNTCUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNJQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENIESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUEKESS

TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TESTY,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,

INT. SERV
INT. SERV
INT, SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERY
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERVY
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV

RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN

;:GPA
;s GPA
: :GPA
; :GPA
:.GPA
. :GPA
;1 GPA
;s GPA
::GPA
+ . GPA
. GPA
s s GPA
:.GPA
;s GPA
; :GPA
::GPA
;. GPA
;s UPA
:;GPA
s s GPA
;. GPA
::GPA
: :GPA
: s GPA
HMQOR
s ICPA
;. GPA
: :GPA

SEQ (D43
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CVDRDB.P11
1352 012452
1353 012454
1354 012456
1355 012460
1356 012462
1357 012464
1358 012466
1359 012470
1360 012472
1361 012474
1362 012476
1363 012500
1364 012502
1365 012504
1366 012506
1367 012510
1368 012512
1369 012514
1370 012516
1371 012520
1372 0125022
1373 012524
1376 012526
1375 012530
1376 012532
1377 012534
1378 012536
1379 012540
1380 012542
1381 012544
1382 017546
1383 012550
1384 012552
1385 012554
1386 012556
1387 012560
1388 012562
1389 012564
1390 012566
1391 012570
1392 012572
1393 012574
1394 012576
1395 012600
1396 012602
1397 012604
1398 012606
1399 (124810
1500 012612
1401 012614
1402 012616
1403 012620
1404 013622
1405 012624
1406 012626
1407 012630

004715
000514

o

<

[N ]

N
gy

000550
004715
000554
004715
000560
004715
000564
004715
000570
004715
000574
004715
000600
004715
000604
004715
000610
004715
000614
004715
000620
004715
000624
004715
000630
004715
000634
004715
000640
004715
000644
004715
000650
004715
000654
004715
(90660
004715
000¢64
004715
000670

MACY11 30G(1063)

INT35:
INT36:
INT37:
INT38:
INT3G:
INT40:
INT4T:
INT42:
INT43:
INT44:
INT4S:
INT46:
INT47:
INT4S:
INT49:
INTS50:
INTS51:
INT52:
INT53:
INT54:
INT5S:
INTS56:
INT57:
INTS8:
INTS59:
INT60:
INTO:
INTG2:

10-AUG-81 11
PROGRAM SUBROUTINES

DO L&HDVOVE OO

wto e waat L unc anc wna o unaone
NN SN SN NN W T NN — (N

DOV DCD L~

N

PC, (R5)
PC.(R3)
PC, (R5)
PC.(R5)
P”, (R5)
PC, (RS
PC. (R5)
PC, (R5)
PC, (R5)
PC. (R3)
PC, (R5)
PC, (R5)
PC, (RS)
P, (RS)
PC, (R5)
PC.,(R5)
PC, (R5)
PC. (R5)
PC. (R5)
PC, (R5)
PC. (R5)
PC,("5)
PC.{(R5)
PC. (RS)
PC, (R5)
PC. (R5)
PC. (RS)
PC, (RS)

;VECTOR
;VECTOR
;VECTOR
s VECTOR
:VECTOR
;VECTOR
:VECTOR
+VECTOR
;VECTOR
;VECTOR
; VECTOR
;VECTOR
;VECTOR
:VECTOR
;VECTOR
;VECTOR
:VECTOR
s VECTOR
;VECTOR
sVECTOR
;VECTOR
;VECTOR
;VECTGR
;VECTOR
;VECTOR
sVECTOR
;VECTOR
;VECTOR

F 4
:00  PAGE 2-21

UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNITQUENESS
UNIQUENESS
UNIQUENLSS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNIQUENESS
UNTQUENESS
UNIQUENESS
UNIQUENESS
UNITQUENESS
UNJQUENESS
UNIQUENESS
UNITQUENESS
UNIQUENESS
UNIQUENESS
UNJQUENESS

TEST.
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST.
TEST.
TEST,
TEST,
TEST,
TEST,
TEST,
TEST.
TEST,
TEST,
TEST.
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,

INT. SERV
INT. SERY
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INY. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT. SERY
INT. SERV
INT. SERV
INT. SERV
INT. SERV
INT, SERV

RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RTN
RIN
RTN

P .

PP Y E

SEQ 0044

B ]
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CVDRDB.P11  10-AUG-81 10:52 PROGRAN SUBROUTINES SEQ 0045
1408 012632 004715 INT63:  JSR PC,(R5) ;VECTOR UNIQUENESS TEST, INT. SERV RIN ;;GPA
12?8 012634 000674 674
112711]2 LSBTTL PATTERNS FOR REGISTER R/W
1413 ‘PAITERNS UtED FOR LOADING/READING REGISTERS
1414 ‘ISR IMTERRUPT SERVICE REGISTER
1415 ‘IRR  INTERRUPT RIQUEST REGISTER
mg “IMR  INTERRUPT MASK  REGISTER
1418 012630 001 376 BGCHP3: .BYTE 1,376
1419 012640 002 375 BYTE  2.375
1420 012642 004 373 'BYTE 4,373
1421 012644 010 347 "BYTE 10,367
1422 012646 020 357 "BYTE  20.357
1423 012650 040 337 "BYTE 40 337
1424 012652 100 277 "BYTE 100,277
1425 017654 200 177 BYTE 200,177
15'5(7’ 012656 000000 EDCHP3: 000000
1428
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CVDRDB.P11 10-AUG=81 10:5¢ SYSMAC ROUTINES SEQ 0046
?2%? SBTTL  SYSMAL ROUTINES
1%%% LSBTTL TYPE ROUTINE

(2) e L L LI L AL L AL L

(1) s*ROUTINE TO TYPE ASCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A ( BYTE.

1) :*THE ROUTINE WIiL INSERT A NUMBER OF NULL CHARACTERS AFTER 4 LINE FEED.

(1 :*NOTE1: SNULL CONTAINS THE CHARACTER TO BE USFD AS THE FILLER "HARACTER.

1) ;*NOTEZ2: $SFILLS CONTAINS THE NUMBER OF FILLER CHARAUTERS REQUIRED.

E}; :*NOTE3: $FILLC CONTAINS THE CHARACTER TO FILL AFTER.
ik

(1) JaCALL:

P :*1) USING A TRAP INSTRUCTION |

2%; ;*OR TYPE MESADR ;JMESADR IS FIRST ADDRESS OF AN AS{l. STRING
;i

1) s TYPE

(1) M MESADR

(1) 3

(1) 012660 105737 002157 $TYPE: T1STB $TPFLG ;31S THERE A TERMINAL?

(1) 012664 100002 BPL 1% ;:BR IF YES

(1) 012666 000000 HALT ;:HALT HERE IF NO TERMINAL

(1) 012670 000430 BR 3s s LEAVE

(1) 01267¢ 010046 1%: MOV RN,~(SP) ;1SAVE RO

(1) 012674 017600 000002 MOV a2{sSP) RO ::GET ADDRESS OF ASCIZ SYRING

(1) 012700 122737 000001 002210 (MPR NAPTENV,SENV JJRUNNING IN APT MODE .

(1) 012706 001011 _ -NE (2% ;:NO,GD CHECK FOR APT (ONSOLE

(1) 0127210 132737 000100 00¢e i1 BIT8B #APTSFGOL .SENVM ;. SPOOL MESSAGE TO APT

(1) 012716 001405 BEQ 6293 :JNO,GO CHECK FOR CONSOLE

(1) 012720 00037 012730 MOV R(O,61% ;5L TUP MESSAGE ADDRESS FOR APT

(1) 012724 004737 013222 . JSR PC.SATY3 :1SPOOL mESSAGE TO APT

(1) 012730 000000 £1%: MWORD O ; :MESSAGE ADDRED>S )

(1) 012732 132737 000040 002211 62%: BIT8B HAPTCSUP,SENVM ;. APT (ONSOLE SUPPRES>CELY

(1) 012740 001003 BNE 608 ;JYES,SKIP TYPE OUT i

(1) 012742 112046 P MOVB (ROY+,=-(SP) ;;PUCH CHARACTER TO BE TYPED OUNTO S1ALK

(1) 012744 001005 BNE [ ;:BR IFf IT ISN'T THE TERMINATOR

(1) 012746 005726 TST (SF. + ::IF TERMINATOR POP IT OFF THE STACK

(1) 012750 012600 W0%: MOV {SP)+ RO JJRESTORE RO

(1) 012752 062716 000002 3s: ADD #2,(SP) ;sADJUST RETURN PC

(1) 012756 000002 RTI J;RETURN

(1) 012760 122716 00001 48 (MPB A#HT, {SP) J:BRANCH [F <HT>

(1) 012764 001430 BEQ 8s

(1) 012766 122716 000200 (MPB #CRLF , (SP) ::BRANCH IF NOT <CRLF>

(1) 012772 001006 BNE 5%

(1) 0127724 005726 TST (SP)+ JPOP  <CR><LF> EQUIV

(1) 012776 104401 TYPE J:TYPE A CR AND LF

(1) 013000 002165 $CRLF

(1) 013002 105037 013210 CLRB $CHARCNT ;sCLEAR CHARACTER COUNT

(1) 013006 000755 BR 2% ::GET NEXT CHARACTER

(1) 013010 004737 013072 5%: JSR PC.STYPE(C ;:60 TYPE THIS CHARACTER

(1) 013014 123726 002156 6f. (MPB $FILLC,(SP)+ J:0S 1T TIME FOR FILLER CHARS.?

(1) 013020 001350 BNE pa’ 2:1F NO GO GET NEXT CHAR.

(1) 013022 013746 002154 MOV $NULL .- (SP) J:GET # OF FILLER CHARS. NEEDED

(1) ;J:AND THE NULL CHAR,

(1) 013026 105366 000001 7%: DE(CB 1(SP) ;:DOES A NULL NEED TO BE TYPED?

(1) 013032 002770 BLT 6% :3BR IF NO=--GO POP THE NULL OFF OF STALK
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013072
013210

000c40
013207¢
000007

167046
167042
177600
000023
167022
167016

177600
000021

167000

000002
0nco15

013210
000012

000001
000001

000001

013456
000001

SN O P P

MACY11

313210

166772
000002

000002

013460
013456

013460

002210

1 4
11:00 PAGE 2-24

B e S T U S

306(1063)  10-AUG-81
TYPE ROUTINE
JSR PC,S$TYPEC ::60 TYPE A NULL
DECB  $CHAPLAT L:D0 NOT COUNT AS A COUNT
BR 7$ 3 :LOOP
:HORIZONTAL TAB PROCESSOR
RS : MOVB &' .(SP) < sREPLACE TAB WITH SPALE
9% : JSR PC,$TYPEC S:TYPE A SPACE
BITB  #7,$CHARCNT *SBRANCH IF NOT AT
BNE 9s - TAB STOP
ST (SP)+ L POP SPACE OFF STACK
S TYPEC BR 2% L:GET NEXT CHARACTER
TST8  @$TKS ::CHAR IN KYBD BUFFER? :MJDOO1
BPL 10$ “YBR IF NOT “MJD001
MOV as$TKB, - {(5P) *GET CHAR *MJD001
BI( #177600,(SP)  *“STRIP EXTRANEOUS BITS ‘MJD001
CMPB  #SXOFF, (SP) - WAS CHAR XOFF *M.J0001
BNE 1028 :“BR IF NOT *MJDO01
101%: *MJDOO1
TSTB  @$TKS ;;WAIT FOR CHAR *MJD0O1
BP! 101% *MJD001
MOVB  a$TKB, (SP) ::GET CHAR *MJD001
BIC #177600, (SP) YISTRIP IT *MJDOGC
CMPB  #SXON, (SP) ST IT XON? *MJD0O1
BNE 101$ “:BR IF NOT “MJD0O1
1028 : *MJD001
TST (SP)+ ;:FIX STACK *MJD001
108: sMJDOO1
TSTB  a$TPS ;:WAIT UNTIL PRINTER IS READY
BPL 108 ;MJD0O1
MOVB  2(SP),asTPh ::LOAD CHAR TO BE TYPED INTO PATA REG.
CMPB  ACR,2(SP) <31S CHARACTER A CARRIAGE RETURN?
BNE 1$ < *BRANCH IF NO
CLRB  $CHARCNY s YES=<CLEAR CHARACTER COUNT
B8R $TYPEX CIEXIT
18 CAPB  MLF,2(SP) SIS CHA ACTER A LINE FEED?
BEQ $TYPEX “*BRANCH IF YES
INCB (PC)+ P :COUNT THE CHARACTER
$CHARCNT: . WORD 0 ++CHARACTER COUNT STORAGE
$YYPEX: RTS PC
LSBTTL APT COMMUNICATIONS ROUTINE
_-;tttt***tti*****t*tttttt*********tttttit*t*tii**tittit**t*******
$ATY1: MOVB  #1,$FFLG ; :TO REPORT FATAL ERROR
$ATY3: MOYB  #1.SMFLG “ITO TYPE A MESSAGE
BR SATYC |
gg;;g: MOVB  #1,$FFLG ;;TO INLY REPORT FATAL i:.R0R
MOV RO, ~(5P) :;PUSH RO ON STACK
MOV R1.=(SP) TPUSH R1 ON STACK
TSTB  $MFLG 1 :SHOULD TYPE A MESSAGE?
BEQ 5% “:IF NOT: BR
CMPB  WAPTENV,$ENV  ::OPERATING UNDER AP(?
BNE 3% ;:1F NOT: B8R

SEQ 0047

T
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000000

105777
00140
005737
001413
005737
001375
017637
062766
005237
105037
105037
ubh 105037
SC (17601
5¢ (12600
he  Q0Q2CT
oY 000
57 00y
6 00
OEILN
00020u
000001
0001C0
000040

E AP A AR

000190

000004
000002
002170

002204

002204

002206
000004

000004
000002
177776
012660

0 3460
002210
002170

000004
000002
00217C
13460
013457
015456
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002211

000004

0602170

013379
000004

002172
000004
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APT COMMUNICATIONS ROUTINE

B1T8B #APTSPOOL ,SENVM ; :SHOULD SPOOL MESSAGES?
BEQ 33 ;31F NOT: BR

MOV a4 (SP) ,RO 2 3GET MESSAGE ADDR.

ADD #2,4(8P) ::8UMP RETURN ADDR.

1$: TST SMSGTYPE ;;SEE IF DONE W/ 'AST XMISSION?
BNE 1% YUIF NOT: WAIT
MOV RO, SMSGAD *:PUT ADDR IN MAILBOX
2%: éggs §§°’+ TFIND END OF MESSAGE
5UB $MSGAD .RO ::SUB START OF MESSAGE
ASR RO T GET MESSAGE LNGTH IN WORDS

MoV RO, $MSGLGT
MOV #4 ,$MSGTYPE
BR 5%

38: MOV 24 (SP) ,4%
ADD #2 4(SP)
MOV 177776,-(SP)
JSR PC,STYPE

;sPUT LENGTH IN MAILBOX
;o TELL APT TO TAKE MSG.

;:PUT MSG ADDR IN JSR LINKAGE
. :BUMP RETURN ADDRESS

::PUSH 177776 ON STACK

*iCALL TYPE MACRO

g:: . WORD 0
10%: TS78 $FFLG ; :SHOULD REPORT FATAL ERROR?
BEQ 12% ;:IF NOT: BR
TST SENV JJRUNNING UNDER APT?
BEGQ 12% J2IF NOT: BR
118%: TST SMSGTYPE ;:FINISHED LAST MESSAGE?
BNE 11% JoIF NOT: WALT
MOV A (SP) ,$FATAL  ;,GET ERROR #
ADD #2.4(SP) J:BUMP RETURN ADDR.
INC SMSGTYPE ;:TELL APT TO TAKE ERROR
12%: CLRB $FFLG :JCLEAR FATAL FLAG
CLRB SLFLGC . sCLEAR LOG FLAG
CLRA MELG 131 CLEAR MESSAGE FLAG
MOV (SF)+, K. :;POP STACK INTO R?
MOV (SP)+,R0 ;JPOP STACK INTO RO
RTS PC +RETURN
M iG: LEBYTC 0 ;rMESSG. FLAG
SLFLG:  .oYTE 0 0.L06 FLAG
SrFLG:  (HY)E U JFATAL FLAG
EVEN
APTSIZE=700
APTENV=001

APTSPOOL=10C
APTCSUP=040
.SBTTL BINARY TO OCTAL (AsCil) AND TYPE

1222238232333 30 R AR AR RSN RN RRRERLRRIRSSRERARE DN

L*TYIS ROUTINE 1S 4SED TO CHANGE A 1é4-BIT BINAAY WUMBER T0 A 6-DIGIT

;*0C/ 6L (ASCII) NUMBER AND TYPE IT.

J*STYPOS~-~=ENTER HERE TU SETUP SUFPPRESS ZtROS AND NUMBER OF DiGIYS 10 TYPc

s«CALL:

MR MOV NUM,~(SP? ;sMUMBER YO BE TYPED

I TYPOS ;. CALL FOR TYPEOUT

M LBYTE N JeN=1T 7O & FOR NUMBER OF DIGITS TO TYPE
.. BYTE M J:M=1 0RO

it ::1=TYPE LEADING ZERQS

s * ;;0=SUPPRESS LEADING ZEROS

SEQ 0048




CVDRDB DRV11J DJAG TST PRT? MACY11 30G(1063
BINARY

b e o —r——— - = — -

NUM, - (SP)

NUM,=(SP)

o
1
(
#2,(SP)
$TYPON

#1,80FILL
#6,S0MODE +1

#5,800NT
R3,=-(SP)
R4,-(SP)
R5,~(SP)

$OMODE+1,R4
R4

#6,R4

R4, $OMODE
SOFILL RS
12(SP) ,R5

R3

R
$OMODE
7

(SP)+ RS
(SP)+ R4
(SP)+,R3

CVDRDAB.PN 10~AUG-81 10:52
1) s *
(1) :
(1) ;*$TYPOS OR $TYPOC
1) s *CALL:
(1) o MOV
(1) I * TYPON
(1) ;
(1)
(1) ;wCALL:
(1) IR MOV
21; A TYPLUC
(1) 013462 017646 (00000 _ $TYPOS: MOV
(1) 013466 116637 000001 0135705 MOVB
(1) 013474 112637 013707 Move
(1) 013500 062716 000002 ADD
(1) 013504 000404 BR
(1) 013500 112737 000001 013705 $TYPOC: MOVB
(1) 013514 112737 000006 OQ12707 MOV8
(1) 013522 112737 000005 015704 $TYPON: MOVB
(1) 013530 010346 MOV
(1) 013532 010445 MOV
(1) 013534 010546 MOV
(1) 0132536 113704 013707 MOvVB
(1) 013542 005404 NEG
(1) 013544 062704 0L00C6 ADL
(1) 013550 110437 013706 MOVB
(1) 013554 113704 013705 MOVAR
(1Y 013560 016605 000012 MOV
{1} 013564 005003 CLR
(1) 011546 006105 1%: ROL
(1) 013570 000404 BR
(1) 013572 006105 2%; ROL
(1) 013574 006105 ROL
(1) 013576 006105 ROL
(1) 013600 010503 MOV
(1Y 013602 006103 3%: ROL
(1) 013604 105337 (13706 DE(B
(1) 013610 100016 BPL
) 013612 042703 177770 BIC
(1) 013616 001002 BNE
(1) 013620 005764 TST
(1) 013622 001403 BEQ
(1) 013624 005204 4%: INC
(1) 013626 052703 000060 BIS
(1Y 013632 (52703 000040 5%: BIS
(1) 013636 110337 013702 MOV8
(1) 013642 104407 013702 TYPE
(1) 013646 105337 013704 7% DECB
(1) 013552 003347 BGT
(1) 013654 002402 BLT
(1) 013656 005204 INC
(1) 013660 000744 BR
(1) 013662 (012605 68 MUV
(1) 013664 012604 MOV
(1) 013666 012603 MOV

(5P),=-(SP)
(SP),$OFILL
SP)+,SOMODE+1

K 4
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TO OCTAL (ASCI1) AND TYPE

*$TYPON=---=ENTER HLRE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST

; sNUMBER TO BE TYPED
::CALL FOR TYPEOUT

X
; *$TYPOC~-~-ENTER HERE FOR TYPEQOUT OF A 16 BIT NUMBER

; NUMBER TO BE TYPED
;+CALL FOR TYPEOGUT

::PICKUP THE MODE

:2L0AD ZERO FILL SWITCH

: JNUMBER OF DIGITS 70 TYPE
:;ADJUST RETURN ADDRESS

;:SET THE ZERO FILL SWITCH

22SET FOR SIX(6) DIGITS

2s3ET THE ITERATION COUNT

::SAVE R3Z

;2 SAVE R4

::SAVE RS

::GET THE NUMBER OF DIGITS TO TYPE

;sSUBTRACT IT FOR MAX, ALLOWED
Js3AYE IT FOR LISE

JJGET THE ZERD FILL SWIT(H
JIPICKUP THE INPUT NUMBER
;;CLEAR THE OUTPUT WORD
::ROTATE MSB INTOQ ''c"

;.60 DD MSB

;;FORM THIS DIGIT

::GET LSB OF THIS DIGIT
;:TYPE THIS DIGIT?

;iBR IF NO

:GET RID OF JUNK

:2TEST FOR O

;s SUPPRESS THIS 0?

Ji:BR IF YES

:;DON' T SUPPRESS ANYMORE 0°'S
;;MAKE THIS DIGIT ASCII
JeMAKE ASCII IF NOT ALREADY
::SAVE FOR TYPING

360 TYPE THIS DIGIT

:sCOUNT BY 1

;:BR IF MORE TO DO

;:BR IF DONE

;; INSURE LAST DIGIT ISN'T A BLANK
::G0 DO THE LAST DIGIT

; :RESTURE RS

s :RESTORE R4

;sRESTORE R3

SEQ 0049
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(VDRDB.P11  10-AUG-81 10:52 BINARY TO OCTAL (ASCII) AND TYPE SEQ 0050

(1) 013670 016666 000002 000004 MOV 2(SP),4(SP) ::SET THE STACK FOR RETURNING
(1) 013676 012616 MOV (SP)+, (SP)
(1) 013700 00002 RTI ; ;RETURN
(1) 013702 000 8s$: BYTE 0 : :STORAGE FOR ASCII DIGIT
(1) 013703 000 BYTE 0 : ;TERMINATOR FOR TYPE ROUTINE
(1) 013704 000 $OCNT: .BYTE O ;sOCTAL DIGIT COUNTER
(1) 013705 000 $OFILL: BYTE O ::2ERO FILL SWITCH
(1) 013706 000000 $OMODE: WORD _ 0 : NUMBER OF DIGITS 10 TYPE

1633 .SBTTL CONVERT BINARY TO DECIMAL AND TYPE ROUTINE
(2) ;;**ttt***t*t****t*t******i***t**t********tktkt********t*i*tt*:’:*t
(M ;XTHIS ROUTINE 1S USED TO CHANGE A 16-BIT BINARY NUMBER TO A 5-DIGIT
(1) :*SIGNED DECIMAL (ASCII) NUMBER AND TYPE Ii. DEPENDING ON WHETHER THE
(1) :*NUMBER IS POSITIVE OR NEGATIVE A SPACE 0} A MINUS SIGN WILL BE TYPED
(1) ;*BEFORE THE FIRST DIGIT OF THE NUMBER. LEADING ZEROS WILL ALWAYS BE
1) ;*REPLACED WITH SPACES.
(1) %CALL: i
(1) i MoV NUM, - (SP) :;PUT_THE BINARY NUMBER ON THE STACK
() i TYPDS ::60 TO THE ROUTINE
(1) 013710 $TYPDS: )
(3) 013710 010046 MOV RC,-(SP) ;PUSH RC ON STACK
(3) 013712 010146 MOV R1,-(SP) S 1PUSH R1 N STACK
(3) 013714 010246 MOV R2,=-(SP) :iDSH K2 ON STACK
(3) 913716 010346 MOV R3,-(SP) ::PUSH R3 ON STACK
(3) 013720 010546 MOV RS =(4°) ::PUSH R5 ON STACK
(17 013722 012746 020200 MOV #20200,-(SP)  ::SET BLANK SWITCH AND SIGN
(1) 013726 016605 000020 MOV 20(SP) ,RS :3GET THE INPUT NUMBER
(1) 013732 100004 BPL 18 ::BR IF_INPUT IS POS.
(1) 013734 005405 NEG RS :IMAKE THE BINARY NUMBER POS,
(1) 013736 112766 000055 000001 MOV #'-,1(SP) :iMAKE THE ASCI] NUMBER NEG.
(1) 013746 005000 18: CLR RO :7ZERO_THE CONSTANTS INDEX
(1) 013746 0127085 014124 MOV ASDBLK R3 ::SETUP THE OUTPUT POINTER
(1y 013752 112723 000040 move  #' L(R3)% :SET THE FIRST CHARACTER TO A BLANK
(1) 013756 007 62 28: CLR R2 : :CLEAR THE BCD NUMGER
(1) 013760 016001 014114 MOV $DTBL(R0) ,R1  ;:GET THE CONSIANT
(1) 013764 160105 3%: su8 R1,R5 ;:FORM YHIS BCD DIGIT
(1) 013706 002402 BLT 4$ ::BR IF DONE
(1) 013770 005202 INC R2 ; *INCREASE THE BfD DIGIT BY 1
(1) 013772 000774 BR 38
(1) 013776 060105 4% ADD R1,RS ;;ADD BACK THE CONSTANT
(1) 013776 005702 1ST R2 :3CHECK IF BCD DIGIT=0
(1) 014000 001002 BNE 5% ; FALL THROUGH IF 0
(1) 014002 105716 ISTB  (SP) ::STILL DOING LEADING 0°S?
(1) 014004 100407 BM] 73 ;:BR IF YES
(1) 014006 106316 5% ASLR  (SP) ; 1MSD?
(1) 014010 103003 BCC 68 ::BR IF ND
(1) 014012 116663 000001 177777 MOVB  1(SP),~1(R3)  ;;YES=-SET THE SIGN
(1) 014020 052702 000060 63: BIS #'0,R2 : MAKE THE BCD DIGIT ASCII
(1) 014024 052702 000040 78: BIS #'RP :iMAKE IT A SPACE IF NOT ALREADY A DIGIT
(1) 014030 110223 MOVB  R2, (R3)+ ::PUT_THIS CHARACTER IN THE OUTPUT BUFFER
(1) 014032 005720 TST (RO + ;;JUST INCREMENTING
(1) 014034 020027 00OC1O CMP RO .410 :3CHECK THE TABLE INDEX
(1) 014040 002746 BLT 2% ::G0 DO THE NEXT DIGIT
(1) 014042 003002 BG! 8% ;260 TO EXIT
(1) 014044 010502 MOV RS,R2 ;3GET THE LSD

tmm — i —— L e——
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[VDRDB D
CVDRDB.P11  10~AUG-81 10:52 CONVERT BINARY TU DECIMAL AND TYPE ROUTINE SEQ 0051

(1) 014046 000764 JR 6$ ;GO CHANGE TO ASCII
(1) 014050 105726 8s: TSTB  (SP)+ :WAS THE LSD THE FIRST NON-ZERQ?
(1) 014052 100003 BPL 9% ::BRIF NO
(1) 014054 116663 177777 177776 MOVB  -1(SP),-2(R3)  ;:YES~-SET THE SIGN FOR TYPING
(1) 014062 105013 9%: CLRE  (R3) $:SET THE TERMINATOR
(3) 014064 012605 MOy (SP)+,R5 :1POP STACK INTO R5
(3) 014066 (12603 MOV (SP)+.R3 2'pOP STACK INTO R3
(3) 014070 012602 MOV (3P)+.R? :'POP STACK INTO R?
(3) 014072 012601 MOV (SP)+ R ::POP STACK INTO R1
(3) 014074 012600 MOV (SP)+. RO :1POP STACK INTO RO
(1) 014076 104401 014124 TYPE $UBLK INOW TYPE THE NUMBER
(1) 014102 016666 000002 000004 MOV 2(SPY,4(SP) 1IADJUST THE STACK
(1) 014110 012616 MOV (SP)+, (SP) _
(1) 014112 000002 RTI ; ;RETURN TO USER
(1) 014114 023420 $DTBL: 10000,
(1) 014116 001750 1000.
(1) 014120 00U144 100.
(1) 014122 000012 10.
(1) 014124 000004 $DBLK: .BLKW 4

1436 .SBTTL ERROR HANDLER ROUTINE
(2) . "*t*******ﬁi**********l‘i’********************it*****i**i*********
(1) TXTHIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
(1) :*SAVE THE ERROR ITEM NUMBER AND THE ADDRESS OF THE ERROR CALL
(1) :*AND GO 10 SWRCK ON ERROR
(1) ;«THE _SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
(1) :#SW152] HALT ON ERROR
(1) $4SW13=1 INHIBIT ERROR TYPLOUTS
(1) ;*SW09=] LOOP GN ERROR
', SxCALL |
A P ERROR N ; ;ERROR=EMT AND N=ERRUR ITEM NUMBER
(1) 014134 SERROR: _
(1) 014134 104407 CKSWR ;;TCST FOR CHANGE IN SOF "=SWR
(2) 014136 104407 , CKSWR ;60 LOOK FOR SWR CHANGE
(1) 014140 105237 002103 7%: INCB  SERFLG ;:SET THE ERROR FLAG
(1) 014144 001775 } BEQ 78 SIDON'T LET THF FLAG GO TQ ZERO
(1) 014746 013777 002102 165766 MOV STSTNM,&DISPLAY -:DISPLAY TEST NUMBER AND ERROR FLAG
(1) 014154 005237 002112 INC SERTTL PYINC THE ERRUR COUNT
(1) 014160 011637 002116 MOV (SP), SERRPC :GET ADDRESS OF ERROR INSTRUCTION
(1) 074164 162737 000002 002116 SUB #2 ,SERRPC
(1) 014172 117737 165720 002114 MOVB  aSERRPC,SITEMB ;;STR;P AND SAVE THE ERROR ITEM CODE
(1) 014200 032777 020000 165732 BIT #BIT13,aSWR PISKIP TYPEQUT IF SET
(1) 014206 001004 BNE 208 :SKIP TYPEQUTS
(1) 014210 004737 014310 JSR PC., SWRCK ::G0 TO USER ERROR ROUTINE
(1) 014214 1u4adl 002165 TYPE  ,SCRLF
(1) 014220 | 208:
(1) 014220 122737 000001 002210 CMPE HAPTENV,SENV  ; RUNNING IN APT MODE
(1) 014226 001007 , BNE 23 :INO,SKIP APT ERROR REPLRT
(1) 014230 113737 002114 014242 MOVE  SITEMB. 21$ *'SET ITEM NUMBER AS ERRGR NUMBER
(1) 014236 004737 013232 JSR PC,SATYS :TREPORT FATAL ERROR TG APT
(1) 014242 000 21s:  .BYTE 0
(1) 014243 000 BYTE 0
(1) 014244 000777 22%:  BR 22% :;APT_ERROR LOOP
(1) 014246 005777 165666 2$: TST aSWR :HALT ON ERROR
(1) 014252 100002 BPL 3% ;iSKIP 1F CONTINUE
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CVDRDB DRV11J DI N ,
CVDRDB.P11 10-AUG-81 10:52 ERROR HANDLER ROUTINE SEu 0052
(1) 074254 000000 HALT ; sHALT ON ERROR! N
{1) 014256 104407 C(KSWR ;s TEST FOR _CHANGE IN SOF I=3WR
(1) 014260 032777 001000 165652 3%: BIT #BITO9,aSWR ;;LOOP ON ERROR SWITCH SET?
(1) 014265 001402 BEQ 43 ;:BR IF NO
(1) 014270 01371¢ 002110 MOV $LPERR, (SP) ; ;FUDGE RETURN FOR LOOPING
(1) 014274 005737 092162 4$: TST $ESCAPE ;s CHECK FOR AN ESCAPE ADDRESS
(1) 0374300 001402 BEQ 5% :sBR _IF NONE
%}% 8}?%82 013716 002162 58 MoV $ESCAPE, (SP) ;:FUDGE RETURN ADDRESS FOR ESCAPE
) 12 :
(1) 014306 000002 RYI ;+RETURN
1437 JIRRKKRK KA RRIAIRA AR kAR dd dde ok dok A Ak i dede ek ok de s e e e s e s o o e ok ek o
1438 ;G0 TVPE ERROR
1439 ;GO UPDATE SOFTWARE SWR IF 'CNTRL/G'
1440 SIRRKANARRNTRN JRNN AR N A W A Ak e o R o ok ke ek e ke Ak
1441 014310 113737 002102 002432 SWRCK: MOVB $TSTNM,TSTNUM  ;SET UP TEST # ON ER
1442 014316 004737 014326 JSR PC,$ERRTYP ;GO TYPF ERROR
1443 014322 104407 CKEWR «GO LOOK FGR SWR CHANGE
1444 014324 000207 RTS PC :RETURN TO ERROR HANDLER
1??? .SBTTL ERROR MESSAGE TYPEOUT RGUTINE
(2) TIARERAR AR AR R AR RN AR A RN AN R AARAA AN AR RN AR AR AR AT AR AR A AR
(1) ;*THJS ROUTINE USES THE ''ITEM CONTROL BYTE'' (SITEMB) TO DETERMINE WHICH
{1 ;*ERROR 1S TO BE REPORTED. IT THEN OBTAINS, FROM THE '‘ERROR TABLE'' ($ERRTB).
g}; :*AND REPORTS THE APPROPRIATE INFORMATION CONCERNING THE ERROR.
(1) 014326 $ERRTYP: N
(1) 014326 104401 002165 TYPE .SCRLF ::''CARRIAGE RETURN'' & 'LINE FEED
(1) 014332 010046 MOV RO,~(SP) ;+SAVE RO~
(1) 014334 105000 CLR RO . ;;PICKUP THE ITEM INDEX
(1) 014336 153700 002114 BISR a¥$1TEMR, RO
(1> 014342 001004 BNE 1% ;. JF ITEM NUMBER 1S ZERC, JUST
(1) . ;o TYPE THE PC OF THE ERROR
(2) 014344 013746 002116 MOV $ERRPC,~(SP) ;¢ SAVE SERRPC FOR TYPEOUT
(2) ¢« +ERROR ADDRESS
(2) 014350 1046402 "YPOC .60 TYPE~--OCTAL ASCII(ALL DIGITS)
(1) 014352 000426 Bi. 6$ ;s GET OQUY
(13 01435 005300 1%: DEC RO »sADJUST THE INDEX SO THAT IT WILL
(1) 014356 006300 ASL RO id WORK FOR THE ERRDR TABLE
(1> G14360 006300 ASL RO
(1) 014262 006300 ASL RO
(1Y 014364 062700 002252 ADV #S$ERRTB, RO ;:FORM TABLE POINTER
(1) 014370 012037 014400 MOV (RO)+,28$ s ;PICKUP "ERROR MESSAGE'' POINTER
(1) 014374 001404 BEQ 33 ::SKIP TYPEOUT IF NO POINTER
(1) 014376 106401 TYPE :iTYPE THE "ERROR MESSAGE''
(1) 014400 000000 2% LWORD O ;. 'ERROR MESSAGE'‘ POINTER GOES HERE
(1) 014402 104401 002165 TYPE +$CRLF ::"'CARRIAGE RETURN'' § 'LINE FEED
(1) 014406 012037 014416 38: MOV (RO +,4% ;sPICKIP 'DATA HEADER'' POINTER
(1) 014412 001404 8FQ 5% ;o SKIP TYPEOUT IF 0
(1) 0146414 104400 TYPE ::TYPE THE 'DATA HEADER"
(1) 014416 C00000 ‘ 4$: .WORD 0O ;:"'DATA HEADER® POINTER GOES HER:
(1) 014420 104401 0Q0216> 1YPE LS$CRLF ;. 'CARRIAGE RETURN'' & 'LINE FEED"
(1) 014424 011000 5§: MOV (RO) ,RO ;:PICKUP “DATA TABLE'' POINTER
(1) 0144c5 001004 BNE 73 ;.60 TYPE THE DATA
(1) 014430 012600 6$: MOV (SP)+,R0 ;:RESTORE RO .
(1) 014432 104491 002165 TY " . SCRLF ;2 'CARRIAGE RETURN'' & 'LINE FEED"
(1) 014436 000207 RS PC s ;RETURN
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165446

000004

165400
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165310

10-AUG-81

ERROR MESSAGE TYPEOUT ROUTINE

7%
MOV
TYPOC

BEQ
TYPE

8%. LASCIZ
VEN

B{RO)+,~(S)

(RO
43
AR

.E
.SBTTL SCOPC HANDLER ROUTINE

A SRR EE LI AL ARRARARAR AL RAEEEAREALLLLLLELELLLLLELES St

;*THIS ROUTINE CONTRCLS THE LOUPING OF SUBSTESTS. IT WILL INCREMENT
;*ANC LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>)
JYAND LO*D THE ERROR FLAG (SERILG) INIO DISPLAY<15:08>

;*THE SW.TCH OPTIONS PROVIDED BY THIS ROUTINE ARE:

;AARANSTART OF ngE FOR THE XOR

s *SW14=1
*SWI1=1
; *SW09=1
:+S5W08=1
J«CALL
ML SCOPE
$SCOPE:
{XSWR
1%: BIT
BNE
$XTSTR: BR
MOV
MOV
51
MOV
B8R
5%: tmp
MOV
BR
O : ;ARBRNEND D7
BiT
BEQ
(MoB
BEQ
’s. 1STB
BEQ
CMPB
BH]
BIT
BEQ
' ¥ MOV
BR
4% CLRB
(LR
BR
1s: BIT
BHE

LOOP ON TEST

B 5
11:00 PAGE 2~30

;+SAVE Q(RD)+ FOR TYPEOQUT

::G0 TYPE~~OCTAL ASCIICALL DIGITS)
;118 THERE ANOTHER NUMBER?

J:BR IF NO

;s TYPE TWO(2) SPACES

;. LOOP
;:TWO(2) SPACES

INHIBIT TTERATIUNS

.OOP ON ERROR

LOOP ON TEST IN SWR</7:0»
:;SCOPE=I0T

#BIT14,2SWR
$UVER

ANHERRVEC, - (SP)
#5% afERRVEC
¥177060

(5F) +, IFCRRVEC
$SVLAD
{(SP)+,(5P)+
;gP)+,3#ERRVEC

;o TEST FOR CHANGE IN SOFT-SWR

;;LOOP ON PRESENT TEST?

;2 YES IF SW14=1

TESTERNAANN

;:IF RUNNING ON THE 'XOR'' TESTER CHANGE
;2THIS INSTRUCTION TO A "WOP'' (NOP=240)
.+ SAVD THE CONTENTS OF THE ERRUR VECTOR
;:SET FOR TIMEOUT

;2 TIME OUT ON XOR?

; ;RESTORE THE ERROR VECTOR

;:G0 TO THE NEXT TEST

::CLEAR THE STACKX AFTER A TIME OUT
:sRESTORE THE ERROR VECTOR

;. LOOP ON THE PRESENT TEST

CODE FOR THE XOR TESTERANNNA

5?ITDB,BSUR
aSWR,$TSTNM
SOVER

SERFLG

33
ggRHAX.$EﬁFLG
ze1709.asun
SLPERR ,3LPADR
SOVER

SERFLG

$TIMES

1%
#BIT11,35WR
1%

;;L00P ON SPEC. TEST?

;.BR IF NO

J:ON THE RIGHT TEST? SWR<7:0>
;:BR IF YES

; HAS AN ERROR UCCURRED?

;:8R JF NO

;:MAX. ERRORS FOR THIS TEST OCCURRED?
.:BR [F NO

;2 LOOP ON ERROR?

;;BR IF NO

;s SET LOOP ADDRESS TO LAST SCOPE

;;IERD THE ERROR FLAG

;;CLEAR THE NUMBER OF ITERATIONS TO MAKE
;JESCAPE TO THE NIOXT TEST

;o INHIBIT ITERATIONS?

;:8R IF YES

SEQ 0053
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165166
165162
177600
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002134

000025
015472

MACYT? 30G(1063)

002104

002104
002160

002174

002140

000001

10-AUG-81

SCOPE HANDLER RUUTINE

1%:
$SVLAD:

$OVER:

SMXCNT:
.SBTTL

ENABL

TS7
8EQ
INC
(MP
BGE
MOV
MOV
INCB
MovB
MOV
MOV
CLR
MOVR
MOV
MOV
RTI
1.

$PASS
1%
SICNT

STIMES,SICNT

$OVER
#1,81CNT

SMXCNT ,$TIMES

$TSTAM

S$TSTNM,STESTN

(SP) ,$LPADR
(SP) ,$LPERR

$ESCAPE
#1,SERMAX

$TSTNM,aDISPLAY

$LPADR, (SP)

TTY INPUT ROUTINE

» e 9 9 A W o e o e o 3 o e ok e b ok 3k o ok % o e o e e ok i s vk e st dk e ok o ol oy o ke o 0 T O o e e o e e e e v o

LSB

C 5
11:00 PAGE 2-37

,,IF FIRST PASS OF PROGRAM
INHIBIT ITERATIONS
* INCREMENT ITERATION COUNT
..CHECK THE NUMBER OF ITERAT.ONS MADE
;BR ]F MORE ITERATION REQUIRED
::REINITIALIZE THE ITERATION COUNTER
;s SET NUMBER OF ITERATIONS TO DO
;s COUNT TEST NUMBERS
s+ SET TEST NUMBER IN APT MAILBOX
:+SAVE SCOPE LOOP ADDRESS
;. SAVE ZRROR LOCP ADDRESS
..CLEAR THE ESCAPE FROM ERROR ADDRESS
;ONLY ALLOW ONE(1) ERRCR ON NEXT TEST
::DISPLAY TEST NUMBER
; ;s FUDGE RETURN ADDRESS
¢ sFIXES PS
; yMAX. NUMBER UF ]TERATIONS

SRR RNAN AR AR AR AR ARR KR RRARRARRK. S HRINRKER KKK RA KRN K
:*SOF TWARE SWITCH REGISTER CHANGE ROUTINE.

;*ROUTINE IS ENTERED FROM THE TRAP HANDLER, /ND WILL

;*SERVICF THE TEST FOR CHANGE IN SOFTWARL SW.TCH REGISTER TRAP CALL

: *WHEN OPERATING IN TTY

$CKSWR: CMP

$GTSWR:

19%:
4 ¥

9%:

BNE
TSTE
BPL
MOovB
BI(
{mMp
BNE
CMPE
BEQ

{YPE
TYPE
MOV
TYPOC
TYPE
CLR
CLR
1578
BPL

MOvE
BIC

(MP
BNE
TYPE

H#SWREG, SWR
15%

asTKS

15s

a$TKB, - (SP)
x~c17? (SP)
#7.(SP5+
158
$AUTOB, #1
158

+SCNTLG
L SMSWR
SWREG,~(SP)

+SMNE-
-(SP)
-(SP)
a$TKS
7%

3$TKB,~(SP)
A 177, (SP)

(SP),#25
103
»SCNTLU

FLAG MODF.

22 1S THE SOFT-SWR SELECTED?

; ;BRANCH IF NO

: :CHAR THERE?

:3IF NO, DON'T WAIT AROUND
:3SAVE THE C(CHAR

: !STRIP-OFF THE ASCII

.18 IT A CONTROL G?

JsNO, RETURN TO USER

;;ARE WE RUNNING IN AUTD-MODE?
2 *BRANCH IF YES

::ECHO THE CONTRIL-G (*G)

;o TYPE CURRENT COMTENTS

;s SAVE SWREG FOR TYPEOUT

;G0 TYPE--OCTAL ASCII(ALL DIGITS)
;;PROMPT FOR NEW SWR

;s CLEAR COUNTER

s THE NEW SWR

;s CHAR THERE?

;s IF NOT TRY AGAIN

;;PICK UP LHAR
s sMAKE IT 7-BIT ASCIlI

;1S 17T A CONTROL-U?
;sBRANCH 1F NOT
;:YFS, ECHO CONTROL-U (*U)

SEQ 0054
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CVDRDB DRVi1J DIAG TST PRT2
CVDRDB.P11  10~AUG=-81 10:52 TTY INPUT ROUTINE
(1) 015064 062706 000006 20$:  ADD 46,SP
2}; 015070 (00757 BR 19§
(1%
(1) 015072 021627 000015 10$:  CMP (SP), 415
(1) 015076 001022 BNE 16$
(1) 015100 005766 000004 TST 4(5P)
(1) 015104 021403 | BEQ 1%
(1) 015106 016677 000002 65024 MOV 2(SP),asWR
(1) 015114 062706 000006 11$:  ADD #6,SP
(1) €15120 104407 002165 14$:  TYPE  ,S$CRLF
(15 075124 12372, 002135 000001 CMPR  $INTAG,#1
(1) 015132 001003 BNE 158
(1) 015134 012777 000100 165002 MOV #100,38TKS
(1) 015142 000002 15$:  RTI
(1) 015144 004737 013072 16$:  JSR PC,$TYPEC
(1) 015150 021627 000060 CMP (SP) , 450
(1) 015154 002420 BLT 18%
(1) 015156 021627 000067 CMP (SP; , #67
(1) 015162 003015 BGT 18%
(1) 015164 042726 000060 BIC #60, (SP)+
(1) 015170 005766 000002 ST 2(SP)
(1) 015174 001403 BEQ 17%
(1) 015176 006316 ASL (SP)
(1) 015200 006316 ASL (5P)
(i) 015202 006316 ASL (5P)
(1) 015204 005266 000002 178:  INC 2\SP)
(1) 01521C 056616 177776 BIS —2(SPY, (SP)
(1) 015214 000707 BR 7%
(1) 015216 104401 002164 188:  TYPE $QUES
(1) 015222 000720 BR 208
5} .DSABL L3B
(1
2
(
(
(
\
(
(
(
{
(
(
(
(
(
(
(
(
(
(
(
(
(
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1

1 s*CALL:

1 P RDCHR

[ X RETURN HERE

1 [

} :

1) 015224 011646 $RDCHR: MOV (SP) ,={5P)
1) 015226 016666 000004 000002 MOV 4(SPJ,2(SP)
1) 015234 105777 164704 1$: TSTB  @$TKS

1) 015249 100375 BPL 13

1) 015242 117766 164700 000004 MOV3  Q$7TKB,&(SP)
1) 015250 042766 177600 000004 BIC #1875 4 (SP)
1) 015256 026627 000004 000023 CMP 4(SP) ,#2%

1) 015264 001013 BNE s

1) 015266 105777 161652 2%: TSTB  a$TKS

1) 015272 100375 gPL 23

1) 015274 117746 164646 MOVE  a$TKB,-(SP)
1) 015300 042716 177610 BIC #5C177,(SP)
1) 015304 022627 000021 CMP (SP)+,#21

1) 015310 001366 BNE 23

D 5
MACY11 30G6(1063) 10-AUG=81 11:00 PAGE 2-32

INPUT

s+ IGNORE PREVIOUS
;sLET'S TRY IT AGAIN

;018 1T A <CR>?

: :BRANCH IF NO

:JYES, IS IT THE FIRST CHAR?
; JBRANCH IF YES

;;SAVE NEW SWR

;;CLEAR UP STACLK

; JECHO <CR> AND <LF>
JoRE-ENABLE TTY KBD INTERRUPTS?
::BRANCH IF NOT

: sRE-ENABLE TTY KBD INTERRUPTS
; sRETURN

:2ECHO CHAR

::CHAR < 0?

: BRANCH IF YES

::CHAR > 77

1 :BRANCH IF YES

;:STRIP-OFF ASCII

2+1S THIS THE FIR3T CHAR

; sBRANCH IF YES

::NO, SHIFT PRESENT

e CHAR OVER T0O MAKE

M ROOM FOR NEW ONE,
:sKEEP COUNT OF CHAR

++SET IN NEW (HAR

1:GET THE NEX1 ONE

;3 TYPE 2<CR><LF>

s SIMULATE CONTROL-U

;;*tt*tt***ttttwttﬁ***ﬁtt******t****************ﬁ#**i******t*****

;*THIS ROUTINE WILL INPUT A SINGLE CHARACTER FROM THE TTY

;2 INPUT A SINGLE CHARACTER FROM THE TTY
;s CHARACTER IS ON THE STACK
;;WITH PARITY BIT STRIPPED OFF

:+PUSH DOWN THE PC
::SAVE THE PS

;;WAIT FOR

:+A CHARACTER

::READ THE TTY

$:GET RID OF JUNK [F ANY
;1S IT A CONTROL-S?
:JBRANCH IF NO

J;WALT FOR A CHARACTER
JoLUOP UNTIL ITS THERE
J:GET CHARACTER

J:MAKE IT 7-BIT ASCII
;.18 1T A CONTROL-Q?
;;1F NOT DISCARD IT

SEQ 0055

ey
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CVDRDB.P11 10=-AUG=81 10:52 TTY INPUT ROUTINE SEQ 0056
(1) 015312 000750 BR 1$ ;1 YES, RESUME
(1) 015314 026627 000004 000021 3%: (MP 4(SP) ,ASXON ;eIS IT A RANDOM XON? ;RANQO1
(1) 01532 001744 BEQ 1% ;sBRANCH IF YES ;RANDO1
(1) 015324 026627 000004 000140 CMP 4(SP) ,¥140 ;118 IT UPPER CASE?
(1) 015332 (32407 BLT 4% ; BRANCH IF YES
(1)  J15334 026627 000004 000175 CMP 4(SP) #1175 ;218 1T A SPECIAL C(HAR?
(1) 015342 003003 BGT 48 ; JBRANCH [F YES
(1) 015344 042766 000040 000004 BiC #40,4(SP) JJMAKE 17 UPPER CASE
(1) 015352 000002 4%: RTI ;G0 BACK TO USER
{(2) PIRARERKAIAAKR KA AR AR AR AR RN AR R AR R R AR AT ALK AN N ANk
(1§ :*E:if ROUTINE WitL INPUT A STRING FROM THE TTY
( Sk :
1) Sk RDLIN ::INPUT A STRING FROM THE TTY
(1) b RETURN HERE :JADDRESS OF FIRST CHARACTER WILL BE ON THE STACK
5}; i ;s TERMINATOR WILL BE A BYTE OF ALL 0'S
(1) 015354 010346 $RDLIN: MOV R3,~-(SP) ::SAVE RS
(1) 015356 612703 015462 1%: MOV #STTYIN,.R3 ::GET ADDRESS
(1) 015362 022703 015472 2%: (MP ASTTYIN#8,,R3  :.BUFFER FULL?
(1) 015366 101405 BLOS 4% J:BR IF YES
(1) 015370 104410 RDCHR ;GO READ ONE CHARACTER FROM THE TTY
(1) 015372 112613 MOVB (SP)+,(R3) J:GET CHARACTER
(i) 015374 122713 000177 10%: CMPB ¥177,(R3) ;IS 1T A RUBOUT
(1) 015400 001003 BNE 33 13SKIP IF NOT
(1) 015402 104401 002164 4%: TYPE LS$QUES :3TYPE A '
1) 015406 000763 BR 1% $JCLEAR THE BUFFER AND LOOP
(1) 015410 111337 015460 3%: MOVB (R3),9% ::ECKRO THE CHARACTER
(1) 015414 104401 (15460 TYPE .99
(1) 015420 122723 000015 CMPB ¥15,(R3)+ ::THECK FOR RETURN
(1) 015424 QU1356 BNE 2% ;;LO0P IF NOT RETURN
(1) 015426 105063 177777 (LRB ~1(R3) ;sCLEAR RETURN (THE 15)
(1) 015432 104401 002166 TYPE LSLF JJTYPE A LINE FEED
(1) 015436 012603 tov {(SP)+,R3 ::RESTORE R3
(1) 015440 011646 MOV {SP) ,=-(SP) P PADJUST THE STACK AND PUT ADDRESS OF THE
(1) 015442 016666 000004 000002 MOV 4L(SP; ,2(SP) 3 FIRST ASCII CHARACTER ON IT
(1} 015450 012766 015462 00000« MOV #STTYIN,4(SP)
(1) 015456 000002 RTI ; :RETURN
(1) 015460 000 0%: BYTE ) ;s STORAGE FOR ASCII CHAR. TO TYPE
(1) 015461 000 BYTE O ;s TERMINATOR
(1) 015462 Q0ON10 $TTYIN: .BLKB 8. ; JRESERVE § ﬁYTES FOR TTY INPUT
(1) 015472 052536 005015 000 SCNTLU: ,ASCIZ /*U/<15><1¢> ::CONTRO!. 'V
(1) 015477 136 006507 00C..2 SCNTLG: ,ASCIZ /*G/<15><12> ;s CONTROL ''G"*
(1) 015504 005015 053523 020122 SMSWR: .ASCIZ <155<12>/5WR = /
(1) 015515 040 047040 053505 SMNEW: _ASCIZ / NEW =/
1??? .SBTTL POWER DOWN AND UP ROUTINES
(2) TINRARARERNARAAARAA AR AR AR AR RR R ARk kA ARk R kS kN SRR Ak
(1) :POWER DOWN ROUTINE
(1) 015526 012737 035672 000024 $PWRDN: MOV #$ILLUP,@#PWRVEC ;:SET FOR FAST UP
(1) 015534 (012737 000340 000026 MOV #340,aNPURVECH? ;;PRIO:7
(3) 015542 010046 MOV RO,~-(SP) ;:PUSH RO ON STACK
(3) 015544 010146 MOV R1,~(5P) ;+PUSH R1 ON STACK
(3) Ci15546 010246 Muy R%,-(SP) ;;PUSH Rz ON STACK
(3) 015550 010346 MOV R3,-{SP) J:PUSH R3 ON STACK
(3) 015552 010446 MOV R4 ,~(SP) ;aruH R ON STACK
(3) 015554 Q010546 MOV R5,~(SP) ;:PUSH RS ON STACK
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POWER DOWN AND UP ROUTINES

MOV aSWR,-(SP) .,PUSH @SWR OM STACK
MOV SP, $SAVRO :SAVE SP

ERET #SPNRUP A¥#PWRVEC 22SET UP VECTOR

BR .~2 : :HANG UP

A2 TET TSR ANSATES AT S A0SR0 Rt Rt a ettt Rl st sdsd sy

‘POWER UP ROUTINE
$PWRUP: MOV #S$ILLUP,a#PWRVEC ;;SET EDR FAST DOWN

MOV $SAVRG, &P ;,GFT
(LR $5AVRE ;WA LOOP FOR THE TTY
18: INC $SAVR6 ;:HHJT FOR THE INC
BNE 1% . oF WORN
Moy {5P)+,aSWR ;. FOP STACK INTO aSWR
MOV (SP)+,R5 :;POP STACK INTD R5
MOV (SP)+ ,R4 : ;POP STACK INTO R4
MOV (SP)+,R3 ;;POP STACK INTO R3
MoV \SP)+,R2 :}POP STACK IN1J RZ
MOV (SP)+ ,R1 ;sPOP STACK INTO R1
MOV ’“;* "RO :;POP _STACK INTO RO
MO TWRDN,& "PWRVEC :;SET UP THE POWER DOWN VECTOR
MOV #340,8#P¥NVEC+2 .,PRIO 7
TYPE JREPORT THE POWER FAJLURE
SPWRMG: .&:'RD  PWRMSG : “POWER FAIL MESSAGE PODINTER
MOV (PC+, (5P} JRESTART AT STARTI1
$PWRAD: ﬁ??RD START1 ;;RESTART ADDRESS
$ILLUP: HALY _ ;o THE POWER UP SEQUENCE WAT STARTED
BR =2 i BEFORE THE POWER DOWN WAS COMPLETE
$SAVR6: 0 ;PUT THE SP HERE
PUG?&G: JASPIZ  <15><12>/RESTARTED FROM PW? FAIL/
.E
.SBTTL TRAP DECODER
2222333222322 S22l Rttt it dd)
*THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE ''TRAP'' INSTRUCTION
T*AND USE IT TO [NDEX THROUGH THE TRAP TABLE FN THE STARTING ADDRESS
Jx) THE DESIRED ROUTINE. THEN USiNG THE ADDRESS OBTAINED IT WILL
:xGO TD THAT ROUTINE.
$TRAP: MUV RO,-(SP) ..SAVE hD
MOV 2{SP) RO ;GET TRA™ ADDRESS
TST -(R0) T :BACKUP BY 2
Movs (RQ) ,RO .,GET RIGHT BYTE OF TRAP
ASL RC ;POSITIGN FOR INDEXING
MOV $TRPAD(RO) ,RO  ::INDEX TO TABLE
RTS RO ;GO TO ROUTINE

;;THIS IS USE TO HANDLE THE "'GETPRI'' MACRO

$TRAPZ:

SBTTL

MOV (SF),~(SP) ;:MOVE THE P({ DOWN
MGV 4(SP),2(SP) ;.MOVE THE PSW DOWN
RTI s ;RESTORE THE PSW
TRAP TABLE

SEQ 0057
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042122
030461

052040
042522
042522
051040
042522
051040
040507
020120

040507
051122

TRAP TABLE

:*THIS TABLE CONTAINS THE STARTING ADDRESSES OF

;*BY THE "'TRAP'' INSTRUCTION,

: ROUTINE

- ey ———-—

$TRPAD: .WORD

STYPON
$TYPDS

SGTSWR
$CKSWR

$RDCHR
$RDLIN

$TRAP?2

;s CALL=TYPE TRAP+1(1
s CALL=TYPOC TRAP+2(1
2+ CALL=TYPOS TRAP+3(1
:;CALL=TYPON TRAP+4 (1
s CALL=TYPDS TRAP+5(1
s CALL=GTSWR TRAP+6(1
2 CALL=CKSWR TRAP+7(1
:2CALL=RDCHR TRAP+10¢(
;s CALL=RDLIN TRAP+11¢(

.SBTTL_ ASCII MESSAGES
LASCIZ  <155<12>/CVDRDA DRV11J DIAG TEST PART 2/<15><12>

J:GPA TITLED:
TITLED: ,ASCI2Z
..GPA TLCABL:
TLCABL: .AS(I7

EM1: .ASCIZ
EM2: LASCIZ
EM3: JASCIZ
EMé: ASCIZ
EMS: JASCIZ
EM6: ASCIZ
EM7: ASCI2Z
EMI0: LASCIZ
::GPA EM13:
tml: ASCl2
EM12: LASCIZ
::GPA EM13:
EM13:  LASCIZ
EM14: LASCIZ
DH1: LASCI2
DHZ: LASCIZ
DH3: LASCIZ
DH4: JASCIZ
LEVEN
DT1:
DTZ:
pr3:
DT4:

<200>/CVDRDB DRV11J DIAG TEST PART 2/<200>
JASCIZ  <15><12>/DRVItY CABLF REQ'D/<15><12>

<200>/DRV11J CABLE REQ'D/<200>

/REG TIMEOUT ER/

'REG READ/WRITE ER'

/IRR REG ER/

/ACR REG ER/

/IMR REG ER/

/1SR REG ER/

/ILLEGAL VETIOR MEM ADDR ER/

JCHIP STAT ER/

LASCI1Z /i _EGAL INTERRUPT RECEIVED/
/ILLEGAL INTERRUPT REC'D/

/INTERRUPT TEST ERROR/

LASCIZ /MULTIPLE INTERRUPTS RECEIVED/
/MULTIPLE INTERRUPTS REC'D/

/YECT ADDR MEM ER/

/ERRFC  TSTNUM BUSADR EXPCT  R(VD/
/ERRPC  TSTNUM BUSADR VAM ADDR
/ERRPC  TSTNUM BUSADR VAM ADDR/
/ERRPC TSTNUM TESTPC BUSADR VAM

$ERRP(,TSTNUM, SBDADR,SGDDAT,$BDDAT, 0
SERRPC.TSTNUM, SBDADR, VECVAL . VErLOC.$GDDAT . $BDDAT,0
SERFPC, TSTNUM, SBOADR, VECVAL , V7 LOC,0

SERRPC, TSTNUM, SGDADR, $BDADR, VECVAL,VECLOC,0

SEG 0058

THE ROUTINES CALLED

04401) TTY TYPEQUT ROUTINE

04402) TYPE OCTAL NUMBER (WITH LEADING ZEROQS)
04403) TYPE OCTAL NUMBER (NO LEADING Z2ER0S)
04406) TYPE OCTAL NUMBER (AS PER LAST CALL)
04405) TYPE DCCIMAL NUMBER (WITH SIGN)

04406) GET SOFT-SWR SETTING
TEST FOR CHANGE IN SOFT~SWR

04407)
104410) TTY TYPEIN CHARALTER ROUTINE
104411) TTY TYPEIN STRING RUUTINE

;:GPA
::1GPA

JIUDA

;s GPA

RCVD/

e st £ 2228232222222 RRRRRRSRR2RRRRR R ARRRRR R RlEn

:YDBUF* IS THE STORAGE AREA FOR SYSMAC LOCATIONS 0-202
:PRESERVED IN ORDER TO TEST DRV11J VECTORING TO
;VECTOR SPACE 0-200,

;:**i********t**t********ti***tk**tt**tt***********t**t*tt*ﬂ*tt**




CVDRDR DRViiJ

CVDRDB.P11
}&90 016754 000102

DIAG TST PRTZ
10--AUG-81 10

60 000100
60

152

H 5
MACY11 306¢1063) 10-aut~81 11:00 PAGE 2-36
ASCII MESSAGES SEG 0059

DBUF:  .BLKW  66. ;15T ADRS OF DATA TTORAGE AREA

AR AR RRN AR A RAR A A AN T AR RN R AR R AR AN AR AR R AR A A AR ARG A KN ARG kA

“VECTOR BUFFER USED FOR VECTOR UNIQUENESS TEST

:FOR 64 INTERRUPT VECTORS.
*******t*********************************#***************k*****

Eﬁggu BLKW 64,
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005227
001002
004737
005727
000000
009207

177777
000400

017374
000004
000504
16001V

174000

017374
000040
000006
000016
000022
000032
000036
170000
000004

000512
000004
000402
000376
000570

000546
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2%:
3%:

4%

LCON (KXT=11) UPGRADE ROUTINES. ¢+ GPA
BTTL FALCON (KXT-11) UPGRADE ROUTINES. ;¢ GPA

THE FOLLOWING ROUTINES HAVE BEEN ADDED TO ALLOW DIAGNOSTIC(S)

TO RUN ON A FALCON (KXT~11) 3ASED SYSTEM, N .

TO DETERMINE WHETHER WE'RE A FALCON OR NOT, WE'LL Slc: THe 1ST 3/4 0OF
THE /0 PAGE (28K TQ 31K)._ FALCON HAS 2KW LOCAL RAM AT 28K(+4) (0 30K
AND A MACRO-0DT AT 30k TO 31K. _CONSEQUENTLY, ALL I/0 DEVICES MUST

BE PLACED BETWEEN 174000 AND 177776. ADDITIONALLY, WE'LL STRAP ThE
EMT AND TRAP SERVICE LEVEL TO PRI6, AND SET THE HALT VECTOR SO THAT

WE CAN STOP THE SUCKER !!

TO MINIMIZE THE IMPACT OF THESE CHANGES ON FINAL PROGRAM SIZE, THE
BULK OF THIS CODc IS PLACED IN THE FLOATING VECTOR SPACE (400-776),

IF THE CPU AT HAND (S A FALCON (KXT11), IT STAYS THERE (NO HARM DONE).
OTHERWISE, THE AKFA IS RESTORED TO ITS ORIGINAL ''TRAP-CATCHER'' STATE.

LCON: INC 4-1 ; ONCE=ONLY !!! ; :GPA
BNE 1$ ::GPA
CALL  KXTCHK ; EXECUTE FALCON CHECK 3 :GPA
: ST (PC)+ * TEST FALCON FLAG... ::GPA
TFLAG: 0 ...NZ = FALCON... *:GPA
RE TURN t...AND RETURN TO CALLER... 3 :GPA
$SVPC= . : 1GPA
.= 400 : RESTORE FRUM 374:376 Ay END  ::GPA
TCHK: CLR KXTFLAG * ASSUME NOT FALCON, *:GPA
MOV a4, ~(SP) > SAVE ERROR VECTOR. :1GPA
MOV #2S . aNi * SET A TRA® CATCHER. : :GPA
MOV #160010,R0 * FALCON RA! STARTS AT 28K+4,  ::GPA
240 2 :GPA
CMP RO,#174000 ; SIZE TO 31K, : 1GPA
BLO 13 ;JGPA
MOV RO,KXTFLAG ; MUST BE FALCON, SET THE FLAG ::GPA
MOV #40,RO * GET PRI BIV... : :GPA
BIC RO, 346 ...AND LOWER LUS-ERROR,.. : :GPA
BIC RO.R#16 2...BPT, .. 2 :GPA
BIC RO.a#c? Jees10T, .. 2 :GPA
BIC RO, a# 32 c...EMT... ‘ T iGPA
8IC RO, a¥36 *...AND TRAP SERVICE TO PRI6  ::GPA
MOV #170000,24140 - ENABLE '‘SREAK'' HALT. *:GPA
MOV (SP)+,ak4 * RESTORE ERROR VECTOR... . :GPA
RE TURN ...AND RFTURN, : :GPA
MOV #3%, (SP) : TRAP == NOT A FALCON... ; ;GPA
RTI +...CONTINUE. : :GPA
MOV (SP) ¢, aNd * "RESET ERROR VECTOR > :GPA
MO\ #4602 RO * SET=UP TO RESTORE FLOATING... ::GPA
MOV ak3?é R t...VECTORS (400 - 776). T 1GPA
MOV SP.R2 : "SAVE STACK POINTER IN R2 :GPA
MOV #6% R
MOV <(R&) ,~(SP) ; PUSH THE RESTORE CODE... ; s GPA
CMP R4, 4#5% % ...ONTO THE STACK. L IGPA
BH! 43 - :GPA

MOV SP,P{ ; AND EXECUTE IT, ;s GPA

SEQ 0060
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CVDRDB.P11  10-AUG-81 10:52 FALCON (KXT-11) UPGRADE ROUTINES. ;1 GPA SEQ 0061
1555 :
12@9 ! THIS CODE IS RELOCATED TO AND EXECUTED IN THE STACK AREA.
1558 000546 070060 177776 5s: MOV RO,=2(RO) . RESTORE .+2... s 1GPA
1559 000552 010110 MOV R1: (RO} t...HALT (OR I107). ‘1 :GPA
1560 000554 022020 CMP (RO)+ . (RO)+ *:GPA
1561 000556 020027 000776 CMP RO,4776 L iGPA
1562 000562 101771 BLOS 5% : LOCP ‘TIL DONE ;1 GPA
1563 000564 010206 MUV R2.SP : THEN RESTORE SP... ; 1GPA
1564 000566 000207 RETURN e AND RETURN TO CALLER ;s GPA
1222 000570 68 " 2 GPA
1567 3 IF FALCON, THIS AREA IS FREE FOR ANY PROGRAM UNIQUE
1568 ; CHANGES OR DATA STRUCTURES.
1g33 * IF USED, YOU'D BETTER PROTECT IT !!!
1%;% 000104 $FREE= <1000=.>/2 ; FREE WORDS LEFT. ; 1GPA
1576 017400 .=$SVPC ; 1 GPA
577 017400 LASTAD= . : i GPA
1578 000001 END

i
et e A ot ik




K 5
CVDRDB DRV11J DIAG TST PRTZ MACY11 30G(1063) 10-AUG-81 11:00 PAGE 4
CVDRDB. P11 10~AUG-81 10:52 SYMBOL TABLE SEQ 0062
ABASE = 164160 AVECT1= 000000 DH3 016550 INT13 012322 INT61 012672 !
ACDW1 = 000000 AVECT2= 000000 DH4 016615 INT14 012326 INT62 (012626
ACDW? = 000000 BDSAV_ 002464 DIR = 00400 INT15 012332 INT63S 012632
ACPUQP= 000000 BGCHP3 012636 DISPLA 002142 INT16 012336 INT7 N12272
ACRLOC 002450 BITO = 000001 DISPRE 000174 INT1? 012342 INT8 012276
ADDWO = 000000 BITO0 = 000001 DMAP 002434 INTI3 012346 INTQ 012302
ADDW1 = 000000 BIT01 = 000002 DRCSA 002412 INT19 012352 I0TVEC= 000720
ADDW10= 000000 BIT0Z2 = 000004 DRCSB 002416 INT2 012246 IRRLOC 002446
ADDW11= 000000 BIT03 = 000010 DRCSC 002422 INT20 0123556 ISRLOC 002444
ADDW12= 000000 BIT04 = 000020 DRCSD  00g426 INT21 (012362 KXTCHK 000400
ADDW13= 000000 BITOS = 000040 DRDBA 002414 INT22 012366 KXTFLA 017374
ADDW14= 000000 BIT06 = 009100 DRDEBB 002420 INT23 012372 LASTAD= 017400
ADDW15= 000000 BITO7 = 000200 DRDBC 002424 INT24 012376 LF = 000012
ADDWZ = 000000 B1T08 = 000400 DRDBD  0C2430 INT25 012402 LMDO4 = 000200
ADDWS = 000000 BIT09 = 01000 DSWR = 177570 INT26 012406 LMDS7 = 000240
ADDW4 = 000000 BIT1 = 000002 DT 016666 INT27 012412 LVLCNT 002466
ADDWS = 000000 BIT10 = 002000 D12 016702 INT28 012416 LVLSAV 002474
ADDW6 = Q00000 BIT11 = 004000 D13 016722 INT29 012422 MACR = 000254
ADDW? = 000000 BIT12 = 010000 PT4 016736 INT3 012252 MiMR = 000244
ADDW8 = 000000 BIT13 = 020000 EDCHP3 012656 INT30 012426 MIRR = 000250
ADDWY = 000000 BIT14 = 040000 EMTVEC= 000030 INT31 012432 MISR = 000240
ADEVCT= 000000 BIT15 = 100000 EM1 016101 INT32 012436 NEXPFAS 003200
ADEVM = 000001 BITZ = 000004 EM10 016251 INT33 012442 NEXPA1 003204
AENV = 000000 BIT3 = 000010 EM11 016266 INT34 012446 NEXPAZ2 003250
AENVM = 000000 BIT4 = 000020 EM12 016316 INT35 012452 NXDEV 010632
AFATAL= 000000 BITS = 000040 EM13 016343 INT36 012456 NXDEV1 010636
AMADR1= 000000 6IT6 = 000100 EM14 016375 INT37 0712462 PACR = 000300
AMADR2= (100000 BIT7 = 000200 EmM? 016120 INT38 012466 PIMR = 000260
AMACR3= 900000 BIT8 = 000400 EM3 016142 INT39 012472 PIRG = 177772
AMADR4= 000000 BIT9 = 001000 EM4 016155 INT4 012256 PIRQVE= 000240
AMAMS 1= 000000 RPTVEC= 000014 EM5 016170 INT40 012476 PRO = 000000
AMAMS 2= 000000 BYCNT 002470 EM6 016203 INT41 012502 PR1 = 000040
AMAMS 3= 000000 BYNUM 002472 EM7 016216 INT42 012506 PRZ = 000100
AMAMS4= 000000 CAT200 012024 ENDBUF 017360 INT43 012512 PR3 = 000140
AMSGAD= 000000 CHPISR= 000140 FNDTRP 011636 INT44 012516 PR4 = 000200
AMSGLG= 000000 CIMR = 000040 NP200 012106 INT45 012522 PRS = 000240
AMSGTY= 000000 CIRMR = 000020 ERRVEC= 000004 INT46 012526 PR6 = 000300
AMTYP1= 000000 CIRR = 000100 FALCON 017360 INT47 012532 PR7 = 000340
AMTYP2= 000000 CISR = 000160 FRMBUF 011374 INT48 012536 PS = 177776
AMTYP3= 000000 CKSWR = 104407 GRPCNT 002462 INT49 01254/ PSW = 177176
AMTYP4= 000000 CLRBF 011334 GTSWR = 104406 INTS 012262 PVMA = 000347
APASS = 000000 CLRCSR 011014 HT = 000011 INT50 012546 PWRMSG 0157GV
APRIOR= 000000 CLRIRR 011074 IE = 001000 INT51 012552 PWRVEC= 000024
APTCSU= 000040 CR = 000015 IMRLOC 002442 INT52 012556 RDCHR = 104410
APTENV= 000001 CRLF = 000200 INTBY4 011700 INTS3 012562 ROLIN = 104411
APTS1Z= 000200 CSIMR = 000050 INTFLG 002436 INT54 012566 RDY = 100000
APTSPO= 000100 CSIRMR= 000030 INTSR] 011644 INTSS 012572 RESTRP 011432
APTVEC 011614 CSIRR = 000110 INTSR3 012124 INT56 012576 RESVEC= 000010
APT200 012066 CSISR = 000170 INTO 012236 INT57 012602 RES200 011762
ASWREG= 000000 DBUF 016754 INT] 012242 INT58 012606 R6 =X000006
ATESTN= 000000 DOISP = 177570 INT10 012306 INIZ9 012612 R7 =%000C07
AUNIT = 000000 DH1 016410 INYT1T 012312 INT6 012264 SEYVEC 01210
AUSWR = 000000 DHZ 016463 INT12 012316 INT6O 012616 SIMR = 000060
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CVDRDB.P11

SIRR = 000120
SSIMR = 000070
SSIRR = 000130
STACK = 001100
START 002476
START1 003134
STKLMT= 177774
STRVEC 011300
SWR 002140
SWRCK 0146310
SWREG 000776
SWRSAV 002460
SW0_ = 000001
SWO0 = 00000,
SWo1 = 000002
SW0Z = 000004
sW03 = 000010
SW04 = 000020
SW05 = 000040
sWo6 = 000100
07 = 000200
SWOB = 000400
W09 = 001000
swi_ = 000002
SW10 = 002000
swil = 04000
sWwi2 = 010000
SWi3 = 020000
Swih = 040000
SW15 = 100010
Sw2 = 000004
sW3 = 000010
swh = 00002C
SW5 = 000040
sW6 = 000100
SW7 = 000200
SW8 = 000400
sw9 = 001000
TBITVE= 000014
TITLED 016012
TKVEC = 000060
TLCABL 016054
. ABS. 017400

ERRURS DETFCTED:

CVDRDB , CVDRL8=CVORDB

19 7 .4 SECONDS
RUN-TIME RATIO: 76/27=2.8
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SLPADR
$LPERR
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SMATL
$MAMS 1
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SMNCW
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SOCNT
$OMODE
$CVER
$PASS
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$PWRAD
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$QUES
$RDCHR
$RDLIN
SADSZ =
SRYNAD
$SAVRO
$SCOPE
$SETUP=

NP OO

—=OOO—4=OOOCOCOOCOO000
JANPD RSP AANRI RL IRNO RO NI NPURa NI PO

Ch AR B I I U~ \ A b T DO I AN SO OO O

(ol ¥ale
PO
oo

[}

lalelelelelelelelelsliolelelslalelelinlelelelslelslalelolels le o le lele Lo Lo Lol Lol e Lo Lo
=2
2

O vk —b a () i k() e v ek ek () ) =k (DY DO

SO NG s O
w3 ON = LART O
NI O £ LN

$STUP =
$SVI.AD
$SVPC =
$SWR =
$SWREG
$SWRMK =
$TESTIN
$TIMES
$TKB
$TKS
$IN =
17PB
$TPFLG
$TPS
$TRAP
STRAP?2
STRP =
$TRPAD
$TSTM
$TSTNM
STTYIN
$TYP, S
$TYPE
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